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Answer the following questions :

N : n Choose the correct answer :
= ( 1) If the longest chord in a circle is 7 cm. , then the circumference of
the circle ig cm. (:n: = -2—72-) (3.5 or 7 or 22 or 44)
( 2 ) Twice the number X subtracted 3 from it = -«
(X-3 or 2x+3 or 2x-3 or 3-2x) |
(3)IfX={X:XEN,25 X3} ,then X = - :
(13,2} or {3} or {2} or @) i&
(4)49+7) v N _ (C or € or ¢ or &) g/{\
( 5 ) The number of symmetrical axis of rhombus is =+ Q
9‘ (0 or 1 or 2 or 4) ©
( 6 ) The area of a square whose diagonal length is 8 cm. = = cm? ?ﬁ.
(44 or 36 or 50 or 32) g{
\Q (7)If xis an odd number  then X + 2 ig ---omeee 4

(even or odd or prime or otherwise)
(8) The ordered pair(2,5)=(2x ,5) sthen xis e !
(5 or 3 or 2 or 1)
( 9 ) The multiplicative neutral element in N ig oo '
(0O or 1 or 2 or 3)
(10) On the coordinate plane: M (5 ,1) sN (5 ,6)
» then MN = .- Jength unit. (2 or 56 or 6 or 8)

(11) The opposite geometric transformation is -« l\_ /]

( rotation or translation or reflection )

O

Q.
P e

(12) The set of even numbers (E) N the set of prime number (P) = -~
(P or {0} or N or {2})

i
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(13) Ifthe side Iengm ofa square IS x and its perimeter is P , then P R
' | (4xX or X+4 or x-4 or 4-Xx)

% /(f (14) (8 x 3) X § = e (3 x 5) (3 or 5 or 8 or 35)
f '\ Complete each of the following :
"v (15) 1,4 ,8 , 13 5 ~wevvevvees 5 v (i the SaMeE pattern)
l" M (16) The sum of two numbers is 35 , one of them is X , then the other
“E is e R e A
VA (17) The base length of a triangle is 8 cm. and its height is 5 cm. , then
' .'._:’: ]ts Areg = +rrrrrersses cm:-:
‘& (18) The smallest counting number is -
i (19) 32 + (59 + i) = (32 + 68) +

(20) The area of rhombus whose diagonals are 10 cm. and 20 cm.

is SRR RS AT ey Cmii

1\
A
™
‘ Answer the following :

9 (21) By using the properties of multiplication » find the value of : 4 x 31 x 25
/-. (22) In the cartesian coordinates determine the points

“J/

A@B,5) , B(8,-2) - C(6,2) » D(5,7)
» then draw the figure ABCD and draw its image by refiection in CD

4y,
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(24) Calculate the perimeter of opposite figure :

(= %) L

@ 5 )
- .
R

L X/ S
103

. [
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(25) If a =3 and b = 4 , find the numerical value of : (b —a) (b + a)

(26) If the age of a man now is X years » find :

/
|\

4

™
‘ [a] The age of the man after 7 years -~
94

§

X

.,,

[b] The age of the man since 5 years -

(27) A paralellogram has a base of length 14 m. and a corresponding
height 9 m. Find its area.

(28) If the number X exceeds twice the number y by 7 » write down the
mathematical relation which relates Xbyy

(29) Using the properties of commutative and associative in N to find
A the result of the following :

156 + 871 + 344 + 129 (Write the used property)

------------------------------------------------------------------------------------------------------------------------

"*‘ ,( (30) The following table shows the marks of 50 pupils in mathematics
: N exam in a month :

To The sets | 10— | 20— | 30— | 40— | The total |

N "The frequency | 10 | 12 | 18 | 10 50 |

& -
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Represent the data by histogram and frequsncy polygon.
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Answer the following questions :

Choose the correct answer :

( 1) The square whose perimeter is 16 cm. » its @areg = == cm? _
(4 or 16 or 8 or 7) #'—'

_ (2) The sum of two numbers X and y is 10 ; then y = e LO(

- .. (10-x or x-10 or 10x or )

( 3 ) The number of symmetry axes of a rectangle is - m‘
7

: - (0 or 1 or 2 or 3) =
| (4)3x(2+10) = e (30 or 36 or 40 or 13) N

(5)1f7y=84,then 5 y= (6 or 12 or 21 or 42) 'j@w
(6)1,.3,9,27 ,--- (in the same pattern) D

(32 or 64 or 37 or 81) ﬁz
(7) If Ois the set of odd numbers , then O - N :

(€ or & or C or ()

@
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Complete each of the following :

( 8 ) The rectangle whose length 7 cm. and width 3 cm. » its perimeter
R _ (21 or 10 or 20 or 13)

( 9 ) The additive identity element in N is -
(0 or 1 or 2 or 3)
(10) 32 x 53 + 32 x woveveerreren =32x100 (53 or 47 or 37 or 23)
(11) The area of parallelogram = -
(b+h or b—h or bxh or 2)
(12) The area of a rhombus equals 24 cm? and the length of one
of its diagonals is 8 cm. » then the length of the other diagonal

= v+ CM, (3 or 6 or 8 or 12)
(13) The difference between three tirnes a number and two is - *

(3x+2 or 3x—-2 or 2x3Xx or :?.z_x)

(14) (7 x 3 =3 x 7) ooemeeenee N (€ or & or C or &)

(15) IFA (3 »4) » B (5 » 2) » then the coordinate of the midpoint of AB
Is (............". . ",.......-uu)
(16) The opposite geometric trans‘fonnaﬂonl o i \ T e

(17) If the perimeter of an equilateral triangle is 18 cm. and its area

is 15 cm? , then its height is -~ cm.
(18) The diameter length of a circle whose circumference is 88 cm.
= e om (7 = )
(19) An odd number x an even number = - number.
(20) The isosceles trapezium has - axis of symmeilry.
Answer the following :

(21) Solve the equations in N :
[a]2x-5=3 [b]a+7=20

.....
..............................................................................................................................
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(22) Which is greater in area ?

A square with its diagonal Iength 12 cm. or a rhombus ﬁith the
length of its diagonals are 15 cm. and 10 cm.

(23) On the coordinate plane draw A ABC whereA(2,1) s B(5,1)
,C (5 » 5) » then draw the image of A ABC by reflection in BC

it

-

(24) Using the properties of addition in N » find : 55 + 36 + 45 + 64

L L E L R E L R R Y LR L]

(25) Find the perimeter of the figure where AB = 21 m. and AD = 50 m.

df = ) (= %)

-----------------------------------------------------------------------------------------------------------------------------------
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(28) Use the distribution property to find : 37 x 46 + 37 x 54

L] 1
I. @
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(29)If X ={2,3,4 ,5} and Y is the set of factors of 6 , then find the
following :

[l XNY [bIXUY

-------------------------------------------------------------------------------------------------------------------------------------

(30) The following table shows the recorded temperatures in 40 cities
on a day :

_Temperature . 20-'22:- 24— |26 —[ 28— | Total |
_No. of cities 9 |1 | 8 | 5 | 40 |

Represent these data by a histogram.
T

xl
Y
’7 ii
Answer the following questions : ] laSge ic  Jg 515 3y 5 m’ﬁ
N Choose the correct answer : \ e Q

(1)If86 x 15=86 xa+ 86 x 10 sthen a = - |5

I”f (1 ﬂr5nr15m'10]'\ﬂ_
¢\ (2){2.3}n{1.4} = .
L.-""* (E or {1 » 2 &314} or {2 13} or {1 ,4})

{'I‘::‘ ( 3 ) The area of the rhombus of diagonal length 7 cm. and 10 cm.

&

e
j§ eeeeeureenes cm? (17 or 70 or 35 or 40) 2"
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(4) If xis an odd number sthen X + 3 ig e nurnber
(odd or even or prime or otherwise )

( 5 ) The number of axes symmetry of square is -

a2 H B -
e 9

—

f’\ . (1 or 2 or 3 or 4)
R (6)Ifx+8=15,then x = e (3 or 7 or 6 or 5)
Wy .
ol ( 7 ) The diameter length of a circle whose circumference is 88 cm.
ol equals - (n‘ = %—?—) (28 or 14 or 7 or 21)
g ) ( 8) If three times a number subtracted from 15 , then the expression
| that expresses this s -
(3x+15 or 15-3x or 3x-15 or x-15)
( 9 ) The square whose area is 36 cm? , the length of its side = - cm.

(5 or 6 or 3 or 7)
(10) The multiplicative neutral element in N — the additive neutral
element in N = - (0 or 1. or 2 or 3)
(M ifx=2andy=3,then5xy =~ (10 or 11 or 13 or 30)
(12) The midpoint between (1 5 5) and (5 5 5) is =
((5,3) or (3,5) or (5§,1) or (5,5))
(13) The opposite geometric transformation I:> <}:l B i -
| ( translation or reflection or rotation)

(14) The perimeter of rectangle is 20 cm. » and its width is X cm. ; then its
» length is - (10—=X or 20—x or x—10 or x—20)

A ol Complete each of the following :

%_ (15)1 51 52 53 35 38 5 ~oees 5 e (i the Same pattern)
% (16) 75 + 89 =89 + 75 (- property)
(17) If 945 = (X x 100) + 45 , then x = -

(18) The area of the parallelogram whose base length is 8 cm.

and height 2.5 cm. is = cm?

(19) The symmetry axis divides the figure into two - halves.
(20) If XEN 2 X=8 ,then x = e




Answer the following :
(21) Solve the equationinN:5x-2=8

T
Q
p—

@
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(22) Use the properties of addition and multiplication to find the value of :

[a] 45 x 27 — 45 x 27

[b] 28 + 36 + 72 + 64

(23) In 2-dimensional coordinate plane

locate the points A (3 5 1)

,B(5,1)»C(5:3)and D (3,3)

Name the figure ABCD
» then find its area.

e,

--------------------------------------------------------------------

(24)If)(={a:_a€-:ﬂ11sx-=5} ’ Y={4 v 9 aﬁ} » find :

[a] XNY [b] XUY

[c] X=-Y
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~ [a] Complete : |

. A ( .......... g oenmenees ) ’ B ( ......... g rrenenns ) End C ( .......... g *ereeasens )

3 ‘f(’ [b] If L is the axis of reflection of the A ABC , draw A ABC

e the image of A ABC by reflection in the straight line L

:{_-{ (26) In the opposite figure :

;E ABCD is a parallelogram in which

AB=10cm. s, DE=12cm. -.DF =8 cm.
Find : [a] The area of the parallelogram ABCD
[b] The length of BC

(27) In the opposite figure :
Calculate the perimeter of the

figure where AM = 35 cm. (:rl: = -?-)

(28) An employee spends his salary as following :

5 L.E. 200 for clothes. /O\
L.E. 800 for food. U
v : L.E. 400 for transportation and medicine.
5#’ | L.E. 200 for renting.
Graph that data on the opposite pie graph.
(29) Which is greater in area ?

Asquare whose diagonal is 10 cm. or a rhombus of area 80 cm?
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(30) Represent the following data by a frequency ploygon :

[ Sets 10— [20—[30-[ 40— [ Total |

| Frequency | 10 12 | 18 | 10 | 50 |
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Answer the following questions :

Choose the correct answer :

(1) The next number in the pattern 5 , 35 5 85 - g o
(70 or 95 or 105 or 115)

(2)IfX={x:XEN,x<3},then X = e
({1,2} or {2} or {0,1,2} or @)

( 3 ) The number of axes of symmetry of the rhombus equals -
(zero or 1 or 2 or 4)

( 4 ) The circumference of the circle its radius S cm. = e JT Cm.
(10 or 5 or 20 or 4)

(5)53 x 16 =16 x = (35 or 61 or 53 or 16)
(B)If10=2yﬂhanthavaluaufyis --------------- (5 or 6 or 8 or 14)

( 47
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( 7 ) The multiplicative neutral element in N is - | -
(O or 1 or 2 or 3) .

( 8 ) Subtracting 5 from double the number X = «--eeeeeee

A/ o~
i

(X-5 or 2xXx-5 or 5-2x or 5Xx)
N (9 ) The area of rhombus whose diagonals are 6 cm. and 8 cm. |
:‘T_"‘ B s OIS (48 or 14 or 24 or 100)
S (10) (49 + 8) e N (C or ¢ or € or &)

= (11) If X is an odd number , then X + 3 is === numMber.
' | (odd or even or prime or otherwise )
s  (12)Ifx+5=7 , XEN.thenXx=-—==- (1 or 2 or 3 or 4)

(13) The triangle whose base length is 5 cm. and the corresponding
heigth of it is 8 cm. » its area = == cm?

(13 or 20 or 26 or 40)
(14) On the coordinate plane : M (1 ,2) » N (1 ,8) > then
MN = -.............. length units. (2 or 5 or 6 or 8)

Complete each of the following :

(1 5} Area of para“glngmm e Ra do » v5 o ga o e I TR RS TS ARY S
(16) IfA » B and C are natural numbers ,then (AxB) x C=Ax (B x C)

(17) The set of even numbers ﬂ the set of odd numbers =
(18) The perimeter of the equilateral trlangle whose side length is { cm.

(19) The set of prime numbers which are less than 17 is -
(20) The square whose perimeter is 32 cm. » its area = - cm?

>

2

% Answer the following :
.

(21) Find the perimeter of the opposite figure :

10cm.
C
] -t‘i‘%t




N
A
(22) In the cartesian coordinates piane. » locate the points
5 A A2,2) » B(5,2) » C(5,6) |
é ( [a] Find the length of each of AB and BC
Lp [b] Draw the image of figure ABC by reflection in BC
Y T L] L T
k) . o I i ! SR . | 1 B! E——
&= iTi.'_[T_..IIi.
! | = —
(23) Use the properties of the opeérations to find :
[a] 872 + 199 + 128 + 801 [b] 56 x 1001
(24) Solve the equations :
[@a]2x+9=21 , XEN b] x-56=2 , XEN

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
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(25) If the number X exceeds twice the number y by 9
Write the mathematical relation between x and y

(26) Two circles the diameter of the first is 10 cm. and the diameter of

the secondis 15 cm. »find the difference between their circumferences.
(7t =3.14)

; (Y: )Y pe [0 [ (Worksheels & Examinations) -.*.al...'-\u:ﬂh:n 49 E .
olnest] )| pdlge ol lgl ol fuaws Yy ol J9,503 08400 jalsh Leall 100 i
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%
(27) A square shaped piece of Iand with diagnnal |

length 25 m. and a square shaped house with

; / - p Garden
| ( side length 15 m. has been built on it and
‘ N House

f)_p the left part used as a garden , find the .

S & area of the garden.

P B B .
)

(28) Use the properties of commutative and associative in N to find the
result of : 8 x 43 x 125

(29) Solve the equation : X x 3+ X x 60 =4 x 63

(30) The following table shows the frequency distribution of the number
of work hours of 50 workers :

Sets 4- | 6- | 8- |10— | Total
Frequency | 12 | 8 | 16 | 14 | 50

Draw the histogram which represents these data.




Answer the following questions :

Kl Choose the correct answer :
(1) (xX+2)x7=7x8sthenx=-+e (6 Or 7 or 8 or 56)
( 2) If the difference between two numbers is 5 the smaller number
Is ¥ » then the greater number is -
(Sy or 5—-y or y-5 or y+5)
( 3 ) The isosceles triangle has - line(s) of symmetry.
(1 or 2 or 3 or 4)

( 4 ) The shaded triangle is the image of the other triangle /‘ /‘
by E YT ITLL L

( perimeter or translation or reflection or rotation )
( 5 ) The length of diagonal of rhombus its area 20 cm? and the length of

the other diagonal is8 cm. = - cm. (5 or 10 or 4 or 6)
(6) %H (€ or &€ or C or &)
( 7 ) The area of a square whose diagonal length 6 cm. is ---............ em?

(18 or 36 or 12 or 24)
( 8 ) The additive neutral elementin N is ........... (0 or 1 or 2 or 3)
(9)IfF3Xx=12,then X+ 3 = e (4 or 6 or 7 or 10)

(10) The circumference of the circle = -
(2dm or 2 or 7r or 27r)

N e - g
QQ =y "
- _"‘\ "- -

(11) 5 x (100 — -+evvver) = 5 x 99 (1 or 2 or 99 or 0)
(12) If E is the set of even numbers s then E -+ N
( (€ or & or C or &)
5> (13)If (5 . 6) » then y coordinate = - (1 or 6 or 11 or 5)

(14) If X = {X: XEN,3<X<4} sthen X = ~oeveeens
(2 or {3,4} or {3} or {4})

I




. Comp!ete each nf the fo!lowfng

. (19)2,7 512,17 »- w5 e (i the Same pattern)
A7 (16) In the opposite figure : P S
&( The length of AB = wwwwwveeeee lengthunits,. ° ' 2 % 4 & 67
i-’ (17) If the longest chord in a circle is 7 cm. » then the circumferene of the
~ 8 circle is e cm. (whﬁra = %)
;= (18) Adding to the double of X is written as -

= (19) The area of triangle = - x -

/ (20) N — {0} = wovvemmms

Answer the following : N
-(21) ABC is a right-angled triangle at A » ”
AB = 6 cm. > AC = 8 cm. and BC = 10 cm. & 2
Find : [a] The area of AABC v b
[b] The length of AD 10cm.——
(22) Use the properties of addition to find : 71 + 82 + 29 + 18
(23) In the cartesian coordinate plane , from the following figure :
Wt R I A iy
' Ty Gl Siddl 1 e aniaihls R |
.‘--{" r & ’.ﬁ". . . - .E .
@ | 8
“I' o =
3
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[a] Complete : |
C ( g sriressesseaees ) 9 U ( . )

[b] If L is the axis of reflection of the figure ABCD , find the image of
the figure by reflection in the straight line L , then complete :

c ( s I ﬁ( ............... ] )

(24) In the opposite figure :
The perimeter of the square a(:\ G
M

ABCD = 56 cm. , find the perimeter

of the whole figure.

>0
o

(25) Use the distribution property to find the value of : 18 x 99
(26) Solve the equation : 2 X + 3 = 23 where XEN
(27) Calculate using commutative and associative properties : 2 x 347 x 5

(28) Find the height of the parallelogram with area 48 cm? and its base
is 8 cm. long.

(29) If x=3 ,y=2and z= 5, find the following :
[a] Xxy+yxz [b] (x-y)xz

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
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% (30) The opposite bar graph shows

3 the number of pupils in each
- é ’( sport group in a school :

} '\ [a] What is the most popular
b game ?

| S-Sl F0 R ot L o |
o [b] What is the least popular

| game ?
‘Q [c] What is the total number
of pupils ?

Answer the following questions :

1\°

™

® [ osel o
9

‘ Kl Choose the correct answer :

(1) If the age of a man is X now , then his age after 7 years is -
(x+7 or X-7 or 7TX or 7—Xx)

( 2 ) The square whose area is 8 cm? , the length of its diagonal

o G, (32 or 4 or 8 or 16)

(3 ) The rhombus has line(s) of symmetry.

L

M"I-.

(zero or 1 or 2 or 4)

( 4 ) The circumference of a circle with diameter length 14 cm.
Esreniineiy S5 G (7 or 14 or 28 or 16)

(S)If3Xx=15,XEN ythen X+ 1 = oo (3 or 4 or 5 or 6)
( 6 ) The least prime number x any prime number = -« npumber.
(odd or even or prime or otherwise)

( 7)) If we multiply the number x by 7 , then we subtract from the result 3
» we shall get e

(7x+3 or 3x+7. or 7TX-3 or 3-7X)
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(8) The length of the base of a triangle whose area is 240 cm? and its
height = 10 cm. is ~~—-cm. (12 or 24 or 48 or 2400)

QU o~
—

(9)fX={x:XEN:3<x=<5},then X = e
P ({4.5} or {4} or {3,4} or {5})
a{“‘ (10) The midpoint between (1 > 2) and (7 » 2) is -
= ((3,2) or (4,2) or (2,3) or (2,4))
Vi (11) -+ triangle has three sides are equal in length.

! .
I (Obtuse or Scalene or Equilateral or Isosceles )

‘& (12) 37 x 100 — 37 x =vooveee- =37 x 15 (115 or 75 or 85 or 63)

!:;' (13)Ifx=2andy=3 sthen S5 Xy = -ooeeee: (10 or 11 or 13 or 30)
»

(14) 213 + 57 =57 + 213 is called -~ property. ( commutative or
9‘ Complete each of the following :

closure or associative or additive identity element)
A (15) The opposite transformation is -~ /] I\

L’x (16)8 511 ,14 5 oo (in the same pattern)
‘Q (17) {2 ,3} N {1 ‘4} =

(18) The area of the parallelogram = o x -ermseeeens
'--::-* | (19)45 x (37 + 63) = 45 x = e

(20) If we add 9 to four times of number z , then we get -«

T

= "

(21) The opposite figure shows a football playground » find the distance
around the figure (whera = 3?3-)

24 m.

||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||
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(22) In a coordinate plane > draw the figure ABCD in which A (2 5 3) »
B(2,5),C (5,5)and D (5 »2) » then draw its image by reflection
across CD

SN SURE—— B ——— P—r————. B — =] PRl ) AL

(23) Use the properties of addition operation in N to find the resuit of :
72 + 89 + 28 + 11

(24) Solve the following equation in N:3 x—2= 3
(25) Find the area of a rhombus with diagonal length 6 cm. and 9 cm.
(26) Use the distributive property to find : 26 x 999

(27) Noticing the opposite pie graph »
a school has 1000 students :

[a] What is the number of students Sec -
in the primary stage 7 \Py

[b] What is the number of students in the KG stage ?

-----------------------------------------------------------------------------------------------------------------------------------

J'



(29) In the opposite figure :

& 'L:"...l L .. ’-

L' ABC is an isosceles triangle. K

S ¢ Find the perimeter of the triangle.

B e e sre e es s aeens s C Tcm, B

VS (30) The following table represents the marks of students in math exam :
i [ Sets 10 - 20 - 30 - 40 - |

| Frequency 7 i 12 10 9 |
Draw the fraquancy polygon of these data.

6
!

Ry <
)
f
L"ﬁ
Answer the following questions : ot
\ n Choose the correct answer : 3
( 1) The number of axes of symmetry of rhombus equals - @
(zero or 1 or 2 or 4) .ﬁ\ﬂ_
(2)If7x21=21xX,thenX= e (7 or 3 or 21 or 147) '\
( 3 ) Sama saved L.E. y and her father gave her L.E. 12 , then she has :k
LB, sdsisssvaciiass (y—12 or 12y or _z_ or y+ 12) ‘

(A:p)Y e [ o | (Worksheels & Examinations) oA, ., pabsd| I i
d foie Gpl@i}aulaﬂgu.u@u.\ﬁ'g eIl [ VN K @}u sl Jaall m a5
simlacl) s | [ D2 BEED |‘..‘-|.ﬂm‘,umi.....n | L
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/.. ( 4 ) The araa of squara whusa perimeter is 24 cm. equals wres G2 l‘q

| | (24 or 36 or 16 or 20) @
] 7 (5)0.15 oo N . (€ or $ or C or ¢) ﬁ w
!‘} (6)Ifx+1=3,then 2 = e (2 or 3 or 4 or 8) ’2
o (7)1:4 59,516 5 eeeeeenees (in the same pattern) Q
S (32 or 24 or 27 or 25) i'
&= o\
: (8) If the sum of two numbers Aand B is 35 » then B = - ‘

“ (A-35 or 35A or 35—A or A+35) Q

(9)Ify=5x+9 ,then the constantis - (5 or 6 or 9 or 8) Qm;j

;

(10) The shaded triangle is the image of the other triangle by & =«

/‘ /] (reflection or rotation or translation )

(11) The multiplicative neutral element in N x the additive neutral element

iINN = e (0 or 1 or 2 or 3)
(12) If the base length of a triangle is 8 cm. and its height is 5 cm.

, then its surface area = <+ cm? (30 or 13 or 40 or 20)
(13) The area of a rhombus whose diagonals 10 cm. and 20 cm.

- JERE oY (200 or 30 or 100 or 400)
(14) If X (75+ 10) =9 x 85 ,then x = (5 or 8 or 9 or 8)

- P Complete each of the following :

The circumference of the circle _
The length of the diameter

(16) The natural number between 2 2 and 1 — is -

(17) The set of even numbers (E) U the set of odd numbers (Q) = «-weeeeee

(15)

(18) The length of the diagonal of a square with area 72 cm? = -~ cm.
(19) 53 x 164 + 47 x wvvevevne = 164 x 100

(20) The perimeter of equilateral triangle whose side lengthis X cm.




Answer the following :

(21) In the opposite figure s complete : 1
[a] A AEF is the image of A BEF by . i
reflection in «--eeer
[b] A ABF is the image of A CBF by
reflection in C D B
[c] A EBF is the image of A « by reflection in BF

(22)If x=2,y=1and z=7 ,find the value of : |
[alz+Xx—y b] <5+

(23) Three times of a natural number X is 8 more than the multiplicative
neutral > express this information in an equation and solve it for x

Eraassae RSl @Al SsaaE s Bl lRER s Ra s A RERdREER T i dia e A EEEEEEEFEEESFEIREREEEF SRS EEEREEREdEREEREAnnann FESFESEAREEEERAEEERERERREn Ly S S me

(24) Use the commutative and the associative properties to find the
result of :

[a]l 4 x 175 x 25 [b] 102 + 175 + 98

(25) In the opposite figure : B A

" ABCD is parallelogram in which AB = 10 cm. »
;f“ DE = 12 cm. and DF = 8 cm. Find : 4
[a] The area of the parallelogram ABCD
[b] The length of BC




fWww!zakrooly’com)

;hkthalExuminaﬂons-[ | | | ¢4

(27) Calculate the perimeter | -
of the opposite figure ' |

where AB=14cm.  (m=%2) A M B

T e
L -
J—

(28) IfX={x:xEN,1sx<5},Y={4,5,6}
Find:[a]XNY [bIXUY [c1X-Y

g )
- .
- S

}
{J !
S
&

(29) Solve the equation : X + 3 = 12 where X €N

(30) Represent the following data by a frequency polygon :

Sets 4— | 6— | 8- [ 10— | Total |
Frequency 4 6 5 10 | 25 |

A T e - 83 Lt O T
1+--E-.- :'\.: -\.i - i--. : !: ,l,:
.'...*‘_.*_l'. Vi) PO 731

'. 8 .-I.-- rJ-.. : o Ed i = ;

14 f

SRR " . g PR

Y L J L] 1R

Il x 1 4 |
n -..' o= I-ge " . " =
it Feitfias it g |
57 R 5 R
7 A
i NPt N e e
i1 { i e eiald bk rdl 1l I
T T Wi srfafEst ] T FI R [
k & [ R oy h L] e . -
e R
rh,m:.-’ .:'h;_ o | T ;
i THET LS T :

gy P A it 6 S £
L PR T Tl (e R
L. kLY e e
T T g
T ek | | 1 et
M i l ' e ] |

Rl ! ]
...}._-.! I Ll = e

| Model [8]

Answer the following questions :

Choose the correct answer :

( 1) The area of the largest rectangle whose perimeter
IS 24 cm. = s cm? (15 or 36 or 72 or 144 )

(2)Ify+10=50 ,theny = - (50 or 100 or 5 or 500) P‘

( 3 ) The square whose diagonal length =8 cm. sitsarea = oo cm? A
(64 or 32 or 16 or 8) |

<

4

| o g W) (puoliadl el | "
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% | (4) 3= 9'5 = ccseeenseenes - (zero or 3 or 4 or meaningless)

;.j: 7 (5)|fx {x XEN,XS2} sthen X = oo :
‘\( ({051} or {1} or {0,1,2} or D)
;-‘p (6)Ify=3x+5 ,then the constant is - (y or X or 3 or 5)
e (7) Ifthe side lengths of a triangle are equal in length » then the triangle

; is - - triangle. ( scalene or isosceles or equilateral)

( 8 ) Subtract 4 from the number a the symbolic expression ig
(2a—-4 or a+4 or a—4 or 2a+4)
(9)HX+7=9,XEN then X = i (16 or 2 or 11 or 13)
(10) ifthe ordered pair (5 »2) = (5, y) stheny = -
(2 or 3 or 4 or 5)
(1) IfFA(2,3)» B(257):tl'ienthamidpointofAB|5 ---------------
((10 ,4) or (2.,5) or (2,10) or (0,9))
(12) A circumference of a circle is 22 cm. , then its diameter length

- cm. (Where 7t =28) (35 or 7 or 8 or 11)
(13) (5= ) = N (€E or & or C or &)
(14) The shown transformation is called - bld

( reflection or rotation or translation)

Complete each of the following :
(15) A triangle whose area = 120 cm? , and its height = 10 cm.
» then its base length = - cm.

(16) The multiplicative neutral element in N is -~
(17) 47 x(36 + 64) = 47 x ovoveeveees
(18) If5+0=0+5=5,thenitis called - property.

(19) The set of even numbers — the set of odd numbers = ---eeeeees
(20) The number of axes of symmetry of the rhombus is -+

|

. Answer the following :

(21) Which is greater in area ?
A parallelogram of base 10 cm. and corresponding height 6 cm. or
a rhombus of diagonals lengths 12 cm. and 16 cm.
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(22) Solve the followmg equatmn 5x—7= 33 s X EH

(23) The length of the diameter of the wheel of a bicycle is 56 cm.
Calculate the covered distance if the wheel tums one turn and what
is the number of turns to cover distance of 352 metres 7
(Whera =22

S
(24) In the opposite figure : |

ABCD is a rectangle of area 828 cm?
E EBC ,AD =23 cm. and BE = 35 cm.

Find the area of A DCE

(25) An employee spends his salary as follows :
& of it to clothes »1-of it to food

s of it to medicine and Zof it to renting.

If his salary was L.E. 1 600
s then find the spending of food.

(26) In the cartesian coordinates plane , from the fnllowlng figure :
[a] Complete
A (- ST I - G y ) @nd C (oo - )
[b]IfLis the axis of reflection of the AABC , draw A ABC
the image of A ABC by reflection in the straight line L

fL
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in N , find the value of each of the following :
[a] 137 x 36 — 37 x 36

[c] 8 x 81 x 125

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

(27) Using the properties of commutation » distribution and association

[b] 28 + 59 + 72 + 41

(29) Use the distribution property to find the value of : 519 x 99

(30) The following table shows the marks of 40 pupils in English exam :

, Sets lw— 20 -
Frequency | 6 k

m- +

40 —

14

12

40

_Total ]

[a] Find the value of k
[b] Represent these data by the frequency polygon.

= i |.-IL-'-
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%(, Answer the following questions.:
2

¢ \ El Choose the correct answer : o
( 1) If we multiply the number X by 7 , then we subtract from the result 4 '&

:;* » we shall get oo A
;.. (7X—4 or 4x+7 or 7X-3 or 3-7X) ¢

(2 ) There are - axes of symmetry of an equilateral triangle.
(0 or 1 or 2 or 3)

( 3 ) Area of the opposite triangle "
R~ |1 § R

04dm.

(12 or 24 or 43 or 6)

(4 ) If X is an odd number , then X + 2 |g -

| (even or odd or prime or otherwise)
(5) 15,67} e N (€ or & or C or &)
(6)If3x=15,xXxEN sthenx—-1= e (& Or 4 or 3 or 2)

(7 ) The area of square whose diagonal length is 8 cm. s - cm?
(10 or 16 or 32 or 64)

(3)IfX={x:xEH15£x¢?},than)(;.-,.i..-.
({s} or {6} or {5,6} or {5 6:7})
(9 ) If the sum of two numbers X and y is 20 ,then y = o
(X-20 or 20—-Xx or x+20 or i) 'm‘-

20
(10) If the lengest chord in a circle is 7 cm. » then the circumference of

the circle is -« cm. (where K= 2?? ) | 1A

(3.7 or 7 or 22 or 44) A

(11) A parallelogram in which the lengths of two adjacent sides are 5 cm. Y u]
and 7 cm. » then length of the smaller height = 4 cm. , then its

aArea = - cm? (20 or 10 or 28 or 14)

(12) If A (3 » 1) s B (3 » 9) » then the midpoint of AB ig
((6,10) or (3,10) or (3,5) or (0,10))
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— Bl complete each of the following :

Answer the following :

(13) The perimeter of the equilateral triangle whose side length L cﬁn.

R cm. (L+3 or ¥ L or L-30r 3L)
(14) The set of odd numbers - the set of natural numbers.

(€ or &€ or C or )

(15) IfAx 60 +Ax4 =3 x64 ,then A= «-weeee-

(16) 2 , 7 512 5 17 5 ovvvieeens y e sRsaiankasers (in the same pattern)

(17) The additive neutral element in N ig -

(18) The perimeter of square whose side length is 10 cm. = - cm.
(19) Area of the triangle = —"2— the length of its base x «...c.........

(20) For any natural numbers X , y and z where (X x y) x z = X x (y x 2)
is called -+ property.

(21) In 2 2-dimensional coordinate plane : Draw the triangle ABC where
A(2,1),B(5,1)andC (5,5) , then draw the image of the
triangle ABC by reflection across BC

N

N

”~

: :
l

= i

(4: m ¥ loe | (Worksheets & Examinations) -t 1. wabssll
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(22) Five even natural numbers » the greatest number is X + 13 , write
down these numbers.

(23) The area of a rectangle equals the area of a square whose diagonal ’Q

length is 12 cm. » find the perimeter of the rectangle if its width
equals 8 cm.

--------------------------------------------------------------------------------------------------------------------------------------

(24) Solve each of the following equations in N :

[a] + x-3=2 [b]3x+7=19
(25) Find the area of rhombus whose diagonals lengths 20 cm. and 10 cm.
(26) Calculate using commutative , associative and distributive properties :

[a] 642 + 171 + 358 + 290 [b] 25 x 304

(27) if the number x exceeds twice the number y by 7 , write down the
mathematical relation which relates x by y

(28) In the opposite figure » there is a window which /\
has the form of square whose side length is 70 cm. M

and above it there is a semicircle. Calculate the
perimeter of the window. (whera T = —2?3)

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

(29) Use distributive property to find the result of : 18 x 99

(30) The following table shows the marks of 40 pupils in an exam :

| Sets 10— | 20— | 30— | 40~ | 50— | Total

h_

| Frequency 5 7 12 A 7 40
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[a] Find the value of A

[b] Draw the histogram and the frequency polygon which represent
these data.
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Answer the following questions :

Kl Choose the correct answer :

( 1) The diameter length of the circle whose circumference is 88 cm. Q
equals - cm. (28 or 14 or 21 or 7) é

(2)Ifx+8=15,xEN sthenx == (3 or 7 or 6 or 5)

( 3 ) Add 5 to double number a is written as -
(5a+2 or 5+a or 2a+5 or 2a-5)

Q) ( 4 ) The area of the rhombus whose side length is 8 cm. and its height
is 4 cm. equals - cm? (12 or 16 or 32 or 64)

(5)75 x99 =75 x (100 — «reveeeee) (100 or 75 or 1 or IJ)
( 6 ) The smallest natural number ig - (—?— or 0 or 1 or —-

v
a( ( 7 ) The opposite geometric transformation is -~ I\. l\

2

é

*’: i ( reflection or rotation or translation )
S

&

¥

F o
ek

| P
e o

o~
F - =
_— i

~ G

Ky
‘e

9
( 8 ) The square has - lines of symmetry. é
(1 or 2 or 4 or infinite)

FE‘r_E'
gpl@i}aul.:ﬂgu.u@m 5’3 ,«da.d! ulﬁ,su @}u ok J.uJi h.\b

\




} l"-\.‘ . 11.1 .- . rl-\.

2" l Final Examinations (—

(9)|f7y=34,than.;_+y=_. ............. .t (6 or .12 or 21- i 42)

r: (10) If N is the set of natural numbers ,aEN,bEN .
l‘( sthena + b v N (€ or & or C or )
P (11) The ordered pair (2 , 7) = (X 5 7) s then X = e
; (56 or 4 or 7 or 2)
A= (12) The triangle whose base length is 5 cm. and the corresponding
height of it is 8 cm. , its area = - cm?

(13 or 20 or 26 or 40)

(13) If the difference between two numbers a and b is 35  a is the
greater number » then b = «oveveninn z

(35-a or 35+a or a-35 or ;)
(14) If X = {x: XEN>2 < x< 3} >then X = -
({2,3} or {2} or {3} or 2)

Complete each of the following :

(15) The square whose perimeter is 36 cm. » then its area = - cm?
(16) The next number in the pattemn : 1 54 , 7 5 10 5 =oeeee
(17) 425 + 575 = 575 + ---vvvvieee (s property)
(18) On the coordinate plane : M (5 , 1) s N (5, 6) » then
MN = ceoommernnsnaes length units.
(19) If x is an even number , then (X — 1) is an - number.

(20) If 87 x 15 =87 x X + 87 x 10 , then X = --weweeees

Answer the following :

(21) Use the properties of the operations to find :
[a] 872 + 199 + 128 + 801 [b] 56 x 1 001




(22) If the age of a man now is X years » find :
[a] The age of the man after 5 years -
[b] The age of the man since 7 years

(23) Find the area of the shaded part
where the outer shape Iis a rectangle
and the inner shape is a square.

(24) Solve the equations :
[a]2x-3=11 » XEN

(25) In a coordinate plane » locate the points A(5,0) B (9> 0)
,C (9 »4)and D (5 s 4) » name the shape ABCD , then draw the

image of ABCD by reflection across AD

(26) By using the properties of multiplication find the value of :
[a] 4 x 31 x 25
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(27) If the height of a parallelogram is 8 cm. and the length of mrresponding'
base is 10 cm. , calculate the area of the parallelogram.

A

‘_\(\' (28) fa=5,b=2andc=3,find the value of :
L' [ala+c-Db

=

(29) Find the eighth term in the sequence : 1 ;3 36 5 10 5 e

(30) The following table shows the marks of 50 pupils in exam of Arabic
in one mnnth

' 1 40 — | Total
Frequin 12 10 50 |

Draw a histogram which represants these data.

7 |
( Answer the following questions :

* Bl Choose the correct answer :
' -.'_l (1) 5 is subtracted from twice the number X = -
(5—-x or 2x-5 or 5x+2 or 5-2Xx)
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Complete each of the following :

1 -

( 2 ) The diameter length of a circle whose circumference is 88 cm. 2
= e cm. (28 or 14 or 7 or 21) ©

( 3 ) Youssef saved L.E. x and his father gave him L.E. 15 , then he has 3
L simyea (x+15 or 15—-x or x-15 or x) ﬁ‘

( 4) If the area of a square is 200 cm? , then the length of its diagonal is

9

(16 or 18 or 15 or 20) &

—
(2 or 5 or 14 or 22) &

(6) If N is the set of natural numbers,aEN,bEN

sthena x b «oveeer § (€ or &€ or C or &) qlﬂ)‘

(7) ‘—% pevviaszsiciss I (€ or & or C or &) *
( 8 ) The number of symmetry axes of an equilateral triangle = -

(3 or 2 or 1 or 0)

(9)If6x12=12 x X sthen X = v (4 or 6 or 7 or 8) )

(10) If the side length of a square is L , then its perimeter = -« |

(L+4 or L—4 or 2L or 4L)

(11) {1 52 5 3F oo O (€ or & or C or @)

(12) If3Xx+7 =19 , XEN sthen X = e (2 or 3 or 4 or 5)

(13) The area of a triangle whose base length 5 cm. and corresponding
height 6 cm. i - c? (30 or 15 or 25 or 36)

(5)Ifx=3,y=5,then4 X —2y =~

(14) The opposite geometric trans formation j EI [§ weevimeaennnns

( translation or rotation or reflection )

(15) N = {0} = e
(16) The radius length of the circle = z:m
(1 7) 32 + (59 + ) - (32 + EB) B S

(18) A rhombus its area is 50 cm? and the length of one of its diagonals
25 cm. , then the length of the other diagonal = -+ cm.




(19) Ifb=3 ;then 2 b =5 = -oreeiive .
(20) If 654 = (X x 100) + 54 ,then x = - |

@
é ~( E) Answer the following : C
L' (21) Draw the image
s of A ABC by reflection
& in the straight line L
) 1
N A

(22) If the number x exceeds twice the number y by 9 , write the
mathematical relation between X and y

(23) A parallelogram of area 36 cm? and the length of its base is 4 cm.
Find the corresponding height of its bare.

(24) Solve the equations in N :
[al x—-3=21 [c]3y=27

(25) On a coordinate plane, draw the figure ABCD where A(1,1),B(4,1)
+C(4,3),D(1,3),then complete :

:

e .

|

—— . e ]

A e R T . 3 e 1

[a] The Iength Of AB = werveveees units.
[b] The name of the figure ABCD is
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(26) In the npposlte ﬂgur& b s | | - | /’\

There is a window which has the funn of
a square, whose side length is 70 cm.
, and above it, there is a semicircle.

[a] Calculate the perimeter of the window. p——
[b] If the area of the semicircle is 3850 cm? , find the area of the window.

--------------------------------------------------------------------------------------------------------------------------------------

hﬂ—l L ..
i

Do
@ )

. 1

- (27) Use the properties of addition to find the result of the following :
- 82 +75+ 18

(28) Write in the list method the set: X = {x: xEN ,3 s x <8}
» then represent its elements on the number line.

(29) Use the distribution property to find the resuit of :
163 x 45 - 63 x 45

(30) The following tablé shows the marks of 50 pupils in math testin one
month :

Sets 10— [ 20- | 30— | 40— | Sum
Frequency | 10 12 18 10 50 |

Represent these data by frequancy polygon.
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| Modet _[i2)

% Answer the following questions :

d ( . Choose the correct answer :
- # (1) The diameter of circle = - (r or 2r or 3r or 4r)
:’" (2)Ifx+8=18 ,then X — 1= e (11 or 10 or 9 or 8)
& ( 3 ) If the diagonals lengths of a rhombus are 10 cm. and 12 cm. » then
its area = e cm? (120 or 60 or 24 or 32)
(4) {3,127} N (€E or & or C or )
(5) If we subtract 5 from a , we get -~
‘IQQ (5a or S—iur a—5 or a+5)
A (6)IFA(2,4),B (2 ,6) » then the midpoint of AB is -+
™ ((10,4) or (2,5) or (2,10) or (0,9))
‘ (7 ) The square has ' axes of symmetry. (0 or 2 or 3 or 4)
g ( 8 ) The area of a triangle whose base length 5 cm. and the corresponding

height 6 cm. ig e cm? (3 or 11 or 15 or 60)
(9) If the sum of two numbers X and y is 25, then y = «-eeeeee.
(x-25 or 25-x or x+25 or )

(10) If O is the set of odd numbers; then O - N

(€ or & or C or )

(11) A square whose diagonal length is 12 cm. , its area = - - cm?

(144 or 84 or 72 or 60)

@

> |
~ (12) The geometric transformation W s
a,

( translation or rotation or reflection )

S 2 (13)Ifthe circumference of a circle is 314 cm. , then its radius length
X = e cm. where 7t = 3.14 (100 or 75 or 50 or 25)

(14) If 7 x 95 = X x (75 + 20) s then X = e
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B} Complete each of the follov wing :

% 7 (15) If the age of a man now is X years, then his age after 5 years =
é \( (16) If the long base of parallelogram is 8 cm. , short base 5 cm. and its
L' short height is 4 cm. , then its area = - cm?
.1',," (17)1 52 53 55 38 5 e 5 - (in the same pattern)
= (18) The property used in:a x (b xc) = (axb) x cig e
; (19) The additive neutral element in B is -
‘& (20) The set {a: a EN sa <4} in the listing method = -
» Answer the following :
A (21) Use the commutalive and the associative properties to simplify
» finding the resuit of :
' [a] 98 + 175 + 102 [b] 5 x 312 x 20
/ (22) In the orthogonal cartesian coordinates , locate the points A(8,2)
N »B(3,2)-C(3,6),D(8,6),then complete :

[a] The length of AB = - units, the length of BC = - units.

[b] The figure ABCD is ==
[c] The perimeter of the figure ABCD = - units.
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(23) Solve in N the equations : [a] 3 X + B 29 [b] xX+8=10 II

(24) In the opposite figure : D

ABCD is a square , its perimeter is /I 1
60 cm. , E €BC and BE = 35 cm.

T e
L -
J—

[®
S Find the area of the figure ABED " a6t

--------------------------------------------------------------------------------------------------------------------------------------

(25) Shady saved 14 pounds s he bought 3 notebocks of X pounds
for each. The remainder with him was 8 pounds , express these
situation by an equatinn

(26) Use the distribution property in N to find :
[2] 111 x 98 [b] 315 x 101

(27) An employes spends his monthy salary
as follows : 1000 pounds for food; 500 pounds /<—\
for clothes, 250 pounds for the rent of the
flat and 250 pounds for other spending. U .
Represent there data on the shown

circular sectors.

(28) On the coordinate plane, draw A ABC where A(3 ,5) B (6,5) _
» C (3 »2) , then draw the image of A ABC by reflection across AC
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(29)_Calculaté_fhe perimeter of the opposite

5 - figure where AB is the diameter of the

‘ ~£ circle and AB = 14 cm. (COI"ISidBr = %

e

D (30) The following table shows the daily wages of workers in a company :
=

[ Sets [20- [30- [40- | 50— | 60— | Total
[Frequency| 8 | 10 | 16 | 12 | 4 | 50

Draw the histogram and frequency polygon which represent

il

these data. _ _
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Answer the following questions :

El Choose the correct answer :

" ;f( (1) If the area of a rhombus equals 24 cm? and the length of one of its JAW
é A\ diagonals is 8 cm. , then the length of the other diagonal = -+ CM. "P\
L,;l. (3 or 6 or 8 or 12) ‘
,,'g (2 ) The next term in the pattern : 5 , 25 , 45 5 oo I§ woeeeeeeeee ‘
[

(15 or 35 or 50 or 65) S
(77 $
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( 3) The number of axes of symmetry of scalene triangle is -
( 4 ) The multiplicative identity element in N is -

(5)fX={x: XEN,0<Xx<1} sthen X = e
(@ or {0,1} or {0} or {1})
(6)If2a+7=15,aEN,thena=- (22 or 11 or 8 or 4)
(7)If Xis an odd number ,then X + 2 is -+« numMber,
(odd or even or prime)

(8) (4 5 cooroiorsees ) x 78 = 7800 (5 or 25 or 50 or 125)
(9) === a =+ where a , ¢ are two natural numbers.

(> or < or = or s)
(10) Adding 8 to double X , the symbolic expression is -~
(2x+8 or 8-2X or x+8 or 8+3X)
(11) The circumference of a circle whose diameter is 14 cm.

equals e cm. (:n: = g_?g) (100 or 88 or 44 or 22)
(12) The least prime number x any prime number = - number.

(odd or even or prime or otherwise)

(13) If the ordered pair (3 »4)= (3 >y) stheny =
(2 or 3 or 4 or 5)

(14)_?_ ............... B (€ or & or C or )

Complete each of the following :

(15) 91 x (73 + 27) = 91 x weoreesveess = sosunssssnen

(16) Area of square = % <ot niores T GARESEA NS .

(17) Circumference of the circle + diameter length = «--ooeeeee

(18) The perimeter of an equilateral triangle whose side length
|S L CITI. = erresnvensnnas cm.

(19) The length of the base of the triangle is 8 cm. and its height is 5 cm.
»then its area = - cm?

(20) The square whose diagonal length is 8 cm. , its area = -+
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. Answer the following :

(21) Which is greater in area ? a rhombus in which the lengths of |t5
diagonals are 8 cm. and 6 cm. or the parallelogram in which the
length of its base is 10 cm. and the corresponding height is 5 cm.
, then calculate the difference between them.

--------------------------------------------------------------------------------------------------------------------------------------
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(22) Solve the following equations in N :
[a] x+3 =12 [b]2Xx-7=5

(23) On the coordinate plane draw A ABC where A(2,1) B (5, 1)
, C (5 » 5) » then draw the image of A ABC by reflection in BC

!ﬂ! FL—

f
g — e —— f— il
|
|
i = W}_—ﬂ - _
P J — i —-l-----ql.-_--—- s - ---hd-*_

[Aa1 XNY [b] XUY [c] X-Y

--------------------------------------------------------------------------------------------------------------------------------

(25) Calculate using commutative , associative and distributive properties :

[a] 25 x 304 [b] 642 + 171 + 358 + 29
............................................................................................................................ B
(26) In the opposite figure : /
ABC is a triangle ; CE L AB Fes
,ifAB=6cm. ,BC=5cm. and CE =4 cm. /
Find the area of A ABC
B S5cm. C

)'
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N . Choose the correct answer :

(27) If the diameter length of a bicycle’s 'wheal ls 66 cm. s what is the
covered distance if the wheel tumns 1000 rounds ? (Where 1t = 3.14)

Al E S AE s S dEESFEsEEEEFRsEEREdEEEdEEE aas

(29) Find the number which if added to 3 , the sum will be 9

(28) Calculate the perimeter
of the following figure (where n= 22 )

14cm,

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

(30) The following table shows the frequency distribution of the number
of work hours of 50 workers :

Sets [2-[4-[6 P- 10 — [ Total |
Frequency | 8 | 9 | 15 2 | 50

Graph these data using the frequency polygon :
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Answer the following questions :

( 1) The set of even numbers (E) N the set of prime numbers (P) = e
(P or {0} or N or {2})




Q Final Examinations J

- 2 ) The difference between two numbers is 5 , the smalleroneis y »
then the greater number i =

( (S5y or 5—y or y—-5 or y+53)
'\ ( 3 ) The number of axes of symmetry of the rhombus = e

|
u:"-f (1 or 2 or 3 or 4)
8 | (4)Ify+5=20theny = (4 or 15 or 25 or 100)
&z ( 5) If we multiply the number a by 9 » then we subtract 4 from the result
il ,we get - (9a+4 or 4a+9 or 9a-4 or a-36)
(6) {2, 5 e N (€ or & or C or ¢)
( 7 ) The circumference of a cirda whose diameter is 21 cm.
equals oo (:r: (22 or 44 or 66 or 88)

( 8 ) The shaded triangle is an image of other triangle by

( reflection or translation or rotation )
( 9 ) A rhombus in which the lengths of its diagonals are 10 cm. and

12 cm. »its area = «—-—-cm? (120 or 60 or 24 or 32)
(10) The square whose perimeter is 16 cm. ,its area = v cm?
(4 or 7 or 8 or 16)
(11) 5 x (2 + 10) = covveemreee (50 or 60 or 75 or 100)
(12) 1 54 57 510 5 oo (in the same pattern)

(15 or 20 or 13 or 17)

(13) The triangle whnsa base length is 5 cm. and the corresponding
height of it is 8 cm. , its area = - cm?
(40 or 26 or 20 or 13)

(14) The ordered pair (3 »4) = (X »4) > then X = e

?

(2 or 3 or 4 or 7)
©

. Complete each of the following : U]

(15) 15 x 5+ 15 x 7 = 15 (e # renenenenna:) "

(16) If 7 + 0 = 0 + 7 = 7 , then the used property is called - &

(17) The symmetry axis divides the figure into two - halves. ?
(18) The multiplicative neutral element in N is -

/N2 Ta _Jr._,.HWntkuheatl&Examinullon:}uL.-h nlnll f_—i




(20) X ={x:XEN X <3} ,then X = e

L p E) Answer the following :
(21) Use the properties to find :

[a] 73 x 1001 [b] 872 + 199 + 128 + 801

(22) In the coordinate plane draw the triangle ABC where A (2 » 4) »
B(4,2),C(4,7)then draw the image of the triangle ABC by
reflection across BC

I 7

e

(23) Solve the equations in N :
[a]2 X+ 9 =21

(24) Find the area of the
opposite parallelogram :
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(25) Use the properties of operations in N to find :
[a] 25 x 37 x 4 [b] 5 x (20 + 15)

(26) Calculate the perimeter of
the opposite figure where m
AM =7 cm. (‘II: = ?) v

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

(27) If the number X exceeds twice the number y by 7 , write down the
mathematical relation which relates X by y

(28) By using the distribution property find : 37 x 46 + 37 x 54

R - o e ey e e T e R L R R R R TN TR TN Rl LR LT R LA L EE R T R L bbb

(29) If the age of a man now is 2 X years where X EN Find :

[a] The age of the man after 6 years -
[b] The age of the man since 3 years -
(30) The following table the recorded temperature in 40 cities on day :

Temperature | 20— [22— [ 24|26~ |28 |
No.ofcitles | 7 | 10 | 12 | 6 | 5

—

[a] Draw each of histogram and frequency polygon.
[b] What is the number of cities their temperatures are less than 24 ?
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% Answer the following questions :

¢ \ Kl Choose the correct answer :

b (1) If x is an even number , then X + 2 s - number.
S (even or odd or prime or otherwise)
= ( 2 ) The radius length of a circle whose circumference is
S8 O}, = =esvmsssaonn cm( —%) (28 or 21 or 14 or 7)

( 3 ) The isosceles trapezium has - line(s) of summetry.
(4 or 3 or 2 or 1)

(4 ) If the area of a square is 50 cm? , then the length of its diagonal
=L ) (7 or 8 or 9 or 10)

(5)ifa=3,b=5,then4a—2b=-w (2 or 5 or 14 or 22)

(6)IfX+3=8,XEN sthen 2 x = - wwn
(11 or 24 or 5 or 10)

f' (7)37 x100 =37 x woe- =37 x 15 (115 or 75 or 85 or 63) QI{
b ( 8 ) The number of altitudes of the triangle is - "

‘& (1nr2nr30r4)-'a

(9) (B —8) oo N (€ or &€ or C or ) Lei”

(10) 7 is subtracted from double of X = oo ! :'

(7-2x or 2x-7 or 2-7x or 7+2X) 'm
(11) The base length of a triangle is 8 cm. and its height is 5 cm. » then 5

@
' ’
' its surface areg = -+ ‘
(20cm. or 20cm? or 40cm. or 40cm?)
)

( (12) The smallest counting number is -+ (0 or 1 or 2 or 3) .
N

(13) If the sum of two numbers xand y is 20 ,theny = oo
(20+x or 20-x or x—20 or 5‘%)

) x 78 = 7800 (5§ or 10 or 25 or 50)




Complete each of the following :

,( (15) The area of the thombus = 1 x the product of -

"\ (16) If A(2 ,3) »B (2 »7) » then the midpoint of AB is -

. (17)Ifthe number X is 9 more than twice y » then x = -

S

Lk (18) The opposite transformation ig e @ @
i3 |

- (19) IfA » B , C are natural numbers sthen (AxB)xC=Ax(BxC)lis
‘Q called - property. v
‘: (20) If the perimeter of a rectangle is 20 cm. » its length is X , then its

™ Width i -rrreeeeeeee

‘ E) Answer the following :

(21) Write in the list method the set : X = {x: XxXEN,1<Xs7} »then
{"' represent its elements on the number line.

‘Q (22) Use the properties of addition to find the result of the fullowing
82+75+18 + 25

I T oo
5 { (23) Which is greater in area ?
\' A rhombus the lengths of its diagonals are 8.cm. and 6 cm. or
? a parallelogram in which the lengths of its base is 10 cm. and the
" ( corresponding height is 5 cm.
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(24) In the cartesian coordinate plane. datarmlns the following pomts
A(6,6),B(6,2),C(1,2)and D (1-86) » then complete :
[a] The name of the figure ABCD g e
[b] The length of CD is -

| |
i) ||
- =
3 - .__1
.= | i | i
L= T i 1. i ' 1 .

(25) FX={x:xEN,1sx<8},Y={2,4,9} ,find:
[alXUY [b] XNY [c] X-Y

LR L L LR R L R L R o e e

(26) Solve the equations in N :
[2]3x+7=19 [b]2y+5=10

(27) If the diameter length of the wheel of a bicycle is 50 cm.

How long is the distance covered by the bicycle in meter if it turns
1200 turns ? (7t = 3.14)

-------------------------------------------------------------------------------------------------------------------------------------

(28) Use the operations properties in N to find :
[a] 8 x 12 x 125

[b] 231 x 71 —31 x 71

B

A
)’
'3

v /i
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- (29) If L is the axis of reflection of the A ABC , draw A ABC ~
> - the image of A ABC by reflection in L @ V]
& /(' *~. |

..‘ \ o 2 p‘,
L® 2

: |'r"': [ ; 2,
S T é
é | = R N % — !'.

. 5[ 1 2 346678 9 101 1213 :

I ' B E

(30) The following table shows the frequency distribution of the number

of work hours of 50 workers :

[ Sets [10-— 30 — | 40 — | Total
[quuoncyl 12 B 16 | 14 | 50

Draw the frequency polygon which represent these data.
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r‘ ’( Answer the following questions : lizSgo o JOSI 323 7l

L 3 Kl Choose the correct answer : WEIPE// WV Sasrootycom ﬁz
..ﬂ (1)f3x=6, XEN,thend X —1 = e (4 or 6 or 7 or 9) :
;. (2)Ifa=1,b=2,then5ab = (10 or 11 or 13 or 20) __ |

( 87 s
 fouech 3Ty @‘}4 e 4 9L e Wy alall gyl @}u ol Jaall h.m
solacll oliism | (2D EBED| | Mty guotiadt Caualt | L ,;.




© (3 )Tha isosceles triangle has - - line(s) of symmetry.
(0 or 1 or 2 or 3)

- d ( ( 4 ) The area of rhombus whose diagonals lengths are 12 cm.

P and 16 cm. = e cm? (56 or 28 or 96 or 129)
N (5){2,3} N (€ or & or C or ¢)
; ( 6 ) The area of a square whose diagonal length is 14 cm, = e cm?

(196 or 98 or 56 or 158)
( 7 ) The length of the base of a triangle whose area is 120 cm? and its

height is 10 cm. i§ === CM. (2 or 6 or 12 or 24)
( 8 ) The additive neutral element in N x the multiplicative neutral
element in N = -eeeeneene (3 or 2 or 1 or 0)
( 9) If the product of two numbersaand b is 15 sthenb = -
(15a or & or L or a+15)
(10) If the radius length of a circle is 20 cm. » then its circumference
== Qg resiuiineas cm. (10 or 20t or 403x or 80 )

(11) Adding 5 to three times a number y is -

(5x3y or 56-3y or 3y—-5 or 3y+595)
(12) If b=3 ,then2b—1 = v (6 or 5 or 4 or 3)
(13){7,9.2} ~~N (€ or & or c or ¢)
(14) If 7 y = 2 x + 3 ,then the constant is - (y or 7 or 2 or 3)

Complete each of the following :
(15) If 735 = (x x 100) + 35 , then X = e

(16) The set of natural numbers less than 7 and greater than 2 is -

(17) 21 # (36 + ~-+reeveeeees )= (21 4 ) + 84
(18) 99 added to the neutral element of multiplication = -
(19) 1% 2,2 %4 ,3 X B 5 5 s (in the same pattern)

(20) The area of a parallelogram = «-oee
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Answer the following :

(21) In the two dimensions cartesian coordinates , determine the points
A(2,5),B(5,2),-C(5 »8) s then :

[a] Find the length of BC
[b] Draw its image by reflection across BC

1 | ‘ | ! =1

i
1 |

I.. — - wr i - P —_— ._i...._- — _'___.'
i
|

|0 9N [ O] Sl N

(22) Solve the following equation : 5 x-7=33 , XEN

(23) Use the properties of operation in N to find the result of : :
[a] 26 x 999
[b] 321 + 627 + 179 + 373 'm_
@

(24) Calculate the perimeter of the opposite
figure where AB =7 cm. , BC =9 cm.
and AC = 8 cm. (n = %’é)

! r‘F.



(25) Which is smaliarlln area ?

‘a square of side length 12 cm. or a rhombus with diagonal 20 cm.
and 14 cm.

(26) Using the properties of commutative , distributive and associative to
find the value of : 4 x 31 x 25

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

(27) Ahmed has L.E. X s Samir has L.E. 10 and the sum of what Samir
has twice of what Ahmed has is L.E. 24 Write the equation that
represents this situation and find the value of X

(28) Solve the following equation in N: - X+ 8 =10

(29)Ifa=5 , b=3 , c=1,thenfind:
[alaxb-cC

(30) Use the histogram and frequency polygon to represent the data and
find the value of A :

“Sets | 10-[20-[30-[40-[ 50— | Total |
Frequency | 56 | 7 [ 12 | A | 7 [ 40 |
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Answer the following questions : )

—

Kl Choose the correct answer :

é
a’
ot
$ 1) The opposite geometric transformation is -
= (1) pposite g I\ /]
&

‘f

( rotation or translation or reflection )
(2) The value of : 10 — 2 h when h = 3 equals
(5 or 4 or 7 or 16)

( 3 ) Acircle of radius length 7 cm. » its circumference = = cm. (:n:= %
(22 or 44 or 60 or 14)

( 4 ) The square whose diagonal length 10 cm. > then its area = - cm?
(100 or 50 or 200 or 25)

( 5 ) Four times of a number y is represented by -
(y+4 or 4y or y—4 or {-)

-
—

(6)12x7 =7 x oo (12 or 7 or 84 or 5)
(7813132232038 s (in the same pattern)

(9 or 11 or 13 or 40)
(8)(5-8) N (€ or &€ or c or ¢)

(9 ) The number of axes of sffmmetry of the rhombus = o
(0 or 1 or 2 or 3)
(10) The sum of two odd numbers is oo number.

(even or odd or prime or otherwise ) ?’!'QI

2 e L\ Y ‘ —
P r '."'-. gk

(11) 215 + 53 = 53 + 215 is called -+ property. &
( commutative or closure or associative) Eﬂ\l]
g (12) Ify +3 =7 stheny + 1 = v (4 or 3 or 5 or 6) ’\
[ (13) The area of the rhombus whose side length is 8 cm. and its height :\
is 4 cm. equals e cm? (12 or 16 or 32 or 64) 4

\

(14) Fora€E®N ;b €N sthenaxb =N (€ or ¢ or C or (Z)

E

,
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Complete each of the following :

(15) In the opposite figure : e S a o S
The length of AB = - length units.

(16’ lfx X 4 + x ) 4 EO‘ = 3 » 64 ’men X = ceecraneanenes

(17) In the opposite figure :
A BEF is the image of A BDF
by reflection across -

(18) If (X s 1) = (4 »y) s then X = e e p—

(19) If the difference between two numbers is 5 , the smaller number is y
» then the greater number is -«

(20) f X={x: XEN 2SS XS5} sthen X = e

Answer the following :

(21) Calculate the perimeter of G : ED
the opposite figure. (;r; - %) .

............................................................................................................................

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

(22) Use property of commutative and associative in N to find
the result of : 8 x 34 x 125

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

3x-6=12

----------------------------------------------------------------------------------------------------------------------------------
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(24) In the two dlmenslnns conrdlnates; , draw A ABC where A (4,2),

v, B (4 »5) » C (7 »2) - then find its image by reflection across AB
é \( and find the length of AB

i | |

=
s '

'.:_jf _[

I 1
_LI I

(25) Find the area of the triangle whose base length is 12 cm. and height
is 8 cm. :

(26) If x is a prime number included between 1 and 6 » write down the
values of X

(27) In the opposite figure : | D f
ABCD is a parallelogram in which
BC=14cm. ».BE =6 cm. —

, M is the midpoint of AD » complete : e R
[a] AD = - G T R ——

[c] The area of L7 ABCD = «--woveeee cm?

[d] The area of A ABM = «-ceeeeeeees cm?

(28) Use the distributive property to find : 299 x 12

-----------------------------------------------------------------------------------------------------------------------------------

(29) Write down the representing set on i L
0 1 2 3 4 5 6 7
the opposite number line :
(___

m'"' aﬁéﬂ" +2154) u-‘-'-ﬁﬂ' oueliadl aalt |

)'
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[30) The fulluwing data reprasants the marks in Arabic test for students
in one classroom.:

Sets 10— {20-|30—- (40~ | Total
Frequency 8 12 | 16 | 14 S0

tore
Q |
J—

170N
! '
L, Draw the histogram for his distribution.
F %
- : " = 0 EE el i R
‘._* : 1H‘:'.-...|. :I'-:-:l'h ...i ;:--'-' t':
5 et Hi Hikl ] e et 20 ) i B
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31 VTSR] e A A ) T i
. : 1154 3
E: : : -ﬁi | HEH Heh
7l R e
J B ¢ DT S
.EE HHEH S
H il neﬂ h s
ot S e nn et
1 il .*_:_.E"F ’5%.
L i s FE_;_E I
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Answer the following questions :

Bl Choose the correct answer :
(1)IfX={a:aEN,7<a<8} ,then X = e
({7} or {8} or {7,8} or @)
&) IR -%— the length of its diagonal x itself. ( Area of triangle or

Area of parallelogram or Area of square or Area of rhombus )
Q ( 3 ) The circle in which the length of the greatest chord is 21 cm.

2 » its circumference = cm. (:rn = —273)
(35 or 14 or 44 or 66)
( 4 ) The set of even numbers U the set of odd numbers = -
( (E or O or @ or N)
A\ (5)(x—15) s (X — 14) where X is a natural number more than 17

(> or < or = or 2)
( 6 ) The difference between three times a number X and two is =
(3x+2 or 3Xx-2 or 3x3X or _x_)




4

}_L-r‘qn , _|£|._'| I:—_l'"" 1:;‘-3,.-_. 1- I‘H-_" |G 1' :1 “F
| g e | el iy, E——] -
Final Examinations |
— e

(7)If 3 x-3=2,XEN then x = - (5 or 12 or 2 or 35)
7 ( 8 ) The circumference of a circle + r = oo
g (m or 2, nr%nr-%—)

é

{ ' ( 9 ) The area of the largest rectangle whose perimeter is 24 cm.

.‘,'.lr:'- t R ~ 11 5 (32 or 36 or 72 or 144)
&

= (10) The number of axes of symmetry of the equilateral triangle is -
(1 or 2 or 3 or 4)

(11) The area of a parallelogram in which the length of the base
is 10 cm. and its height is 5 cm. equals - cm?

(15 or 25 or 50 or 100)
(12) Which of the following geometric transformation represents the

reflection ? {DD . g - L—/L/)

(13) The base length of a triangle whose area is 120 cm? and its height
f is 5 cm. equals - Cm. (12 or 24 or 48 or 96)

A (14) {1 51 52} e N (€ or & or C or )

\& EJ Complete each of the following :
(15) The set of natural numbers less then 7 is -

(17) If the side lehgth of a square is 5 cm. , then its area = - cm? ' ‘i

(18) If x is an odd number , then X + 2 is an - number. " !

(19) 2 57 512 5 17 5 s 5 e (i the same pattern) Q

(20) If 37 + 73 =73 + 37 > then its is called - property. & i
\ B Answer the following :

(21) The lengths of the diagonals of a rhombus are 30 cm. and 20 cm.
Calculate its area.
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(22) Solve the foltawlng equations such that xEN :

- [a] Xx—4 =1 [b] 3x+8=29

b:. ‘

@

¢\

P

‘f' (23) In a coordinate plane , draw A ABC where A (2 ,3) . B (5 »3) and
; C (5 » 7) » then draw the image of A ABC by reflection across BC

e i =

. o= E o I

—_— - "'J.

1
e e 1

(24) Using the operation properties to find the value of :
[a]8 x135x125 [b] 56 x42 - 56 x 32

T el r L T R R TR R T R R E R T e T L T R e T R T E R N R

(25)fX={x:xEN,3sx<8},Y={1,3,5},find:
[l XNY [B] XUY [c] Y - X

(26) The following table shows the number of students who practice sports.
Represent these data using pie graph on the opposite figure :

| Game | Football |Basketball| Volleyball
20 10 10

J'

%




2
% (27) Translate the statement into an equation :
| If 9 is subtracted from a number , then the result is 23

(28) Find the perimeter of the opposite figure : "’%_

. | |
Scm

(29) Use the distribution property in N to find : 319 x 101 som.

(30) The following table shows the marks of 35 students in math exam :

Sets 'sTn—15—2o 25=[wotal | [ | | T T |
Froquency [ 5[ | k[ 6] 48 ])p | 4 | |
_;,.
|

(=S | g | |
[a] Find the value of k | :
IR | ST i
[b] Represent these data ‘ B |
by a frequency polygon.

Answer the following questions :

Bl Choose the correct answer :
(1) The eeeeeeeseee triangle has one line of symmetry.
( equilateral or isosceles or scalene)

( 2 ) The sum of the two numbers x and y is 10 sthen y = -
(x-10 or 10—-x or x or 10)

( 3 ) The area of triangle whose base length 5 cm. and the corresponding
height 6 cm. ig «eeee cm? (60 or 15 or 11 or 3)

(4) If X is an even number , then X — 1 is an - number.
(even or odd or prime or othrwise)

I NAlnsdahnals P Ewvarmlnabliansy -5 o
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( 5) The area of square of diagonal Iangthﬁcm IS - sz crnz J -
(18 or 36 or 24 or 6)

f( (6)Ifx—2=4 ,then X+ 1= e (6 or 3 or 7 or 5)
\

2 (7 ) 99 x the multiplicative neutral element in N = -

(0 or 99 or 100 or 1)

(8) If the ordered pair (X sy) =(3 s1) sthen y = e
(3 or 1 or 2 or 4)
( 9 ) The perimeter of equilateral triangle whose side is X cm. = -oeeeeee cm.
(3+x or x-3 or 3x or %) iy
(10)Acirc1.|mferenna of a circle is 22 cm. , then its radius length %

= oo M. WhEre v = 22 (35 or 7 or 8 or 11)

(11) The sum of two natural numbers -« N ‘Q
(€ or & or C or ) DP
(12) (8 x 3) x § = -evveveveenns x (3 x 5) (3 or 5 or 8 or 35)

(13) The geometric transformation M |8 -8

( translation or rotation or reflection ) Qf‘
(1‘)33’:54:-"-----“.“.. (3354"3}{4 or BK5+8H40 or me-l-sxq_, ‘
2

L

(20) The set of the natural numbers which are more than 4 and less
than S is «ereenes

Complete each of the following : %)
(15) The missing number in the pattern : v
P P [ 3 . ¥ Cmm— s 1024 , 4096 i +wvrevereees 'mﬁq
(16) If A (2 53) » B (7 5 3) » then AB = e length units. & 4.
(17) 273 x 53 + - x 273 = 273 x 100 h
(18) 64 + (36 + ~-ovvvevs) = (64 # =) # 3G = cvvveeennenns +35= @ m
(19) The rhombus whese area is 36 cm? and the length of one of its o
diagonals is 8 cm. , the length of the other diagonal = -~ cm. & %
| |

E

ra

h
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o Answer the following :

e . | .

w f(’ (21) The lengths of two adjacent sides in a parallelogram are 6 cm. and
:'\ 8 cm. If its greater height is 4 cm. , then find its smaller height.

: [-r. ......................................................................................................................................
P (22) Using the properties of addition find the value :

. [

32 +47 +68 + 3

(23) Iin the opposite figure :
- &
ABC is a right-angled triangle at A , AD L BC y
Find the area of AABC and the lengthof AD B D, c

(24) Represent each set of the following on the number line :
[a] {0,1.3,4}
[b] {1.2,4}U {1,3,4,5}

lllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

(25) In a 2-dimensional coordinate plane », locote the points A (2 » 0)

Q ,B(6,0),C (6 ,4)andD (2 ,4) > then name the shape ABCD
| and find its area.

b — ——mm— - - - -— — = — =

J'

%
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% . (26) The product of a number k and 71is 56 , find the number k

-

/(,' (27) Draw the image of the following figure by reflection across L :

=y =

T

:
jﬂlz-:‘%

oy 108 | W] i 1B OIWL L [IF |
v
(28) Solve the equations in N :
[al15x-7=33 [b]4+Xx=18

llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll

(29) Use the distributive property to find the value of : 16 x 999 + 16

(30) The following table represents the marks of 50 students in a maths
exam in a month , where the full mark is 50 :

Sets 10— 20-|30-(40—-| Total
Frequency 12 | 18 | 10 50

[2a] Draw the frequency polygon which represents the given data.

[b] Find the number of students who got 30 marks or more.
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Answer the following questions :

/ .c:honu the correct answer :
w (1) If N is the set of natural numbers raEN,bEN
-

sthena xb ' N (€ or & or C or &)
(2)5 x (100 — ) = 5 x 98 (1 or 2 or 98 or 0)
( 3) The area of rhombus whose diagonals are 5 cm. and 8 cm.
= e G2 (40 or 20 or 26 or 13)
. (4)Ifx+4=10,then2x = (14 or 6 or 12 or 24)
g (5) % (€ or & or C or ¢)
( 6 ) Twice of a number X subtracted from it 5 is --oe

(x-5 or 2x+5 or 2x-5 or 5Xx)

( 7 ) The number of axes of symmetry of the rectangle = -
(0 or 1 or 2 or 3)

( 8 ) The circumference of a circle whose radius length 7 cm.
B =eemanenenstay -(:n:=3$) (11 or 22 or 44 or 88)

( 9 ) The additive neutral element in N is -+ (0 or 1 or 3 or 35)

(" 101
<5 5Ly @i}a ar tUglJ.u Petiasd Y9 ua.da.dl 9,513 adgas ol Joall m

N

| omlaed) ilss | [l BED |‘,m.nm‘,..mn....n| §

dny
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(10) If x = 2 and y=7,than-—x—=----~--*-----* (14 or 3 or 35 or 7)
- (1) IFX={X:XEN,Xx <3} ,then X = -wreeeeees
rl‘( ({1 12} or {2} or {0!112} or {051:2!3})
\

- (12) If 3a + 2 b = 11 , then the constant is -
(3 or 2 or 11 or a)

{

St

NA

= (13) The opposite transformation /l R is

TAS (translation or reflection or rotation )

(14) The triangle whose base length is 3 cm. and its corresponding
heightis4 cm. sitsarea= -~ ~cm. (14 or 7 or 6 or 12)

. Complete each of the following :
(15) The square whose perimeter is 32 cm. sits area = - cm?

(16) 1 54 » 8 5 135 cxnoremsans g cuisussssaneane (in the same pattern)

(17) Any even number x any odd number = -« number.

(18) If 482 = x + (8 x 10) + (4 x 100) > then X = «--eoe

(19) The set of prime numbers which are less than 10 is -

(20) Ahmed had X pounds » he bought a pen for 3 pounds , now Ahmed

hag: == pounds
Answer the following : 5 A
; (21) ABCD is a square , its perimeter is /l
60 cm. , E €BC , BE = 35 cm. - | |
Find the area of the figure ABED ey

(22) Solve the equations in N :
[a]22=Xx+ 10 [b]




(23) In the cartesian plane draw A ABO in which A (3 ; 2) , B (3 » 5)
and O (0 , 0) ; then draw its image by reflection in AB

—

___A_JLllL___

—

(24) Find the seventh term in the sequence : -
13357 315 3371 o receneeeeeeeen

(25) Use the properties of the operations to find the result of :
[a] 25 x 31 x4 [b] 28 + 17 + 72 + 83

(26) In the opposite figure : . D
ABCD Is a paralleogram in which ’ é; * :
AB =10 cm. , DE =12 cm. , DF = 8 cm. & ¥

Find : [a] The area of the parallelogram ABCD
[b] The length of BC

.-a:,
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% (29) Use the distribution property in N to find :

47 x 18 +47 x 82

> (30) The following table shows the frequency distribution of the number
@ of work hours of 50 workers :

= Sets 4—-|6-|8-|10—-| Total
|  Frequency | 12 [ 8 | 16| 14 50

Draw the frequency polygon which represents these data.
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- __Models of school book | &
.‘ g Model [E) (&4

Answer the following questions :

& [l circle the true answer :
&

= (a) The sum of two natural numbers - Y
(€ or & or C or &)
MIfxX+3=5,XEN,then X = (1 or 2 or 3 or 4)
(c¢) The area of a rhombus whose diagonals lengths are 6 cm. and 8 cm.
iS <o CM2 (48 or 12 or 24 or 40)

(@) Complete to make the sentence frue :

(1) The circumference of a circle with radius lengths 10 cm. is -+ JT Cm.
(2) For any natural numbers a ; b and c where (a x b) x c = a x (b x ¢)
Is called ------- property.

(b) Which is greater in area : a square whose diagonal length is 10 cm. or
a right angled triangle whose legs are 8 cm. and 15 cm. ?

Ahmed has L.E. X s Samir has L.E. 10 and the sum of what Samir
has and the twice of what Ahmed has is L.E. 24 , Write an equation to
"':.: represent this situation and find the value of Xx.

‘Q K3 @) In a 2-dimensional coordinate plane : Draw the triangle ABC where
A2-1)-B(5,1)and C (5 ,5) » then draw the image of the triangle

ABC by reflection across BC and find the sum of areas of the triangle
and its image.

2 (b) In the opposite figure : ABCD is

s (" a parallelogram , where AD = 12 cm. » CD = 6 cm. 2 12, 5

? , DE = 5 cm. and DE _L BC. Find the &/ |g /
/ area of the parallelogram , then calculate ¢ E B

its height drawn from point D on AB .

(b) Compare using > , <or=:

& £

(1) The additive neutral element in N - the multiplicative neutral
J element in |.
(2) The value of X s when X+ 1 =3 - the value of x when 2 x =6
1 4

® o

WVA G 2 ) Y o f gl o /IOl p 2) DS, bl

i

137‘
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(b) The following frequency table shows the marks of 35 students in
7 the math exam. Graph these data using the frequency polygon.
‘ “(_ [ Sets S — 10 — 15— 20 — 25 — Total ]
P | Frequency 5 9 11 6 4 35 |
S8
=
& = Model E

Answer the following questions :

n Complete to get a true sentence :

(a) The area of a square = % the product of - X seenesenes

(b) ForaEN ,bEN ,thenaxb -« N w7
(©) 23 x (92 + 8) = 23 x rvoe = e

@ IfX={x: XCEN 1 S 028t SO =0 - 5 woeee g gosenimen )

(a) Circle the true answers :

(1) The area of a triangle whose base length 5 cm. and the corresponding
height 6 cm. is -+ cm? (30 or 15 or 25 or 36)

A
(2) If the set of even numbersis E ,thenE - N ) v
[ (€ or &€ or C or ) th
(3) If the Inngest chord in a circle is 7 cm. » then the circumference of the X

. circle is -~~~ cm.wheret= 22 (3.5 or 7 or 22 or 44) y
\Q (b) Draw the rectangle ABCD where AB =2 cm. , BC = 3 cm. and find ’ g

its image by reflection across CD @

Ry <

| EJ (@ ABCD is a rhombus in which AC = 10 cm. and BD = 8 cm. ! ,'
@ (1) Find its area. ' I

5 ’ | (2) Find the image of A ABC by reflection across AC . A
I’ L

(b) Hatem bought 3 notebooks , where the price of each is L.E. X. He o
gave the seller L.E. 20 and he still has L.E. 5. Write an equation to
represent this information and find Xx.

L

H (a) In 2-dimensional coordinate plane locate the points A (3 -0) - B (5 ,0)
»C (0 s5)and D (0 », 3). Find the area of the shape ABCD.

(b) Use the commutative and associative properties in N to calculate :
872 + 199 + 128 + 801

& s .
@
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H(%a-) In the opposite figure : There is a window which has
v, the form of a square whose side length is 70 cm. , and
‘ g above it , there is a semicircle. Calculate.
P

T0em.

(1) The perimeter of the window.

(2) If the area of the window is 6825 cm? , then find the area of the
semicircle.

70cm.

(b) The following is a frequency distribution for the working hours
of 50 workers. Graph these data using the frequency polygon.

" sets | 2- 4 — 6 — 8 — 10— | Total |
| Frequency | 8 9 15 16 2 50 |

™ " Model [E}
+ Answer the following questions :
™
é

n Circle the true answer :
@Ifx+7=19,XEN then X = (26 or 12 or 11 or 13)
(b) The area of a square whose diagonal length 6 cm. is ==

P
(18cm?® or 36cm? or 12cm? or 6cm?) )x‘:::

@IH: X={Xx:XEN,3<X<4}.thenx& QI
(@ or {3,4} or {3} or {4}) x*"

(1) The circumference of a circle whose diameter length x cm. is - cm.

Q @) Complete to get a true sentence :
(2) If the area of a rhombus is 16 cm? and the length of one diagonal is @

/

(0

4 cm. s then the length of the other diagonal is --------- cm.

A
) J (b) Which is greater in area : A rhombus whose diagonals are 6 cm. and
B 8 cm. , or a square whose diagonal is 8 cm.

A& @© Solve2x+9=21,XEN

/ (@) In a 2 — dimensional coordinate plane , locate the points A(5 ,0) ,B (9 ,0) Q
»C (9 54) and D (5 > 4). Name the shape ABCD and find its area. ‘e

o
Y
(b) Use operations properties in N to calculate : 25 x 9892 x 4 . \I]

FA—

* n The opposite figure shows a football playground. 28m.
4 ' Find the distance around the figure when 5t = 22 (

i
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The following table shows the number of students
who practice sports. K
Represent these data using pie graph on
the opposite figure : \
[ Game Football Basketball Volleyball ]
|  Number 20 10 10 ]

Model [}

Answer the following questions :

Kl Circle the true answers :

@O6+15+3x5-380= (5 or 25 or 1 or

B If3x=15,XxE N thenx=-- (5 or 12 or 1 or

(c) The area of a rhombus whose diagonals 10 cm. and 20 cm. is -
cm? (200 or 30 or 100 or 400)

Complete to get a true sentence :

(a) The circumference of a circle whose radius length r =7t > -
(b IfA(2,3)andB (2 ,7) »then C (- g irnopsnrees ) is the midpoint of AB.
(c) The length of the diagonal of a square with area 50 CMZ = oo

(d) The area of a parallelogram whose base length is 8 cm. and height
2.5 cm. is e cm?

El (@) In the opposite figure :
The length of the diameter AB of a semicircle is 14 cm. m

Find the distance around the figure (:n = £2 ) A B

(b) Use operations properties to calculate : 653 + 548 + 347

Bl If X={x: XxXEN,3 =< x < 8}. Use the listing method to write X then
represent its elements on a number line. A

(b) A ABC is a right-angled triangle at
B,AB=6cm. . BC=8cm. and .
AC = 10 cm. Find the area of the
triangle , then draw BD L AC and
find the length of BD. o s
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(e) Three times of a natural number X is 8 more than the multiplicative
neutral. Express this information in an equation and solve it for x.

-(a) Draw A ABC where A (2 ,5)and B (6 - 2) and C (5 , 8) , then find its
image by reflection across BC.

v
¢\
Ha

(b) A farm has an area of 24 feddans planted with fruit , vegetables ,

flowers and plam trees and it is represented by the opposie figure.
Complete :

(1) The area planted with vegetables is 12 feddans
\Q and it is represented by the -+ colour.

N / A

El

(2) The green sector represents the area planted
with fruit and it has an area of - feddans.

(3) The area planted with flowers = the area planted
with palm trees = - feddans.

Answer the following questions :

™
X
™
. Complete the following :

ﬁ-“ (@) The set of even numbers (E) — The set of odd numbers (O) = -

“ (b) The multiplicative neutral element in N is
\Q (e) Shorouk saved X pounds , her father gave her 10 pounds , then she
has .- pounds
(d) The sum of two humbers is 21 one the them is X , than the
| other = -
v (e) The side length of a square is 10 cm. > then its area = -+
o
5 Choose the correct answer from these between brackets :
(@) The set of even numbers - the set of natural numbers.
(€ or & or C or )
AL (b) If X is an odd number , then x + 3 is = number.
d £ (odd or even or prime)
& (e) Twice the number X subtracted 3 from it= -

(x—3 or 2x+3 or 2x—-3 or 3-2Xx)

‘141
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(d) The base length of a triangle is 8 cm. and its height is 5 cm. » then its
surface area = -+ (40cm. or 40cm? or 20cm?)

(e) The number of axes of symmetry of the rhombus equals -
(zero or 1 or 2 or 4)

(a) Five even natural numbers , the greatest number is x + 13 , write
down these numbers.

(b) Which is greater in area : A rhombus in which the lengths of its
diagonals are 8 cm. and 6 cm. or the parallelogram in which the
length of its base is 10 cm. and the corresponding height is 5 cm. »
then calculate the difference between them.

n(a) Zahraa saved 14 pounds » she bought 3 notebooks of X pound
for each. The remainder with her was 8 pounds. Express these
situations by an equation.

(b) Calculate the perimeter of the opposite figure where m
AM =35 cm. (= 22)

A M B

Qa) In the cartesian coordinates plane determine the points. A (2 5 2) »
B(5,2),C(5,8)andD (2 ,8). If BC is the axis of reflection of the
figure ABCD , then determine the image of the figure ABCD.

(b) The following table shows the marks of 50 pupils in exam of
mathematics in one of months where the full mark is 50 marks. |
Draw the frequency histogram and the frequency polygon which e

_ represent these date. f‘? f*;
, L

@ [ Sets | 10— | 20— | 30— | 40- | Total | 0
> | Frequency | 10 12 18 10 50 | /3

)
2
Model [} 5

Answer the following questions : \l]

Choose the correct answer from those given : ‘
| @ (3+9) - N (C or € or ¢ or &) [
& ®) If : x (75 +10)=9 x 85 ,thenx= - (5 or 8 or 9 or 8) N
S '3

T e
L=
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(e) A rhombus in which the lengths of its diagonals are 10 cm. and n
12 cm. s its area = = cm? (120 or 60 or 24 or 32)
(d) "Subtract 4 from twice the number y" the symbolic expression for this
situation is - (yv—4 or 2y—4 or y+4 or 2y+4)
(e) If X Is an odd number , then X+ 2 is - number.

(even or odd or prime or otherwise)

- Complete the following :

(@) 32+ (59 + ) = (32 + B8) + oo
(b) The number of axes of symmetry of the rhombus = -

(¢) The perimeter of the equilateral triangle whose side length is { cm. =

(d) The area of the square = iy

2

(e)1:,4,8,13 - in the same pattern.

™
X
|\ (@) Which is greater in area. The triangle whose base length is 12 cm.

and height = 8 cm. or the parallelogram in which the length of the
w base = 10 cm. and its height = 5 cm.

(b) In the opposite figure :

D A
ABCD is a parallelogram in which 7o, Va
AB=10cm. .DE=12cm. - DF = 8 cm. Find : § 2 E&"
(1) The area of the parallelogram ABCD S B 5

(2) The length of BC

é
I'|rl\1
E:
\& K3 The length of BC by measuring.

In the two dimensions cartesian coordinates, Determine the points
A(2:5)-B(5,2),C (5 ,8) ,draw the figure ABC then find :

(@) The length of BC by measuring

@ (®) Draw the image of A ABC by reflection in BC
(") (¢) How many axes of symmetry of the resulted figure and find its area.
-~

El (2) Solve the following equations :
(1)x+3=12,xEN (2)2x+9=21,.,xEN
(b) The following table shows the marks of 35 pupils in mathematics

4 D7 exam. in one of months where the full mark is 50. Draw the
d £ frequency polygon which represents these data.
P [ Sets 10— | 20— | 30— | 40— | Total |
Frequency 8 12 10 5 35
~ | Frequency :
‘  ——
“ .

[143

3%y @i}a s st.[gu.u @.m ﬁg Ua.da.d! Ulg)él: @9.4.1 el Jeall




.www.f .zakrooly/com} Maths

Final Examinations

@ t : :

[

Model

Answer the following questions :

Kl Choose the correct answer from those given :

(A lfx+8=15,x€eN then Xx= (3 or 7 or 6 or 5)
(b) The square whose diagonal length is 8 cm. its area = - cm?
(64 or 32 or 16 or 8)
@©IfX={x: xXEN,3<sx<5},thenXx& -
({4} or {3} or {3:4} or {4,5})
(d) If O is the set of odd number s then O - N
(C or & or & or &)

(e) The triangle whose base length is 5 cm. , and the corresponding
height of it is 6 cm. » its area = -~ cm?

(30 or 15 or 25 or 36)

Complete the following :

(@) 64 + (36 + )= (64 + )+ 35 = e + 35 = coceenne

(b) The rhombus whose area is 36 cm? and the length of one of its
diagonals is 8 cm. » the length of the other diagonal = -+ cm.

(e) The square whose area is 72 cm? » the length of its diagonal = - cm.

d1:4,8,13 ,-in the same pattern.

(E)lf:4+x=15 sthen x = -

B (a) The length of the diameter of the wheel of a bicycle is 56 cm.
Calculate the covered distance if the wheel turns one turn and what

the number of turns to cover distance 352 metres (where = 22 )

=
(b) If the number X exceeds twice the number (y) by 7. Write down the
mathematical relation which relates x by v. g
(c) If the age of a man now is X years where X €N Find : Q
(1) The age of the man after 7 years. @
(2) The age of the man since 10 years. w
EJ (a) Using the properties of commutation s distribution and association P‘
Find the value of each of the following : &
(1) 8 x 137 x 125 (2) 28 + 59 + 72 2
1 ‘

» o

| 4]
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(®) In the opposite figure :
ABCD is a rectangle of area 828 cm?
E €BC »AD = 23 , BE = 35 cm.
Find the area of A DCE

- (1) Find the value of A

(2) Draw the frequency histogram and the frequency polygon which

represent these date.

N

Ny

& @ The following table shows the marks of 40 pupils in mathematics exam.
&

20 — 30 —

40 —

50 —

Total |

40 |

(1) The length of AB = - unit.
(2) The length of BC = - unit.
(3) The figure ABCD is -

(4) The perimeter of the figure ABCD = -

|'|III\1
/
'
\Q Answer the following questions :

Bl Choose the correct answer from those between brackets :

i @ A parallelogram in which , the lengths of two adjancent sides are
; 9 cm. and 7 cm. » the length of the smaller height = 4 cm. , then its
(20 or 10 or 28 or 14)

5 & @ 7 is subtracted from the number x = -
(7—X or 2xXx-7 or 7TXxXx+2 or 14 X)
@If: X={x:xEN,x<3},thenxe& -
({1,2}y or {0,1} or {2} or {0,1,2})

‘ area — srmsamamaas Gm?

unit.

@) In the orthogonal cartesiancoordinates locate the points. A (8 ,2) »
B(3:2),C(3,6),:D(8,6),then complete :

< D7 @ The next number in the pattern 1 ;3 ,9 , 27 5 -
‘( 30 or 33 or 36 or 81)
N
/ f’ @ The length of the base of the triangle whose area is 120 cm? and its
Y+ heightis 5 cm. = - cm. (12 or 48 or 24 or ©6)
S —
“ E VAo ) Y s gl 8/ (ol ) Sl elall l
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E Complete the following :
I @If:3x+7=19,XEN sthen x=
= (b) The circle whose diameter length is 14 cm. , its circumference = ---------- cm.
(where T = 2.?2 )
(e) The set of prime numbers which are less than 17 is -
(d) '[he pergnezter of a rectangle is 16 cm. its width is 3 cm. , then its area

(a) Use the distribution property to find the value of :

n In the cartesian coordinates plane :

@) 74 x (73 +27)=T74 x - — it

(1) 519 < 99 (2) 316 x 1001
(b) In the opposite figure : ABCD is a parallelogram in which BC = 14 cm. 4

and the area of the parallelogram = 112 cm? M is the midpoint of AD
Complete :

D A
(2) The area of A BAM = - cm?
(3) The area of the figure MBCD = - cm? 4 5 y

P

S
(@ locate the points : A (5,9) B (9,7)>C(56:5),D(1,7)-E(9,5) }%
(b) Draw the line segments AB - AD ., CD ,BC Xﬂ

©) If CE is the axis of reflection of the figure ABCD , then determine its image and
determine each of the ordered pairs which represent the vertices of the image.

@) The figure ABCD is a - and the area of the figure .
ABCD = -+ square units. @
B({a} Solve each of the following equations : A ] }I
(1) 482 =x+ (8 x 10) + (4 x 100) (2) X x 3+ X x 60 =4 x 63 'm:"

the rent of the flat , 250 pounds other spending.
Represent these data on the shown circular sectors.

(b) An employee spends his monthly salary as follow 1000 E
pounds for food. 500 pounds for clothes 250 pounds . ¢

Answer the following questions :
n Choose the correct answer from those given :

@IFX={x: xXEN,2<x=<3}then x =
({3,2} or {3} or {2} or ©@)
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N7 (¢) A rhombus of area 30 cm? , the length of one of its diagonals is 6 cm.
d g » then the length of the other diagonal = - cm.
o _ (4 or 6 or 8 or 10)
; : (d) The diameter length of circle whose circumference = 88 equals - cm.
N (e =22) (28 or 14 or 7 or 21)
&z (e) The length of the base of the triangle is 8 cm. and its height is 5 cm.

s then its area = - cm? (9 or 40 or 8 or 20)

Complete the following :

(a) The set of the natural numbers which are more than 4 and less than S is -
(b) If we add 5 to three times of the number y , then we get the number -~

(c) The perimeter of a rectangle is 16 cm. , its width is X cm. , then its
length = - cm.

(d) The square whose area is 18 cm? , the length of its diagonal =
(e) If 945 = (x x 100) + 45 , then x = -+

(a) Solve each of the following equations :
(1) 3 x+8=10 (2) & x-3=2

(b) The area of a rectangle equals the area of a square whose diagonal length
is 12 cm. Find the perimeter of the rectangle if its width equals 8 cm.

\ ﬂ (a) If the length of the diameter of the wheel of a bicycle is 50 cm. How
long is the distance covered by the bicycle in metre. If it turns 1200
turns. (where 7t = 3.14)

(b) In the orthogonal cartesian coordinates.
@ (1) Locate the points A(8 ,5),.B(8,2),.C(5,7)-D (5,2)

s "' | (2) If CD is the axis of reflection of the figure ABDC , determine the
v image of the figure using the suitable symbols also determine each
of the ordered pairs which represent the images of the vertices.

L

The following table shows the frequency distribution of the number

7 of work hours of 50 workers.

‘£ [ Sets 4 — 6 — 8 — 10 — Total }

N | Frequency | 12 8 16 14 50 |

< Draw the frequency polygon which represent these date.

‘ e Ly
L |
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Answer the following questions :

Choose the correct answer :
(@) Number of axes of symmetry of square = -+ (1 or 2 or 3 or 4)
@IfF: X={x:xXEN,3=<x<5},thenx=
({4} or {3} or {3.,4} or {4.,.5})
() x and y are two numbers where their sum is 20 ,theny = -
(20+x or 20—-x or Xx—-20 or +5)
@ If : O is the set of odd numbers ,then O - N
(E or € or C or )

Complete the following :
(@ The length of the diagonal of square is 8 cm. , then its area = -~ cm?
®If: 16 —x=9 ,then X = (T

| )
f-a (e) The type of the opposite transformationisa - ::> ‘::> Q

@191:2:3!518: """"" g e TR (inthesamepaﬁern) X
x

‘Q @ In the opposite figure : é

[

6
1)

ABC is a right-angled triangle A
atA ,AB =6 cm. ,AC =8 cm. & Jon, Ky <
,BC =10 cm. , AD L BC ¢ 7i;
U'ﬁ find the length of AD ;- Dioem. 3 |
5 | (b) Use the properties of addition in N to find the result of : o "'; E
873 + 199 + 127 + 801 (write the used property) 'Q
B} @ Solve the equation : @ w
2Xx+3=5where xXEeN
@®) Calculate the perimeter ﬁ‘
of the opposite figure where AM = 35 cm. (’J‘E = E—?E) . &

Q
4

$
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Bl @ On coordinate plane draw the triangle ABC where A (2 1) >B (5 5 1)
and C (5 , 5) , then draw the image of A ABC by reflection in BC

(®) Draw the frequency polygon which represent these data.

Total |
35 |
Answer the following questions :
Bl Choose the correct answer :
@GB-7) N (C or € or  or &)
@) The type of the
opposite transformation is a === k B
( translation or reflection rotation )
@If: xX-3=5,XEN,thenXx= - (8 or 2 or or 7)

@ The set of even numbers (E) (N the set of prime numbers (F') ----------
(P or O or N or {2})

Complete the following :
@ The multiplicative neutral element in the natural numbers plus 99 = -

@ The length of a rectangle exceeds the width by 5 , If the width of the
rectangle = X cm. , then the length of the rectangle = -

@ The number of axes of symmetry of the rhombus = -
@ The rhombus whose area 24 cm? and the length of one of its

diagonals is 8 cm. the length of the other diagonal = -+ cm.
® EJ @ Which is greater in area a triangle whose base length is 10 cm. and
5 Q) height = 7 cm. or a parallelogram. in which the length of the base = 8

cm. and its corresponding height = 4 cm.

@ Using the properties of commutation and association » find the
value of each of the following :

(1) 8 x 149 x 125 (2) 28 + 78 + 72

n@ If the age of a man now is X years where X € N Find :
(1) The age of the man after 3 years.
(2) The age of the man since 5 years.

S B |
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£2,
| (b) A circle of circumference 66 cm.

Find the length of its diameter. (J't: = 2—7‘3)

(a) In the coordinate plane :
Draw the figure ABCD in whichA(2,3),B(2,5),C (5 ,5) and
D (5, 2) » then draw its image by reflection in CD

(b) The following table shows the frequency distribution of the
number of work hours of 50 workers.

[ Sets | 4- 6 — 8 — 10 — Total |
| Frequency | 12 8 16 14 50 |

Draw the frequency histogram and frequency polygon which
represent these data.

Answer the following questions :

Kl Choose the correct answer :
(a) The number of axes of symmetry of the parallelogram = -~
(0 or 1 or 2 or 4)
(b) The area of a square is 72 cm? , then the length of its diagonal is -

(8 or 7 or 9 or 12)

(¢) The difference between two numbers is 7 the smaller is y » then the
greater number = - (7y or 7T—y or y—7 or 7+y)

(d) The least prime number x any prime number = - number
(odd or even or prime)

Complete the following :

) ] (a) The additive neutral element in () is - » while the multiplicative
A neutral element in ¥ ig -
9 (b) If : 86 x 15 =86 x X + 86 x 10 5 then x = =
(c) If we add 7 to three times the number y then we shall get the number -~

@IfA(2,3)andB(2,7) »thenC (- 5 ===+ ) is the midpoint of AB

(a) Use the distributive property to get the product in each of the following :
(1) 98 x 37 (2) 299 x 17

(b) Solve each of the following equations :
(1)3x+8=29 (2} xX-3=1




-
"\-

=

n(a) The length of the diagonals of a rhombus are 12 cm. and 16 cm.
and its height is 9.6 cm. find its side length.
(b) In the opposite figure complete :
(1) A BEF is the image of A AEF
by reflection in ~....... E E
(2) A BDF is the image of A CDF
by reflection in ~........

C D B

@_3 If the length of the diameter of the wheel of a bicycle is 50 cm. How
long is the distance covered by the bicycle in metre. If it turns 1 000
turns (it = 3.14)

(b) Represent the following data by the frequency polygon :
[ Sets | 5- 10 - 15 — 20 - 25 —

Ea

|
[ Frequency | 6 12 19 12 4|

Answer the following questions :

Choose the correct answer :

(@ If : X is an odd number , then X + 2 ig - number. Q
(aneven or anodd or aprime) I

(b) The side length of a rhombus is X and its perimeter is P , then the S(
mathematical relation between Pand xXis: P = - -- :_:‘
(4x or XxX+4 or XxXx-4 or Xx+4) e
() The number of axes of symmetry of equilateral triangle = -~ hig &
(0 or 1 or 2 or 3) | .
@1:4:9,516 5 (in the same pattern) (23 or 24 or 25 or 30) 'm

Complete the following :
@If: X={x: XEN,1<XxX<6},then X = -

(b) The type of the opposite
transformationisa -~ l\
(e) The area of a triangle whose base length 5 cm.

and the corresponding height 6 cm. is - cm?

(d) The perimeter of a rectangle is 10 cm. and its width = X cm. » then its
length = oo cm.

|151
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El @ /n a 2-dimensional coordinate plane :
Draw the triangle ABC whereA(2,1) B (5 ,1)and C (5 , 5) s then

draw the image of the A ABC by reflection in BC and find the sum of
areas of the triangle and its image.

®) By using the properties calculate the value of :

(1) 123 + 254 + 377 + 246 (2) 25 x 125 x 4

n@ In the opposite figure :
ABCD is a parallelogram where AD=12cm. .CD =6 cm. , DE = 5 cm.
and DE L BC D 12cm. A
Find the area of the parallelogram %g /
» then calculate its height drawn < '
from the point D on AB & 3 4

(®) Solve each of the following equations :
(1) 1 x+8=10 (2) £ x-3=4

@ An employee spends his monthly salary
as follow 1000 pounds for food 500
pounds for clothes 250 for the rent of U

the flat » 250 other spending. Represent
these data on the shown circular

sectors.
@) Find the perimeter of the 2
opposite figure where
MA=MB =7 cm. (n= 2 g4
-l #
M 7cm. A

Answer the following questions :

Kl Choose the correct answer :
@ Double the number X subtracted 7 from it equals -
(x-=7 or 2x-7 or 7x+2 or 14X)
@ The number of axes of symmetry of the rectangle = -
(O or 1 or 2 or 4)
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@IfF: X={Xx:XEN,5<x<6},then X =
(D or {5.6} or {56,5} or {5})
@ If the Inngest chord in a circle is 7 cm. » then the circumference of the

circle is -~ cm. where T = 22 (3.5 or 7 or 22 or 44)
:'. Complete the following :
= @ ForaeN,beN. thenaxb - N .
&z ®If: A(5,2)and B (5 ,6) » then the coordinates of the midpoint of AB
are ( ceerenaes g eeeseeee }

@) The least number in the set of counting numbers is -

@ If we multiply the number L by 5 , then we subtract from the resuilt 6 ,
then we shall get the number -+

EJ @ Mina bought 3 notebooks > where the price of each is L.E. x . He
gave the seller L.E. 20 and he still has L.E. 5 write an equation to
represent this information and find X

@) By using the properties of operation in N find the result of :

(1) 25 x 98 x 4 (2) 642 + 173 + 358 + 27
ﬂ@ The area of a parallelogram = 48 cm? and its base = 8 cm. what is K
its height ? )

(b In the opposite figure :
AD 1 BC , E is the midpoint
of AD ,CB =6 cm. AD = 8 cm.
Find the area of the shaded port.

C

| E] @ In 2-dimensional coordinate plane locate the points A (3 ,0) B (5 »0)
: »C (0 »5)and D (0 , 3) Find the area of the shape ABCD

! The following is a frequency distribution for the working hours
~ g q y
A i uf 50 workers. Graph these data using the frequency polygon :
2 50 |

4 N7

d £ Answer the following questions :

o Choose the correct answer :

@ (5-7) N (€E or &€ or C or &)

1

(Fe s ) ¥ s/ Jlanl 0 /0l £2) Sl polall

» 4

i
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(b) The number of axes of symmetry of the parallelogram = -
(zero or 1 or 2 or 3)
(c) Twice the number X subtracted 3 from it = -+
(Xx—-3 or 2x+3 or 2Xx-3 or 3—-2X)
(d) The set of even number (E) N the set of prime number (P) = -
(P or O or N or {2})

Complete the following :

@1:4,8,13 5 yizeasnans in the same pattern,
(b) Shorouk saved X pounds s her father gave her 10 pounds » then she
has PrEsaEEEa

transformation is -+~
(d) The square whose diagonal length is 8 cm. its area = = cm?

(¢) The type of the opposite Q Q

(a) In the opposite figure : D A
ABCD is a rectangle
of area 828 cm?

E €BC ,AD = 23 cm.

s BE = 35 cm.

Find the area of A DCE - C B
(b) Using the properties of commutation and association find value

of each of the following.

(1) 8 x 133 x 126 (2) 27 + 69 + 73

10cm.

B @) In the opposite figure : (
)

Calculate the perimeter of the figure (7Tt = 3.14)

P (b) Solve each of the following equation :
(1) L+ x+8=9 (2)2x-3=5

B (a) Graph the figure ABCD whichA (4 ,8) ,B(10,8),C(9.:4),D (5 ,4)
and then draw its line of symmetry.

(b) The following table shows the frequency distribution of the
number of work hours of 44 works :

| Sets 4 - 6 — 8- | 10— | Total |
| Frequency 10 12 6 16 44 |
Draw the frequency polygon which represent these data.
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Answer the following questions :

Kl Choose the correct answer :

(@) The additive neutral element in & - the multiplicative neutral
element in N (> or < or =)

(b) The circumference of a circle with diameter length 42 cm. is -~ cm.
where (:rl:= 2—?2) (48 or 96 or 168 or 132)
(e) If : xis an odd number sthen X+ 2 is -~ number.
(even or odd or prime)
(d) The sum of two natural number - N (€ or &€ or C or )

™

* L]

™ E} Complete the following :

‘ (@) The set of even number (E) - the set of odd numbers (O) = -

() Number of axes of symmetry of the rhombus = -+

(©) The opposite geometric
o transformation is -

J! (d) The sum of two numbers is 15 one of them is X , then the other = -

@ ® >

P <

E] @ Write by the list method the set X = {x: XEN ,3 < x < 9}
‘Q » then represent its elements on the number line.

(b) Five consecutive odd number , its middle number is (x + 12) write ,;6;:
= down these numbers. ! !
@ o>
s -"“‘ - n@“g‘} Which is greater in area : /i \
ox A rhombus in which the lengths of its diagonals are 6 cm. and 8 cm. B
or a square in which the diagonal length = 7 cm. 2
- (b) In the opposite figure : L A @ w
*( ABCD is a rectangle of area is 32 cm? g
“' \ and EC =5 cm. | N p‘
*-{.9 Calculate the area of the figure AECD C Sm E B :*
S —, [
3=

$

4,
»
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@ A librarian made an inventory uf the books in his library and their
types. He found the fnlluwmg + of the books are religious , 1 Df the

books are literary » 5 of the bnnks are scientific.
Graph that given data using a pie graph. If the total of books was 800
» find the number of each type of books.
(&) In the opposite figure : complete :
(1) A BEF is the image T 1 1
of A AEF by reflection A | O | N S _:_ A
|
\

i~
across ..........

(2) A BDF is the image
of A CDF by reflection
across ........ =

(3) A ABF is the image
of A CBF by reflection

-f———i i
across .......... g 1

(4) A BEF is the image )

of A BDF by reflection
-
across .......... |

Answer the following questions :
Choose the correct answer :

@O0 set of counting number (C) (€ or & or C or )
@) Mina is X years old , then mina's age 3 years ago was -
(3x or 3—-x or x-3 or x+3)

@) The number of axes of symmetry of the isosceles triangle = -+
(zero or 1 or 2 or 3)

0L

(flip or slide or turn)

@ The nppusn egeometric transformation
IS .........

Complete the following :
@ The perimeter of the equilateral triangle whose side length is { cm. = -

ll~
A
\

g
3

ah




]

K @1-3,9,27 5 (in the same pattern)
- @ A parallelogram » in which the lengths of two adjacent sides are
b o 5 cm. and 7 cm. , the length of the smaller height = 4 cm. , then
R its area = - cm?
&

12cm.

@ In the opposite figure : A
ABCD is a parallelogram »
where AD = 12 cm. /
,CD=6cm. ,DE=5cm.andDELBC € B
Find the area of the parallelogram.
then calculate its height drawn from point D on AB

@®) Calculate the perimeter of
the opposite figure where
-

AM=35¢m.(n=2—$ A M B

w
1 5em. |V

m

B} @ Solve the equation : 75=5 x + 7 x 10

@) a - b » c and d are four natural numbers whered>a,b<c,c<d.,b
< d and b > a Represent these data on a number line.

@ Draw on the coordinates plane the triangle ABC where A(1 ,0) .B (2 » 2)
and C (2 , 5) ,then draw its image by reflection on BC

Am. s @Yl aa

@) The following table shows the recorded tempratures in 40 cities

(1) Find the number of cities with temperatures less than 24 degrees Celsius.
(2) Draw each of the histogram and the frequency polygon.
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Answer the following questions :

n Choose the correct answer :
(a) The number of axes of symmetry of trapezium = -
(0 or 1 or 2 or 4)

(b) The perimeter of rhombus is 20 cm. and its height is 6 cm. , then its
areg = - cm? (30 or 120 or 24 or 26)

(¢) X and y are two numbers where their sum is 10 theny = -
(10+ X or 10—x or x—10 or 10 Xx)
(d) The multiplicative identity in N is -........ : (0 or 1 or 2 or 3)

Complete the following :
(a) The smallest natural number --......
() If: 2 x=10 then x = -
@©@0+a=a+0= - (e property)
@If:A3,7)and B (5,7) sthen C (= 5 oo ) is the midpoint of AB

El @ Three times of a natural number X is 8 more than the multiplicative
neutral. Express this information in an equation and solve it for x

(b) By using the properties of operation in N find the result of the

following :
(1) 18 x 99 (2) 56 x 1002
(3) 4 x 49 x 25 (4) 156 + 871 + 344 + 129

H (a) In the opposite figure : A
ABC is a right-angled triangle at A 5 '%
AB=6cm. . AC=8cm. .BC =10 cm. -
» AD L BC Find the length of : AD # E—

10em. ——

(b) Which is greater in area ?
A rhombus in which the lengths of its diagonals are 6 cm. and

8 cm. or a parallelogram in which its base length 4 cm. and its
corresponding height 8 cm.

E(aj In the cartesian coordinates plane > from the following figure. Find the
image of the square by reflection on the straight line L where A (5 » 2)
»B(7,4),C(9:2),D(7,0)




Q -
@ N

Y / A

i

Then find : ¥

(1) The image of A
by reflection in the
straight line L.

(2) Theimage of Bby ¢
reflection in the 3
straight line L.

(3) The image of C
by reflection in the
Straight line L. = .0 1 5 3 4

(4) The image of D ‘ =  a
by reflection in the
straight line L.

AL

(b) Represent this data by a histogram and frequency polygon :

. Sets | 0- [ 10- | 20- | 30— |
Fiﬁ*ﬁﬁh_e‘ﬁ@:y-_{ 40 20 30 10 |

 Model (¢

Answer the following questions :

El Choose the correct answer :
(@) If O is the set of odd number , then O - N (€ or & or C or )

(b) The side length of a rhombus is X and its perimeter is P the
mathematical relation between P and xXis : P = -

(4x or x+4 or XxXx—4 or Xx+4)

(e) The number of axes of symmetry of an equilateral triangle = - :
(zero or 1 or 2 or 3)
(d) The type of the opposite transformation is - Sl
( translation or reflection or rotation )

Complete the following :
@If: X={x:xeEN,1<x<5},then X =~

(b) If we subtract 5 from twice the number Z , then we shall get the
number ..........

(e) The circumference of a circle with diameter length 20 cm. is
(@) If x is an even number , then (x + 1) is - number.

F

Py

9
!
i

By
_—

™

el
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@“@ The area of a piece of paper is 312.5 cm? If 7 congruent squares with
diagonal length of each 9 cm. are cut off. Find the area of the left part
of the paper.

@) Find the radius length of the circle if its circumference is 66 cm. (7t = 22)

n (@) Use operaftion properties in N to calculate.
(1) 25 x 9892 x 4 (2) 862 + 199 + 138 + 801

) Solve:2x+3=15,XEN

@ In a coordinate plane. Represent the points :
A(2,3):B(3,5)and C (5, 3) > then find the image of A ABC by
reflection in AC

(b) The following table shows the number of students who practice
sports. Represent these data using pie graph :

Basketball | Volleyball |
10 10 ]

Answer the following questions :
Kl Choose the correct answer :

2
@5_5 N (€ or &€ or C or &)
@) The smallest natural number is - (0 or % or %
@) The type of the opposite transformation is -........ /‘ /‘

( rotation or translatation or reflection)
(d) The circumference of a circle = -+
(2md or ;tr or 47wr or 27r)

Complete the following :
@ 20 — X = 17 > then X = =
@ - s »12 5 24 , 48 (in the same pattern)

(@ The lengths of two adjacent sides of a parallelogram are x and y »
then its perimeter = -

@If:A2, ?) and B (2 » 3) » then the coordinates of the midpoint of AB
are ( ........ -y )




E} @ Five even natural numbers ; the greatest number is x + 13 » write
down these number.

@ In the opposite figure : D A

ABCD is a parallelogram in which
AB=10cm. .DE =12 cm.
» DF = 8 cm. find : the length of BC C F B

fe% &

scm.
0

@ Solve the following equations :
(1)3x+5=26 XEN
(2) £ x—2=10 XEN

@) If the area of triangle = 6 cm? and the length of the base = 3 cm. Find
its corresponding height.

@ In the orthogonal cartesian coordinates locate the points A (8 » 2)
+B(3,2),C(3,6)andD (8,6) ,then complete :

(1) The length of AB = - unit.
(2) The length of BC = - unit.
(3) The figure ABCD is -
(4) The perimeter of the figure ABCD = ---oee unit.
b Usmg tha foﬂnwing table of data to make the histogram :
ots 65— [ 7- [ 9- [ 11— |
4 12 9 [~

Model m é

Answer the following questions :

Choose the correct answer :
@) an odd number + an even number = - number.
(odd or even or prime)
@) The number of axes of symmetry of the square = -~
(0 or 2 or 3 or 4)
@) The area of a rhombus whose diagonals lengths are 4 cm. and 10 cm.

iS - CM2 (40 or 80 or 20 or 10)
@ The valueof xwhenXx+1=3 - the value of xwhen 2 x=6

(> or = or <)

1

(Y :r]‘rrr;fu:h:.,iﬁﬂ.;rwc_,.t'l bl elall 161 |

—
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Ed complete the following :
(a) The multiplicative identity element in ¥ is
(b) The penmeter of a rectangle is 20 cm. If its length is X cm. , then its

(e)If: A(4 ,5) and C (4 5 12) then the length of AC = - length unit.
(d) EN P =+ where E is the set of even numbers and P is the set of

prime numbers.

In the opposite figure :

There is a window which has the form of a square whose side
length is 70 cm. and above it , there is a semicircle calculate.

(a) The perimeter of the window.
(b) If the area of the window is 6825 cm?. ,then find the area of the semicircle.

T0cm.

n (a) Use the properties of addition to find the value of : 38 + 47 + 62 + 53
(b) Solve the following equation : X + 45 = 75 (where X EN)

E (a) In coordinate plane :
Draw the triangle ABC where A(1 ,3)-B(4.,1).,C (4 ,7) »then
draw the image of triangle ABC by reflection in BC
(b) Represent the following distribution by frequency polygon :
| "sets” | 0- 4~ 8— | 12— | 16— |
| Fraqﬂﬁnc}r{ 6 10 12 5 g0

Answer the following questions :

2 El Choose the correct answer :
UH (H){—;-:" ,2} T (€ or @ or C or (,Z) 'N
;.» | (b) Double the number X subtracted 7 from it equals - i ’f;_

(Xx—7 or 2x-7 or 7x+2 or 14x) '
(e¢) The number of axes of symmetry of parallelogram = -+ , b
(0O or 1 or 2 or 4) |
v, (d) 39 x 115 =39 x 100 + 39 x oo (115 or 10 or 5 or 15)
d £ E Complete the following :
;' (@) 3,9 5,27 5, (in the same pattern)

(b) The sum of two numbers is 35 , one of them is X , then the otheris --------
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(¢) The area of the rhombus whose side length = 10 cm. and its height is

9.6 cm. = e cm?
A

(d) The opposite geometric transformation is -

EJ (@ The opposite figure is made up of an
equilateral triangle of side length 7 cm. and
a semicircle find its perimeter. (:rr. = 22 ) !

(b) A parallelogram has a base length nf 8 cm. and
a corresponding height of 5 cm. Find its area.

n (a) Use the distribution property to find the value of :
(1) 519 x 99 (2) 316 x 1001

(b) Solve each of the following equation :
(1) + x-1=10 (2)5x+1=16

B (@) On coordinate plane draw the rectangle ABCD where A (0 5 1) s B (3 5 1)
»C (3 ,5)and D (0 , 5) , then draw its image by reflection in BC

(b) The following table shows the marks of 40 pupils in mathematics

exam :
| Sets 10— | 20— | 30— | 40- | 50— | Total |
| Frequency 5 7 12 A 7 40 |

(1) Find the value of A

(2) Draw the frequency histogram and the frequency polygon which
represent these data.

Model m

Answer the following questions :

n Choose the correct answer :
@N—-C = e ({1} or {0} or N or @)
(b) The difference between two numbers is 5 , the smaller one is y s then
the greater number is -
(5y or 5-y or y-5 or
(e) The number of axes of symmetry of a scalene triangle = -~
(O or 1 or 2 or 3)

(€ or & or C or &)

y+5)

@ (L +1L)

T
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;L:-:_i Complete the following :
pr,! (ﬂ) If : (4 ,a):(Zb ,6) .thena= - s b= e
| ®)If:15—x=9 ,then x = -

The circumfereuce of the circle

© ~The length of its diameter
@If:86x15=86 x X+ 86 x 10 ,then x = -

(a) Using the properties of operations in N to find the result of the
following (write the used property)

.. (1) 612 + 154 + 88 + 846 (2) 125 x 19 x 8
(b) Solve the equation :2 Xx—4 = 8 where XEN

Ed @) In the opposite figure : D ﬁ .A
ABCD is a rectangle its area = 32 cm? Jt.q‘ w
»AB =BE =4 cm.
Find the area of the shaded part

(b) Find the perimeter 70cm.
of the opposite figure £
= 5) G D
" | ﬂ@a) In coordinate plane draw the figure ABCD in whichA (4 ,5) .B(1,1)
[ ,C (4,1)and D (7 »5)
‘*-’x (1) What is the name of the figure ABCD and calculate its area.
- (2) Draw the image of the figure ABCD by reflection in CA
‘Q (b) An employee spends his salary as follows :
L.E. 200 for clothes. @\
) L.E. 800 for food.
n' ¢ L.E. 400 for transportation and medicine. U
L.E. 200 for renting an apartment.

5'- A Graph that data on the opposite circle.

vodol g

Answer the following questions :

*( Kl Choose the correct answer :

d \ (@) The set of even numbers (E) U the set of odd numbers (O) = -

LO (P or O or E or N)
[ M If:6X=66sthen X = (6 or 11 or 66 or 60)

o

&y —

&

i
—e
. i m




AN

L

@@lf:(2,5)=(2+x,5) sthen x = (0 or 1 or 2 or 3)

3 7 ) (x—=10) -~ (X — 9) where X is a natural number more than 12

“( (> or < or = or )
ii,_,.- ' Complete the following :

N (@) The additive identity in i is - but the multiplicative identity is -
> i (b) If we add 2 to three times the number y , then we shall get the

“ = number ..........

(e) The coordinates of the midpoint of a line segment which its end
points are (6 - 8) and (4 ,8) are -

@@ The square whose area is 24.5 cm? the length of its diagonal = - cm.

(@) Write a real life situation that can be represented by the equation
X+ 5=12,then solve for X

(b) Find by using the properties of oddation and multiplication
the result of : 99 x 15

Y @ Which is greater in area :

a garden of a shape of a triangle with base 8 m. and corresponding
height 7 m. or a land in a shape of a rhombus of side length 5 m. and
its height 10 m.

(b) If the circumference of a circle = 88 cm. Find the length of its diameter.

B @ On coordinate draw A ABC where A (0 ,3) B (2 ,0) 5C (2 5 5) s then
draw its image by reflection in BC

(b) The following frequency distribution shows the marks of a group
of students in an exam :

5—- | 10— | 15— | 20— | 25— | 30—~ | 35— | Total

(1) What Is the number of students who got 30 marks or more.
(2) Draw the frequency polygon for that distribution.

i
‘ -.( Answer the following questions :

# Kl choose the correct answer :
Q& @ (x + 15) - (x+17) s XEN (> or < or = or 2
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(b) Sarah saved L.E. x and her father gave her L.E. 5 she will have -

(5x or x+5 or x-5 or %)
@ If: A(2,3),B(255) s then the length of AB = - length unit.
(3 or 5 or 2 or 1)
(d) If the set of even numbers is E > then E - N

(€ or &€ or C or &)

Complete the following :
@If:X={x: xEN,1sx<5},then X ={ - }
(b) If :3Xx=15, XEN sthen X = =
(e) The area of the rhombus whose side length = 10 cm. and its height is

9.6 cm. equals - cm?
(d) The type of the opposite geometric transformation is - A /]
(a) In the opposite figure :
ABDE is a rectangle » C €BD §
Find the area of A ABC 2l |
D 2em. C B

(b) Find the area of a rnombus with diagonal length 7 cm.
and 9 cm. and if its height is 5 cm. Find its side length.

(a) Use the proporties to find the value of : 48 + 637 + 52 + 363

(b) Solve the equation : lx 41=3,xEN
3

(hf) On the coordinate plane : Draw the triangle ABC where A(2 ,1) sB (5, 1)
and C (5, 5) , then draw the image of triangle ABC by reflection in BC.
(b) The following table shows the recorded temperatures in 40 cities

i on aday:
~ | Temperatures | 20— | 22— | 24— | 26— | 28— | Total |
| Number of cities | 7 9 11 8 5 40 |
~ _ .
ﬂ* . Required :

(1) The number of cities with temperatures less than 24 degrees Celsius.
(2) Draw each of the histogram and the frequency polygon.

‘\
%

‘

&

=) /7
‘ ( Answer the following questions :
N\

P n Choose the correct answer : ~

S (a) The least prime number x any prime number = - number.
W (odd or even or prime)

Q
"
Ii‘lﬁﬁ‘ i
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(b) The number of axes of symmetry of the parallelogram = -
(zero or 1 or 2 or 4)

i

{ (e) Subtracting 3 from double of the number x = -
;*; (Xx-3 or 2x-3 or 3x+2 or 5X)
NoA @) (4 x oo ) x 78 = 7800 (5 or 25 or 50 or 125)
&
;__ Complete the following :

@) If : 945 = (x x 100) + 45 ,then x = -

®) If : ( x,g)_(z s y) s then 5 = e Sy = e
(©) A rhombus of area 48 cm? , its height = 4.8 cm.
» then its perimeter = - cm.

(d) The lengths of two adjacent sides of a parallelogram are x and y »
then its perimeter = -

EJ (@ Write by the list method the set X = {x : xEN ,2 < x <7}
» then represent its elements on the number line.

(b) Solve the equation : 2 X+ 5 =17 » X EN

u (@) Find the perimeter of

the opposite figure
(b) Find to the nearest hundredth the area of <
a parallelogram whose base length is 34.75 cm.
and its corresponding height 28.17 cm.

Bl @) In the opposite figure complete :

J (1) A BEF is the image |
= of A AEF by reflection |
e [

across ..........

(2) A BDF is the image
of A CDF by reflection
e
across ..........
(3) A ABF is the image
of A CBF by reflection

4 '( across ...

42N (4) A BEF is the image
i_, ’ of A BDF by reflection
..lf:: across —.....

S

=
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(B An employee spends his monthly salary as follow
1000 pounds for food. » 500 pounds for clothes » /<|_\
250 the rent of the flat and 250 other spending.
Represent these data on the shown circular U
sectors.

Model

Answer the following questions :

Choose the correct answer :

C (5 » 3) » then find the image of A ABC by reflection in AC

-
"\-

@ (0.3 +27) N (€ or & or C or &) =~
®IfF:(3,x—-2)=(3,7) sthenXx = (7 or 9 or 5 or 3) dp;
@If:x+2=5,xEN,thenXx= (2 or 3 or 5 or 4) _
™ @N-E= - (N or O or E or P) =
a3 Complete the following : ‘&
™ @) The multiplicative neutral element in natural numbers plus 9 = -+ "
w M) If:15x34=(5+10)x X .then X = -~
(©) The number of axes of symmetry of square = -
@ The length of the base of a triangle whose area is 240 cm? and its g 5
H‘ height = 10 cm ig oo
f , In the opposite figure :
X ABCD is a parallelogram in which
AD = 24 cm. , E is the midpoint of AD
\& » BF = 15 cm. » the area of A ABE = 60 cm?
Find :
= (1) The area of the parallelogram ABCD
@ (2) The length of AB
> . (3) The perimeter of the parallelogram ABCD
3 ﬂ@ Using the properties of operations in N to find the result of each of the
following.
(1) (64 + 135 + 36 + 65) x 17 (2) 84 (25 x4 + 125 x 8)
x(’ (@ Solve the equation : 3 X+ 8 = 29
¢ "’”‘ @ In a coordinate plane. Represent the points A(2 ,3) B (3 ,5) and
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(®) A librarian made an inventory of the bnaks in his library and
-V, the:r types. He found the foﬂawmg 4 of the books are religious,
| y ( ~ of the books are literary » - of the books are scientific.
A
&

Graph that given data using a pie graph. If the total of books was 800
5 Find the number of each type of books.

&3

= Answer the following questions :

Choose the correct answer :
@ {27} . (€ or &€ or C or &)

@) The area of the largest rectangle whose perimeter is 24 cm. = = cm?
(32 or 36 or 72 or 144)

@ If the side length of a rhombus is X , its perimeter is P , the
mathematic relation between xand Pis x = -+

(4P or P+4 or P+4 or P-4)
@) The type of the opposite transformation is - (1Y

( translation or reflection or rotation)

Complete the following :
@) The smallest natural number is -

_r"' @) Odd number + even number = - number.
-"'._,. @lf:(d,,?):(23,b_1)5thena= .......... ’b=
= @If:(x+2)x15=8x15 ,then x = -

\Q @ The lengths of the diagonals of a rhombus are 12 cm. and 16 cm. and
its height is 9.6 cm. Find its side length.

) (b) Use the properties of operations in N to find the value of.
@ (1) 25 x 38 x4 (2) 44 + 66 + 56 + 34

s Q: @ Zahraa saved 14 pounds , she bought 3 notebooks of X pound for
- each. The remainder with her was 8 pounds. Express these situations
by an equation.

@ Calculate the perimeter of the opposite figure where m
AM = 35 cm. (0 = 22) -

L

v, B M A
d £ @) On the coordinate plane :
P Graph the points (4 ,3) 5 (4 59) » (7 5»9) and (7 » 3) join them in the
el same order and name the figure you obtained.
9
- (Y1) ¥ o/ iz 000l £ Sl ol | 4 20
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(b) Represent the following distrbution by frequency polygon :
| Sets 0— | 2— | 4- | 6— | 8- |
| Frequency 3 7 8 9 2 |

Answer the following questions :

n Choose the correct answer :

(a) The number of axes of symmetry of square = -
(0 or 1 or 2 or 4)

B If: x+3=5,XxENthen x= (1 or 2 or 3 or 4)

(c) If we multiply the number X by 7 , then we subtract from the result 3
we shall get (7xX+3 or 3x+7 or 7xXx—-3 or x—21)

(d)1 24 39 516 5 e (23 or 24 or 25 or 20}

Complete the following :
(a) The circumference of a circle with radius lengths 10 cm. is
®If:xX={X: XEN,2=5x<T7} thenx={ =}

(¢) The least natural number is -
(d) The type of the opposite transformation is

----------

(;a) Use the properties of addition to find the value of :
38 +47 + 62 + 53

(b) Which is greater in area ?

Triangle whose base length 18 cm. and its height 12 cm. or rhombus
with diagonals lengths 24 cm. and 8 cm.

n (a) Find the radius length of circle which its circumference = 88 cm. (n: = 2_?2)
(b) Solve the equation : 3 x+5 = 26

(a) In coordinate plane :
Draw the triangle ABC where A(1.,3)-B(4,1) ,C
draw the image of triangle ABC by reflection in BC

(4 ) ?) » then

(b) The following table represents the marks of pupils in maths test
» represent these data by a frequency polygon.
| Sets 5— [ 10— | 15— [ 20— | 25— |

. Frequency 5 10 17 7 2 |
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: ‘ ( Answer the following questions :
: ; Kl Choose the correct answer :
N @i{2.3,03} N (C or € or & or &)
q‘. @N-E=vme (E or O or P or KN)
& (¢) The number of axes of symmetry of the rectangle = -
(0 or 1 or 2 or 4)
@if: x-3=7,.,x€EN,thenx=- (4 or 3 or 10 or 21)

Complete the following :

(a) The width of a rectangle is X cm. its length is longer than twice its
width by 3 cm. , then the length of the rectangle is - cm.

(b) The number 5 lies on the right of the number - directly and on the
left of the number -

(e) The area of a rhombus whose diagonals are 6 cm. and 8 cm. is

.......... szl
@If:A5,7)and B (3 ,7) sthen C (- 5 ) is the midpoint of AB @
D
= @) The opposite figure shows 28m. )_
J! a football playground. : Q 1
/. Find the distance around 3 S{
= the figure when 7t = 22 V)
‘Q (b) Use operations propertes in N to calculate : 25 x 781 x 4 x
KBl @) Solve these equations : L?;
= (k-72=72 (2) 6 n =48 )
4 (b) In the opposite figure : 10
r; | ABCD is a parallelogram in which D A ; Z\
AB =10 cm. , DE =12 cm. , DF = 8 cm. | e /S f-
Find : (1) The area of the parallelogram ABCD @ £
) (2) The length of BC C F B [ &
< N7
‘_ ( E (@) In the two dimensions cartesion coordinates :
N Determine the points A(2 ,5) »B (6 s 2) and C (5 » 8) » then find the ﬁ‘
i_f length of BC by measuring. gs
3 —, &
=

L
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(b) The following table shows the marks of 40 pupils in
mathematics exam.

(1) Find the value of A.

(2) Draw the frequency histogram and frequency polygon which
represent these data.

40 —
A

50 —
9

Total |
40 |

Answer the following questions :
EB Choose the correct answer :

@) The least prime number x any prime number = - number.
(odd or even or prime or otherwise)

(e) Twice the number y subtracted from it 4 the symbolic expression for
this situation is -~ : (y—4 or 2y—-4 or y+4 or 2y+4)

(d) The type of the opposite transformation is -+
( rotation or translation or reflection)

Complete the following :
@IfF:A@B,7)and B (5,7) ,then AB = length unit.
() If : X is an odd number ,then X + 2 is number.
(e The circumference of a circle with diameter 21 cm. is - (:n: = %,3 )
@ The perimeter of the equilateral triangle whose side length is { cm. =

iiiiiiiiii

E) @) Using the properties of commutation , distribution and
association. Find the value of each of the following :

(1) 8 x 731 x 125 (2) 28 +59 + 72

(b) The age of a man now X years where X EN Find :
(1) The age of the man after 9 years.
(2) The age of the man since 8 years.

K} In 2-dimensional coordinate plane locate the points A(2 ,0) s B (4 ,0) »
C (0 ,5)and D (0 , 3). Find the area of the shape ABCD

{h’) If the area of the square = 72 cm? Find the length of its diagonal.
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(b) Represent the following distribution by frequency polygon :

[wsets © | O- | 4- | 8- [ 12— | 16— |
| i’&ﬁ’uﬁnnvga 7 3 10 12 4 |

s Model & (g,
P Answer the following questions :

n Choose the correct answer :

(@) The set of even numbers -------- the set of natural numbers.
(C or € or & or &)
(b) If X is an odd number sthen X + 3 ig number.

(odd or even or prime)
(©) The number of axes of symmetry of the rhombus equals -
(zero or 1 or 2 or 4)
@If:x={x: xEN,2sx<4} ,then x= -
({3} or {2,3} or {2,3,4} or {2})

Complete the following :
@ The least number in the set of counting numbers is -
(b) The sum of two numbers is 20 one of them is X , then the other = -+~

@ If: A(2,3)and B (2 , 7) the length of AB = -+ length unit.

@@ The area of the square = % %

h
‘& @) Which is greater in area ?
: The triangle whose base length is 12 cm. and its corresponding
height = 8 cm. or the parallelogram in which the length of

g' ’ the base = 10 cm. and its corresponding height =5 cm.
o() Solve the following equation :
P (1) X+3=17 XEN

(2)2x+7=23XEN

ﬂ@ Use the properties of operation in X to find the result of each
(write the used property)

(1) 156 + 871 + 344 + 129 (2) 27 (25 x 4 + 125 x 8)

() A jam jar has form of a cylinder its base is a circle with diameter
lengths 7 cm. Find the circumference of its flat base.

|1?3

3%y @i}a s ﬂjld.u @m }'5 Ua.d.i.uﬂ U.Tﬁ)él: @5.4.1 el Jeall
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El (a) In the coordinate plane :
Draw the triangle ABC in which A (5 ,5),B (2 ,5)and C (3 »7) » then

@& Vo

a0

i

. s @Yl a

I
F

@

W/

i

draw the image of triangle ABC by reflection in AB

(b) 220 candidates have applied for a test to
hire male and female anchor persons in
the televison. If the opposite pie graph
represents the given data ; what is the
number of female candidates who applied
for that test ?

Answer the following questions :

n Choose the correct answer :
(@) (xX—1Q) oo (X — 9) where X is a natural number more than 17
(> or < or or )

(b) The type of the opposite transformation is = /l I\
(reflection or rotation or translation)

(¢) The number of axes of symmetry of the parallelogram = -
(0 or 1 or 2 or 4)
(8 or 2 or 6 or 7)

(@If: x-3=5,xXEN ,then x= -

Complete the following :
(a) If : 945 = (X x 100) + 45 ,then X = -

(b) If we subtract 8 from twice the number z , then we shall get the

numher TR
The circumference of the circle

© The length of its diameter T
(d)15152:3:5,8 5000 grsemress (in the same pattern)
E} (a) In the opposite figure : 5 isem. i
ABCD is a parallelogram in which _
AD =18 cm. »CD =12 cm. DF L BC o é
s DF =10 cm. and DE 1L AB =! E
C F B

, calculate the length of DE
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(b) In the opposite figure :
The length of the diameter AB
of a semicircle is 14 cm. A B

Find the distance around the figure (:n: = -2?3)

n(a) Use the properties of operations to find the result of :
(1) 38 +47 + 62 + 53 (2) 8 x 37 x 125

(b) Translate each verbal statement into an equations :
(1) A number if added to 17 the sum is 28
(2) If 9 is subtracted from a number , then the result is 23

Bl (a) Draw A ABC where A (2 » 5)>B (5,2)and C (5 » 8) »then find its
image by reflection a cross BC

(b) Represent the following distribution by frequency polygon :

|  Sets ;ﬂ,‘ 5— | 7- | 9— | 11— | 13— |
| Frequency | 4 12 10 7 8 |

Answer the following questions :

n Choose the correct answer :
(a) If : E is the set of even numbers , then E - ¥
(€ or &€ or C or &)

(b) The multiplicative identity element in i is -
(0O or 1 or 2 or 4)

(¢) The sum of any two natural numbers -+ I¥
(€ or &€ or C or &)

(d) The number of axes of symmetry of an isosceles triangle = -
(0 or 1 or 2 or 3)

El Complete the following :
(@) If:A(2 »5)and B (4 »5) » then the midpoint of AB is the point ( -+ gimmeazne )
(b)If:3x=21,thenXx =
(c¢) Double the number x subtracted 8 from it equals -
(d) The square whose area is 32 cm? the length of its diagonal = -+ cm.
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@ Use the commutative and associative property to find the value
of 14 x72 x25

() Graph the figure ABCD where A (2 ,8) .B(3,4),C(8,4)and D (7 »8)
what is the name of the figure ABCD ?

n The opposite figure shows 21m,
a football playground find _
the distance around the =

figure when (:l'l.'. = 2—??)

@ Solve the equation : 1 x—2=8

(b) The following table shows the number
of students who practice sports.

Represent these data using pie graph
on the uppnsrte figure : U

Basketball | Volleyball |
10 10 |

3-

e )

I
y
A )
s

;‘

m@";z_::r;;a; | am-.m puelil| aalt |
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Answer the following questions :
B Choose the correct answer :
[al] f X+8=15 , XEN,thenX= e

(3 or 7 or 6 or
[b] The number of axes of symmetry of the rhombus -

(1 or 2 or 3 or

[c]If2X=6,then X = «revennen. (5 or 1 or 4 or
[d] The area of a triangle whose base length is 10 cm. and the
corresponding heightis 5 cm. = oo cm?
(50 or 15 or 25 or 5) ‘.-x
L
Complete the following : 2,\
[a] 7 x15=15xasthena= . $ 1
[b] The sum of two numbers is 21 one of them X , then the other = .- X
[c] The perimeter of the square whose side lengthis Lcm. = .o om.. '
‘Q [d] The area of the parallelogram = .- X reneesanseiee, @
[a] Solve the following equation : L? ,'
) 3X-5=10,XxX€EN N
" [b] Complete : Twice the number X subtracted 8 from it = - ' A
[a] The square whose diagonal length is 6 cm. Find its area. q
% [b] In the orthogonal Cartesian co-ordinates determine
/ the points A(2 ,5) » B(6,2)and C (5, 8)
d £ » then draw its image by reflection in BC
[a] The circle whose diameter length is 14 cm.
N Find its circumference. (:n: = 2—72)
&

= g8

b
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[b] The following table shows the frequency distribution of the
number of work hours of 50 worders :

Sets 4 — 6 — 8 — 10 — Total
Frequency 12 8 16 14 50

Draw the frequency polygon which represent these data.

Choose the correct answer : %
[a] FX={X: XEN,3<x<5}.thenx=- §
| ({3} or {4} or {3 4} or {3,4,5}) i
[b] 25 --ooveeens R (C or & or &€ or €) §
[c] The smallest natural numberis ... (0 O 1 or 2 or 3)
[d] (8x3)x5 =i x (3 x5) (3 or 5 or 8 or 35) §

Cl. Mary & Qehonl

. Eod El-Faran Educational Lone
e Cairo Governorate | o

Answer the following questions :

§ Choose the correct answer :
[a] The number of lines of symmetry of a rectangle is -~
(O or 2 or 3 or 4)

H Ib] The area of a rhombus whose diagonals 10 cm. > 20 cm. ig - cm?
@ (400 or 300 or 200 or 100)
A ’ | [c] If the side length of a square is X and its perimeter is P
s then P= i (4X or X+4 or X—-4 or 4-X)
[d] The area of a square whose diagonal length 6 cm. is -~ cm?

(18 or 36 or 12 or 24)

Complete :
[a] If the diameter of a circle is 14 cm. , Tt = %

» then its circumference = oo CM.
[b] The number of axes of symmetry of the rhombus equals -

[ g

@ t : y

au
“.
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[c]if X+3=12 sthen X = --veevnee.

“‘xﬂ

[d] Shorouk saved L.E. y and her father gave her L.E. 12 , then she has
.
oA [a] In the opposite figure : -
.‘,", M Find the perimeter of the figure E )
= where gt = 22

15 [b] Ahmed has L.E. x , Samir has L.E. 10 and the sum of what Samir
& has and the twice of what Ahmed has is L.E. 24 Write an equation to
represent this situation and find the value of x

[a] In square shaped piece of land with diagonal length 28 m., a square
shaped house with side length 15 m. has been built on it and the left
part was used as a garden. find the area of the garden.

[b] In a 2-dimensional coordinate plan , draw A ABC where A (2 , 5)
»B (5 52)and C (5 , 8) » then find its image by reflection across BC

[a] Which is greater in area ? A triangle whose base length = 9 cm.

and height = 8 cm. or parallelogram in which the length of
the base = 8 cm. and its height = 6 cm.

[b] The following table shows the daily wages of workers in a company :

Sets 20— | 30— | 40- | 50— | 60— Total
Frequency 8 10 16 12 4 50

Draw the frequency histogram and frequency polygon which
~ represent these data.

{" *Addiﬂonal-quesﬁon- T
i AR T o e Sl e T e fpm!

: Complete :
[a] The multiplicative neutral element in N is -

PO O S S SRR Ty,

LU | "‘
P

d g [b] The sum of two odd numbers is - ceveo. number.

i [€]1 54 58 513 5o S (in the same pattern )
= / [d) 74 x (73 +.27) = T4 x cwsivissamiiniisiing

A=
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Answer the following questions :
o Choose the correct answer :
[a] Subtracting 3 from double of the number X = «-----enee-
(x-3 or 2x-3 or 3x+2 or 5x)
[b] If x + 3 =12, then the value of X = ---wveevne.
(12 or 4 or 15 or 9)
(] The area of a square whose diagonal length is 8 cm. = ---eeeee. 2
(64 or 32 or 16 or 8)
[d] Circumference of the circle = - ...
(wr? or 2mr? or Lme® or 2mr)
[e] The number of symmetry axes of an equilateral triangle = -------- v
(O or 1 or 2 or 3)

i".
6

8]

Complete :
[a] Arhombus of area 48 cm? , its height = 4.8 , then its perimeter

— PSR cm.

\ [b] 7 x15 =15 x X sthen X = «-rovienenee
[c] The sum of two numbers is 35, one of them is X , then the other
[d] The square whose perimeter is 32 cm. ,its area= . cm?2

[e] The base length of a triangle is 8 cm. and its height 5 cm.
»then its area = -+ ... cm?

=
QY (a] In the opposite figure : D A
ABCD is a square ; its perimeter is
-V, 60 cm. s E €BC and BE = 35 cm.
d ( Find the area of the figure ABED E s B
N

35 cm.
N [b] Solve the equations :
2 (1)3x+8=29 (2) L x+8=10

?

i




[ gt =]

swww.zakroolylce

AN .
% Final Examinations -

[a] Which is greater in area ?

Y, A rhombus in which the lengths of its diagonals 6 cm. , 8 cm.

d \(., or a parallelogram whose base length is 7 cm. and height 4 cm.

P [b] In the orthogonal Cartesian-coordinates locate the points
AB,2)-B(3:2),C(3,6),D (8 ,6)then complete :

~B (1) The length of AB = - units, the length of BC = - units.
&= (2) The figure ABCD is «eeeeeeee

(3) The perimeter of the figure ABCD = ----..coo.. units.

The following table shows the daily wages of workers in a company :

Sets 20— | 30— | 40— | 50— | 60— | Total | v
Frequency 8 10 16 12 4 50

Draw the frequency histogram and frequency polygon which represent
these data.

: ' -
. Use the commutative , associative properties to simplify finding the resultof : ;  ©°
(1)93+1?5+102 (2)4 x 175 x 25 :

o Cail'o GOVEFHOF&tE | El-Nozha Directorale of Edueatlion

Our Lary of Perpetual Suecour School

Answer the following questions :

=) o Choose the correct answer :
v ‘ [a]IfX+7=19 , XEN »then X = v '
2(") (26 or 12 or 11 or 13) ! 4

[b] If the longest chord in a circle is 7 cm. » then the circumference hﬂ
/ of the circle is -------------- cm. where (LTIJ = 2—?2) s

(35 or 7 or 22 or 44) @‘w
2 ’( [c] A rhombus in which the lengths of its diagonals are 10 cm.,and 12cm.

* \ Its area = oo cmM? (120 or 60 or 24 or 32) p‘
g ' Id] Twice the number x subtracted 7 from it = -« AAS
a:f'l (7-x or 2x—-7 or 7x+2 or 14x)

J= |

= 46 (
[l &p'@*}whﬂﬁma-w 5’9 ua-d-'-d' A5l gdgad (ol Jaal! 'M\m )
AT D EBERD| | (Mg pmolindl asalt | v




Complete the following :
[a] The number of axes of symmetry of the rhombus = ---........

d (b]If3x=15,XEN ,then X = e

I [c] The length of the diagonal of a square with area 18 cm? = oo

™ [d] A parallelogram in which the lengths of two adjacent sides are 5 cm.
A and 7 cm., the length of the smaller height = 4 cm.

= ,thenitsarea= - cm?

[a] Which is greater in area ?

A square whose diagonal length is 10 cm. or a right - angled triangle
in which the lengths of the sides of the right angle are 8 cm.
and 15 cm.

[b]Solve:2x+9=21 , XEN

N

+ [a] In the opposite figure :

™ The length of the diameter AB

‘ of a semicircle is 14 cm. v

7
[b] Draw the triangle ABC where A(2 :5) s B(5,2)andC (5,8)

ot , then find its image by reflection across BC

A M B
Find the distance around the figure (;rr: = g)

Y [a] If the area of a rhombus is 30 cm? and the length of one of its
“ diagonals is 6 cm. Find the length of the other diagonal.

\Q [b] The following table shows the frequency distribution of the
2 number of work hours of 50 workers :

Sets 4— | 6- | 8= | 10— | Total
Q ] Frequency | 12 8 16 14 50
5,-- | Draw the frequency histogram which represents these data.
quampIete »
v, [2] The set {a:a EN > a <4} in the listing method = .
( [b] The property used in:a x (b xc) = (a xb) x Cig -eev
| ; [c] The additive neutral element in N is «oeee. :
. iMd1,2,3.5, 85 g e, (in the same pattern) :
L : . A S R T R s
a |
3= ,
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Answer the following questions :

o Complete :

a [a] If the long base of parallelogram is 8 cm., short base 5 cm. and its short
- height is 4 cm. sthenits area = - cm?

[b] The circumference of circle whose diameter length 7 cm.

RS s =£
is cm.(:rt: ?)

[c] The area of rhombus = % ............... .

[d] f2x=10 ,then X = ---ieiovrene
[e] The polygon ABCD = the polygon XYZL sthen £ A=/ e

Choose the correct answer :
La] If the circumference of a circle is 44 cm. » then its radius length

= e cm. (14 or 7 or 22)
[b] The triangle whose base length is 5 cm. , and the corresponding
| height of itis 6 cm. sitsarea= .-.cm? (30 or 15 or 25)
| [c] The area of the square with diagonal length 6 cm. is - cm?
(36 or 18 or 12)
[d]if x+8=15,xEN then X = ccve. (3 or 7 or 6)
[e] The shaded triangle is an image of the other triangle by ... .

(reflection or translation or rotation)

» Solve the equations :
#_“ @l 2x+9=21,.,XEN [b] X-5=2,XxXEN

[a] In the Cartesian co-ordinates plane draw the triangle ABC where
A(2,1)>B(5,1)and C (5 ,5) , then draw the image of the triangle

by reflection on BC

L

[b] Calculate the perimeter of the opposite figure :
(== %)

‘ca

an;
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The following table shows the frequency distribution of the number
of work hours of 50 workers :

A e

L( | Sets 4— [ 6- | 8= [ 10- | Total

P Frequency | 12 8 16 | 14 50

a Draw the histogram and the frequency polygon representing these data.

K= - Additional QUESHION ~ecmssewsosmmmcmmmmmscsossmmseccns N——
% Choose the correct answer : z
| [a] (4 x s ) x 78 = 7800 (5 or 25 or 50 or 125) |
. [b] If O is the set of odd numbers  E is the set of even numbers ,then |
% & i e — (N or O or E or (Zj)
a [c] (2 +6) e N (Eor & or C or ) .5
§ [dlc—a- - ~— where a , c are two natural numbers. %
i (< or = or > or 2) |

e o D D S S i D i S S e o T o e e e e o S e e e e e

” HdrIJH [JHI[H =L Lol IIIJ[]I

6 Giza Governorate Bnm‘ El-Dakror Edueational Directorate

/ Answer the following questions :
n Choose the correct answer :

\Q [a] Fx(75+10)=9x85,thenx=-. (& oOr 85 or 9 or 8)

[b] The number of axes of symmmetry of the scalene triangle is -
(0O or 1 or 2 or 3)

> [c] The length of the base of a triangle whose area is 240 cm? and its
) height is 10 cm. is oo cm. (4 or 12 or 48 or 240)

Q0 [d] Twice the number X subtracted 3 from it -
| (x-3 or 2xXx+3 or 2x-3 or 3-2Xx)

Complete the following :
[a] The square whose area is 72 cm? , the length of its diagonal = - cm.
[b] If the age of a man now is X yearss, then his age after 7 years = oo
: [clf5x—-7=33,then X=-neenn.
{ Id] The longest chord of a circle is 7 cm. the circumference
= v M. Where (3-[; - E_?E)

L

Q o
S =3

W/

(Yp)Y e | e [ (Worksheets & Examinations) olal, ;#I’:E:‘l 49

i

=] 5> @*}' e "-U'*-‘-‘-' a—w 5’9 ua-d-'-d' S @}u el J«aﬂ 'MQ‘

In;



—il

[a] A rhombus in which the lengths of its diagonals are 12 cm. > 16 cm.
and the height is 9.6 cm. calculate its area and its side length.

[b] In the two dimensions Cartesian co-ordinates, determine the points
A(2,5) » B(5,2) , C(5,8),then:
(1) Find the length of BC
(2) Draw its image by reflection across BC
(3) Calculate the area of A ABC

[a] Three times of a number X is 8 more than 1 , express it in an equation

and solve it.
[b] Find the perimeter of the opposite figure : E_ .A
_ 22 5 S
Where(:rc—7) (._ ..>
C 24 crm. D
(2] In the opposite figure :
ABC is a right-angled triangle V %
AB=6cm. ,AC=8cm. and BC =10 cm. i .
B
- 10 em.—————

Find : (1) Area of A ABC (2) Length of AD

I[b] The following table shows the frequency distribution of the
number of work hours of 50 works :

Sets 2 — 4 — 6 — 8 — 10 — Total
Frequency 8 9 15 16 2 50

Graph these data using the frequency polygon.

Use the commutative and associative properties in N to calculate
each of the following :

(1)?2+89+28+11 (2) 8 x 37 x 125
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Answer the following questions :

B Choose the correct answer :

[a] Adding 8 to double X the symbolic expression is -
(2x+8 or 8-2x or x+8 or 8+3x)

[b] The area of rhombus whose diagonals are of length 12 cm. and 16 cm.
= s G (56 or 28 or 96 or 129)

[c] Isosceles trapezium has - line of symmetry.
(4 or 2 or 1 or 3)
[d] The circumference of a circle whose diameter is 14 cm.

equals - M. (JI:E—;?) (44 or 22 or 88 or 100)

[e] Area of the opposite triangle |
1

0.4 dm.

(12 or 24 or 43 or 6)

Jcm

[a] Complete the following :

(1) The area of the square whose perimeter is 24 cm. equals --.. gm?
(2)5x=10thenx=-e.
(3) Square has - lines of symmetry.

(4) The image of A CAB
by reflection across BCis A rovvineeee

B Which is greater in area 7

A square whose diagonal is 10 cm. long. or a right-angled triangle in
which the lengths of the sides of the right angle are 8 cm. and 15 cm.
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[a] Graph the figure ABCD where A(2 ,7)-B(3,4),C(8,4).D (7 -7) @
,( What is the name of the figure ABCD ? m
"‘\ [b] Solve the equation : 5 x + 3 = 13 where X EN
Mg The following table shows the recorded temperatures in 40 cities on a day :
N
=
&= Temperatures 20— | 22— | 24— | 26— | 28— Total
Number of cities 7 9 11 8 5 40 J

Represent these data by frequency polygon.

e o o e o D et e o i mCmi

{- Additional question -
Complete :

[a] The multiplicative identity element in N is -

[b] (9x4)x3 =i x (3 x4)

[c] The set of natural numbers less than 5 is oo

[d] 153 5,9 327 5 s 5 s ( in the s@ame pattern )

B
P e R P e e

f
% 0 Giza Governorate Maths inspection
\Q Answer the following questions :
o Choose the correct answer :
[a] If we multiply the number X by 7 s then we subtract 3 from the result we
e get oo (7x+3 or 3x+7 or 7x-3 or x-21)
5#‘ | [b] If the side length of a rhombus is X and its perimeter is P , then the

mathematical relation between xand PisP = oo

(xX+4 or 4x or 4-x or Xx-4)

[c] The area of the rhombus whose diagonals are of length 12 cm. and Y w
16 CcmM. = -oeeeveees CMe (56 or 25 or 96 or 192) *

L P‘

[d] The geometric transformation b7 IS covererreenens :u

(translation or rotation or reflection) ¢
l
=

\




Complete the following :

[a] The shaded triangle is an image of the other triangle by ... = ]
[b] If the perimeter of a square = 32 cm., then its area = ... cm?
[cl]lf X—-3=56 , XEN,thenX=-ooeree

[d] The area of square whose diagonal length is 12 cm. is ... cm?

E) (2] Solve the following equation : 5 X —7 =33 , x €N

[b] In the Cartesian coordinates determine the points A (8 » 5)
,B(8,2) » C(5:52) 5 D(5,7) ,then draw the figure ABCD and

draw its image by reflection in CD

[a] Find the circumference of a circle whose diameter is 14 cm. » (n: = 3?3 )

[b] In the opposite figure : D A
ABCD is a square of side length 15 cm.
» E&EBC , BE = 35 cm.
Find the area of the figure ABED e T

The following table shows the frequency distribution of the number
of work hours of 50 workers :

Sets 4— | 6— | 8— | 10— |The Total |
Frequency | 12 8 16 14 50
Draw the frequency polygon to represent these data. 6
Ry <
f"‘“ Addi.ti.ﬂnﬂ[ QUESﬂOﬂ. ol s mxmwﬁ:ﬁm-vwﬂﬁmwwmmwmm% ? ‘L}:
| Choose the correct answer : 'T ;
[a] If O is the set of odd numbers > then O - N ?‘
(€ or &€ or C or &) ‘Q

[b] {2 53} erenennne N (€ or € or C or )
[r.] fFX={Xx:XENW,22x=23} ,then X = eoveees
({2,3} or {3} or {2} or O9)
[d] The least prime number x any prime number = - number.
(odd or even or prime or otherwise)

e e T T o e S ‘

:

— G Yy ol 51 e pal Jaall 1o B

‘gﬁi-h,ﬁiwlﬁﬂu-hl .7

e o N o e e R

o o e NN,

&
e e o e e B

%)
W




9 Alexandria Governorate " eation! Zone

Mathe ingpection

Answer the following questions :
) complete :

S [a] The area of a square of diagonal length 8 cm. = ... cm?
&z [b] If 35 + x = 18 + 35 , then X = ---wwwovon
[c] The triangle whose base length is 5 cm. and its corresponding height is
6 cm. then its area = «wovooeeees cm?

[d] The rhombus whose area is 36 cm? and the length of one of its
diagonals is 8 cm. » then the length of the other diagonal = -----------.. em.
‘:: Choose the correct answer :
™ [a] If we multiply the number x by 7 , then we subtract from the resuit 3
+« we shall get ...............
ﬁ (7xX+3 or 3x+7 or 7Tx-3 or 3-7Xx)

[b] The area of rhombus whose diagonals 10 cm. and 20 cm.
IS oo cm? (200 or 30 or 100 or 400)

[c] The sum of two numbers aand b is 10.thenb = --ceeee.
(10—a or a—10 or a+10 or 10-Db)
[d] The diameter length of a circle whose circumference is 44 cm.

\Q = e om. (0= 22) (28 or 21 or 14 or 7)

[a] On the coordinate plane, draw A ABC where A (3 ,5) »B (6 55) »C (3 »2)
s then draw the image of A ABC by reflection across AC

e [b] Complete :
o (" (1) The perimeter of an equilateral triangle whose side length
"2 isLcm.= - oM.
(2) The area of a rectangle whose length is X cm. and width
G I8 B O, = cavvess sz_
407 [a] Solve each of the following equations :
J£ (1)3x+7=19 (2)2x-15=7
,_-ﬂ > [b] Calculate the perimeter of the following figure 5 >
» where (Jt = g?g) oo

® 0

b




. [a] In the opposite figure : >
) 7 ABC is a right-angled triangle at A, AD 1 BC on,
é g Find the area of A ABC and the length of AD
>

[b] The following table represents the marks of
50 students in the math exam in a month.

= Sets 10— | 20— | 30- 40— Total
i Frequency 10 12 18 10 50
Draw the frequency polygon which represents the given data.
: [a] Using the properties of addition find the value : 32 + 47 + 68 + 3 E
. [b] Use the distribution property in N to find : g
g (1) 112 x99 (2) 215 x 101

e e e e

@ Alexand ria GO?ErnﬂratE Eacl ETI.IHEF_ilfl”'I-'tr Zune

Cupervicion of Mathg

Answer the following questions ;
D choose the correct answer :

2 [a] Subtracting 3 from double of the number X = ---wee-oe.
\Q (x-3 or 2x—-3 or 3x+2 or 5x)
[b] A square whose diagonal length is 8 cm. s its area = .--...o... cm?
(8 or 16 or 32 or 64)
| Ic] There are .. axes of symmetry of an equilateral triangle.
g | (0 or 1 or 2 or 3)
2 g [d] A year and 3 months = --oeeee months.

(13 or 33 or 15 or 27)

L

Complete :
a) 4% = .o (@5 a decimal)

[b] IF X +8=15 , XN » then X = ..
[c] The number of axes of symmetry of the rhombus = .-

&° [d] A parallelogram whose area is 36 cm? and the length of a side of
¢ it =9 cm. , then the corresponding height to this side = -----....... em.

** -1 8
D W =
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[a] Solve the equations :
(1)x—5=19 +» XEN (2)2x+9=21 + XEN
[b] A rhombus of diagonal lengths are 12 cm. and 16 ¢m., calculate its area.

[a] A ABC is a right-angled triangle at B , where AB =6 cm., BC =8 cm.
and AC = 10 cm. Find the area of this triangle.

[b] In a 2-dimensional co-ordinate plane » plot the points A (8 ,5) , B (8 » 2)
»C(5:2)and D (5,7). If CD is the axis of reflection of the figure
ABCD , then determine the image of ABCD.

[a] Calculate the circumference of a circle , if the longest chord in this

circle is 7 cm. where (:rl: = 22)

7
[b] Represent the following data by frequency polygon :
 Sets 20— | 30— | 40— | 50— | Total
Frequency 8 10 16 4 50
~ Additional question ccnonssstonns00as0s000R0s00000R000

% Complete :
% [a] 99 added to the neutral element of multiplication = -

e D o S S e e e T

% [B] 21 + (36 + o) = (21 + ooveen) + 84
. [c] The set of natural numbers less than 7 and greater than 2 is «-o--....
§ [d] 1: 4,9, 169 Ny oy ERESN AR (Iﬂ the same pal‘tern)

"' e e e e e S i S e P

2
|

Answer the following questions :
n Complete each of the following :
[a] The square whose diagonal length = 10 cm. , its area = ... cm2
[bl]if x+2=7 ,xEN,thenx—-2=-

[c] The area of the triangle whose base length is 6 cm. and height 8 cm.
2

[d] clrcumference of the circle _
diameter length B




Choose the correct answer :
N7 [a] Number of lines of symmetry of the square = --------...
Jﬁ (1 or 2 or 3 or 4)
N [b] Subtracting 9 from twice of the number X = -
(2X-9 or 9-2x or 2x+9 or 9Xx)

S [ClIfX={X:XEN,55X<7}sthen X = e
&z ({5} or {6} or {5.6} or {5.6,7})
[d] If the sum of the two numbers X and y is 20 ,theny = ...
(20+x or 20-x or x-20 or ;)
[a] Find the radius length of the circle whose
circumference = 132 cm. (Where T = 273) —
[b] Find the perimeter E-d L ~
of the opposite figure : R : U

[a] Solve the equation : 2 x —5 =3 , where X EN

[b] In the Cartesian coordinates plane, locate the points
A2,2) , B(B:2) , C(5,6):
(1) Find the length of each of AB and BC

"';.: (2) Draw the image of figure ABC by reflection in BC

i !

\Q The following table shows the marks of 40 pupils in maths exam :

Sets 10— | 20— | 30— | 40— Total
) Frequency 6 K 14 12 40
DJ‘ (1) Find the value of K
A& (2) Represent these data by the frequency polygon.
@(P) El-sharkia Governorate ,, Uwiert thetn
‘ ( Answer the following questions :
* "‘* #D Choose the correct answer :

& [a] The area of square whose diagonal length is 8 cm. is oo cm?
' (64 or 32 or 16 or 10)

» o

i

(A: )Y [we | (Worksheets & Examinations) clal, yalsdl 57
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or 5)

[b] fx+3=8 ; XEN,thenx=--re (11 O 24 or 13
[c] If the sum of two numbers X and y is 20 s theny = ..o
(x—20 or 20—x or x+20 or %)

[d] The square has - symmetricaxes. (1 or 2 or 3 or 4)

&) complete the following :
[a] Area of para”e[ggram — R Y e I
[B] The radius length of circle with circumference 44 cm.

clif2x=10and xXEN s then x = -----voeoen.

[d] The length of the base of a triangle whose area = 80 cm?
and its height = 10 cm. is oo cm.

[a] Solve the equation in N :
Ibl In the opposite figure :

ABC is a triangle , CE L AB ,
fAB=6cm. .BC =5cm.
and CE =4 cm. Find area of A ABC

no|=

[a] Calculate the perimeter of the opposite figure

where AB = 14 cm. (;,q; = 2_?2)

[b] Which is greater in area ? 1dcm,
a parallelogram of base 10 cm. and corresponding height 6 cm.
or a rhombus of diagonals lengths 12 cm. and 16 cm.

[a] In 2-dimensional coordinate plane locate the points A (3 5 1)
sB(5,1) » C(65,3) » D(3,3)
Name the figure ABCD , then find its area.

[b] The following table shows the recorded temperatures
in 40 cities on day :

Temperatures | 20— | 22— | 24— | 26— | 28— | Total
Number of cities 7 10 12 6 5 40

Draw each of histogram and the frequency polygon.




: Choose the correct answer : g

[a] 49 =8 -ooenae N (Eor & or C or )

bl IfX={x:XxXEN,3=2x<5},then X = rveeen.

: ({4} or {3} or {3,4} or {4.5})

: [c] If E is the set of even numbers, then E - e N

E§ (Eﬂr$urt¢:urqj)
%

[d](B x3) x5 =i x (3 x 5) (3 or 5 or 8 or 15)§

= ~Haqmn = J-'Ull-ﬂ O
@ El-Monofia Governorate ' " el 2
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g Answer the following questions :
» @ complete :
ﬁ [a] The perimeter of a square whose side length is x cm. = -veenee. cm.

[b] The sum of two numbers is 21 one of them is X , then the
81§ | BT ———

[c] The area of a rectangle whose length is x cm.
A and width is 5 cm. = - cm?
[d] The number of axes of symmetry of the rhombus = ...

[a] Twice the number X subtracted 3 from it= ..
(x-3 or 2x+3 or 2x-3 or 3-2x)

\Q Choose the correct answer :

[b]f x+3=5,x€EN,then: xXx=-w (1 or 2 or 3 or 4)
w / [c] The square whose diagonal length is 8 cm. its area = ... em?
- (64 or 32 or 16 or 8)
s [d] The length of the base of the triangle is 8 cm. and its height is 5 cm.
»thenitsarea= - cm? (9 or 40 or 8 or 20)
@)Y/
[a] Find the circumference of circle with diameter length 14 cm. (:m = E—?.E )
( [b] Solve the following equation : x-5=8 , XEN
* N In the Cartesian co-ordinates plane determine the points

?

A(2,2) , B(5:2) - C(5,8) , D(2,8),if BC is the axis of
reflection of the figure ABCD , then determine the image of the figure ABCD
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Draw the frequency polygon for the following frequency distribution :

: ( Sets | 10— | 12— | 14— | 16— | 18— | 20— | Total
‘ ’\ Frequency | 2 5 7 11 6 4 35

a 1 Additional qUestion «—---ocormomcsrssmscomommsonssniniscnsmmnsomssmnsmm
= g[a]lfx {a:aenN,1<X<5} , Y={4,5,6}

Find: (1) XNY (2) XUY (3)X-Y
[b] Use the properties of addition in N to find result of :
} 49 + 257 + 51 (mention the used property)

et i i el e D

"u"

e e e D o D e e
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Answer the following questions :
n Complete :
[a] F'x+8=18 sthen X = -
[b] The rhombus with diagonals lengths 6 cm.> and 8 cm.

M S SrEa & ot i Gm?
> [c] If we add 3 to twice the number X , then we will get the number -«
'8 [d] The number of axes of symmetry of the rectangle = -
\Q . Choose the correct answer :
[a] The square whose diagonal length = 8 cm. »its area = ... cm?
(64 or 32 or N or 8)
4 [b] Subtracting 7 from the double of the number x = -
5 (x—7 or 2x-7 or ?x+2 or 4x)
Q) iclfy+10=10,thenY =-..u... (100 or 10 or 1 or 0)
v [d] The square has ............... lines of symmetry.(0 or 1 or 3 or 4) |

L

[a] Find the area of the triangle whose base length is 8 cm. and its
corresponding height is 10 cm.

[b] Solve the equation : 2 X —7 = 5 where X €N

[a] On the coordinate plane draw A ABC where :A(2,1) > B (5,1)
» (5 5 B) » then draw the image of A ABC by reflection in BC

a [b] Find the circumference of the circle whose diameter is 7 cm. (:n: = &2 )

(5]

-*:“H

¥ 4



[a] Solve the equation : x + 3 =12 where X E N

7 [b] Represent the following date by a frequency polygon.
; g  Sets 4 — 6— | 8 — 10 — Total
’ Frequency I 4 6 5 10 20
,,','.l i
pes 5 Additional qUestion oo

. Complete :

5 [a] The smallest natural number is -+

[b] 23 x (98 + 2) = 23 x -8 llis i i

: . [c] The set of prime numbers which are less then 15 is «oeee
[d] (20 50) x 30 = oo (50 x 30)

-"-'H-'-' e R A o 0 e S e e i i
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() El-Dakahlia Governorate i cuperviso

Answer the following questions :

o Complete :
[a] Subtract 3 from the number y, the symbolic experssion ig
[b] The perimeter of square whose side length is L = oo

"':.: [c] The area of the triangle = % R R S

‘Q [d] The area of a parallelogram = -

= I

Choose the correct answer :

[a]f x+8=15 , xXENthenX= e (3 or 7 or 6 or 5)
| [b] The square whose diagonal length is 8 cm.,its area = ... cm?
@ (64 or 32 or 16 or 8)
# [c] The number of axes of symmetry of rhombus equals -

(0O or 1 or 2 or 4)

[d] The area of the largest rectangle whose perimeter is 24 cm.
=i cm? (16 or 36 or 72 or 144)

n [a] Which is greater in area 7 a rhombus in which the lengths of its
diagonals are 8 cm. and 6 cm. or the parallelogram in which the
length of its base is 10 cm. and the corresponding height is 5 cm. »

& then calculate the difference between them.

[b] Complete : The circumference of a circle = -
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5 ina aminariong .
E) Find the image of the indicated line
v, segments by reflection across L » mm
d ( then complete : 1
;‘ (1) The |rnage of AB by reflection -
Y across L is e o
~& (2) The image of EF by reflection i &
) E across L is | —
&= (3) The image of XY by reflection l L X
across L is - el Ul
(4) The |mage of CD by reflection
across Lis -

[a] An employee spends his monthly salary
as follow 1000 pounds for food, 500
pounds for clothes 250 the rent of the
flat 250 other spending represent there
data on the shown circular sectors.

[b] Solve the equation : 3 X+ 3 =12 , where XEN

Additional question

¢ Choose the correct answer :

[a] g:g = e (zero or 3 or 4 or
< . [b] The smallest counting numberis - (0 or 1 or 2 or 3)
\Q [€]{5 7 58} oo N (C or ¢ or &€ or &)

[ X = {X: XEN X2}, then X =
’ ({0,1} or {1} or {0,1,2} or @)

@ Ismailia Governorate pooinimmlhes ool

Direeting Mathematics

el

Answer the following questions :
) complete :

[a] If 3 X =21 ,then X = ovvveee.
(bl]fb=3 sthen2b—-5=-ieerrenn.
[c] Adding 5 to three times a number y is ool

[d] A rhombus its area 50 cm? and the length of one of its diagonals 25 cm.
» then the length of other diagonal = - cm.

1..||'



Choose the correct answer :

[a] The opposite transformation l\ A IS

(translation or rotation or reflection)
[b] If the side lengths of a triangle are equal in length then the triangle
IS oo triangle. (scalene or isosceles or equilateral)
[c] The angle whose measure 180 is called - angle.

(right or obtuse or acute or straight)
/ [d]Ify=3Xx+5,thentheconstant .. (y or X or 3 or 5)

¥ [2] Which is greater in area ? a square its diagonal length 10 cm. or
a parallelogram its base length 12 cm. and height 8 cm.

[b] A circle its diameter 21 cm. Find its circumference (:m = E)

€) (2] In the coordinate plane draw the triangle ABC where A (1,1)
»B(3,1) > C(3,5),then draw its image by reflection on BC
[b] Solve the equations :
(1)2 x +3= 13 (2) 1 y=6

[a] A triangle its area 48 cm? and base length 8 cm. » find the length of its
height.

[b] The following table shows the marks of 40 pupils in mathematics
exam in one month where the full mark is 50 marks :

Represent these data by frequency polygon.

ditional question’

Calculate using commutative s associative and distributive properties :
(1)642 + 171 + 358 + 29 (2) 25 x 304
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Answer the following questions :
n Choose the correct answer :
N [a]fx+3=5 , xXE N,thenx=-(1 or 2 or 3 or 4)
&= [b] The area of square of diagonal length 6 cm. is - €M
(18 or 36 or 24 or 6)
[c] The sum of the two humbersaand b is 10 sthenb = - eveee
(a—10 or a or 10—-a or 10)
[d] The number of axes of symmetry of the rhombus = -------eeeee
(1 or O or 3 or 2)
[el]f X={x: XxXEN,3sXx<5},thenx&
({4} or {3,4} or {3} or {4,5})

Complete :
[a] Add 5 to twice the number X = o

[b] The triangle of base length 5 cm. and the corresponding height is

6 cm. »its area = -+ M3
. [c] The number of axes of symmetry of an equilateral triangle is -
\Q [d] The circumference of a circle with diameter 20 cm. is ---------. JTT CM.
[e] If 945 = (x x 100) + 45 , then X = - oeene.

[a] Solve the equation : 3 xX+7 =19 , X&EN

[b] Find the area of rhombus whose diagonals lengths 20 cm. and 10 cm.

[a] Find the circumference of the circle of radius 21 cm. (:n: = 2?3 )

[b] In 2-dimensional coordinate plane locate the points A(2 ,1) -B (5, 1)

L

and C (5 > 5) > then draw the image of A ABC by reflecting across BC 7 w

[a] Find the area of parallelogram ABCD D 12em.

E

o

uwa
-
=




Ib] The following table shows the marks of 35 students in math exam :

7 Sets 5- | 10— | 15— | 20— | 25— | Total |
f £ Frequency | 5 9 11 6 4 35 |
*- ’ ﬁepresent these data by frequency polygon.

3
= @ Port Said Governorate Maths Tngpection

Answer the following questions :
&) choose the correct answer :

Al IfX+7=9,x E N,thenXx= v (16 or 2 or 11 or 13)
[b] The area of a triangle whose base length 5 cm. and the
corresponding height 6 cm. is - een. cm?

(15 or 3 or 11 or 60)
[c] Subtract 4 form the number y the symbolic expression is -«

(2y—4 or y+4 or y—4 or 2y+4)
[d] The number of axes of symmetry of the square -
(1 or 2 or 3 or 4)

Complete the following :

. [a] Shorouk saved x pounds ; her father gave her 10 pounds » then she
\Q L EN A
[b] The area of a rhombus whose diagonals are 6 cm. and 8 cm. ig «-----e--- cm?
| [c] In the opposite figure :
e The shaded sector represents /

- - Of the circle.
® [d] The area of square = %— x diagonal length x oo

=
O [a] Solve the following equation : 2 x+9=21 , XEN
[b] In the opposite figure :

,( ABCD is a parallelogram in which AB = 10 cm. D -
_‘x s DE= 12 cm. , DF = 8 cm. Find : | N, g/
’ (1) The area of the parallelogram ABCD. ;_I 4 /9

S (2) The length of BC ¢ F A

& (1:p) Y et [ o [ (Worksheets & Examinations) e, yalsll m
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&

[a] Find the circumference of a circle with diameter 10 cm. (7t = 3.14)

- ,( [b] In the Cartesian coordinates plane , determine the points
d \ A(2,5) > B(5-2)andC (5 »8) »then draw the image of A ABC
e

by reflection in BC

;l From the following table draw the histogram and the frequency polygon :
& | Sets | 10— | 20— | 30— | 40— | Total |
| Frequency 10 s 18 10 50 |
- Additional question ' mmwwmw% i
Complete : ' 54

(1) The multiplicative neutral element in N is -
fR)FX={x: XxXEN,3sx<4} then XE - rrmmm.

(3) The set of natural numbers less than 7 is -«
(4)32+(59+ ............... ) = (32 + B8) + weeererein

w%mxm

[clfX—4=6 , XEN. thenx= e

Vocoosecbossess
A
() Damietta Governorate ™ N
Answer the following questions : Q -
. o Choose the correct answer : :
\Q [a] If the ordered pair (2 s 5)=(2 sy) stheny = - kY ‘
(2 or 3 or 4 or 5) @
[b] If the sum of two numbers x and y is 20 stheny = -~eeee L? |
» / (2D+x or 20-x or x—20 or %) 'm"f
A~ [c] Circumference of the circle = - /X
#' (Tr or 27r or T or 7T+r) .{,-!.-
[d] The number of axes of symmetry of the rhombus is oo '
: (0 or 1 or 2 or 4)
=) v/ Complete :
‘ ~£ [a] A square whose diagonal is 8 cm. s then its area = - cm?
; A [b] If the number X is 9 more , then the double of y , then x = -

1..||'



[d] An employee spends his salary as follows

‘15‘ of it to clothes » % of it to food

’ % of it to medicine and

% of it to renting. If his salary was L.E. 1 600

Ma-dl-:lna
L q
B A B
nling 4 Clothes

Re

N

___
.

» then the spends of food =L.E. ----oviveee.

¥/ SRS

i

[a] In the opposite figure :
ABCD is a parallelogram in which - Lo, i
AB =10 cm. , DE =12 cm. , DF = 8 cm. L E/"?'

2

Find : (1) The area of the parallelogram ABCD ©
(2) The length of BC

[b] Calculate the circumference of the circle whose diameter

iIs 14 cm. (’IE= %g)

oy

& jl_.'%ﬂ(‘"‘v;p "Z#Z%

r
%

_nE-:m

[a] In the cartesian coordinates plane
» from the opposite figure :

.._..; ,
ol =P &0 @

1 234 567 8891011213

(2) If L is the axis of reflection
of the A ABC , draw A ABC R EEAE
the image of A ABC

by reflection in the straight line L

L
I
|

[b] Solve the following equation :
2x+9=21 , XEN

=

~
-

®
>

F

[a] A triangle whose area is 120 cm? and its height is 5 cm.
Find the length of its base.

[b] The following table shows the frequency distribution of the
number of work hours of 50 workers :

Set 10— | 20— | 30— | 40— | Total
| Frequency | 12 8 16 14 50
oy
A~ Draw the frequency polygon which represent these data

4mr
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o Addltlnnal quEStion '-"‘-"M-"-“L#M-!':H-‘-J-C“:"D-E-:m:"J-Cr-E'E-:‘-:--'-?'Tf-HWW,{{a}ﬂfh'ﬂmbﬁmz-ﬂf:ﬁcﬁ-:ﬁwwmmﬂ
=
b

*'(1)(5 Q) - - N (€ or C or &€ or &)

: y '( Choose the correct answer :
% N\ ‘
’ (2) The next number in the pattern1 ,3 ,9 ,27 is -

a - (30 or 33 or 81 or 36)
PE | (3) (4 x covseonssasios )xTB‘?BUD (5 or 25 or 50 or 125)
i (4)(? 2)x5---------- x (2 x 5) (2 or 5 or 7 or 14)

D oD o e o o e e D e

LA

:
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@ Kafr El'ShEiI(h Gﬂvernerate EI—E:m_r;_ Educational Directorate

Directory of Mathe

‘:; Answer the following questions :
™ n Complete :
[a] The circumference of the circle = 7T x ««covcovvenee
w [blf X+ 2=5 sthen X = e
c] Ify=x+ 5 ,then the constantis .-
[d] Adding 5 to twice the number X is -----oreeeeee.

Choose the correct answer :

“ [a]f3x=15 , XEN,thenx=(12 or 5§ or 1 or 1)
\ [b]IfA(253) » B(2,7) sthen the midpoint of AB is +-wreo--

Q ((10,4) or (2,5) or (2,10) or (0,9))

[c] The area of a rhombus of diagonals 10 cm. and 20 cm. = ----cm?

v" | (200 or 30 or 100 or 400)

[d] The sum of the two numbers X and y is 10 ; then X = oo
#'j (10 or 10+x or 10—-x or 10-y)

[a] If the number X exceeds twice the number y by 9 write the
mathematical relation between x and y

il

[b] Solve the equation : 2 X—-1=3in N

[a] Find the area of a triangle whose base length is 12 cm. and height
iIs 5 cm.

M

[b] Find the circumference of a circle if its diameter is 14 cm. (:rl: = %—)




[b] The following table shows the marks of 50 pupils in math test in
one month :

Sets 10— | 20— | 30— | 40— | Sum]
Frequency 10 12 18 10 50 I

Represent these data by frequency polygon.
- Additional question -

[a] List, then represent the following set on the number line :
X={X:XEN,2<Xx<6}
: [b] Use the dfstrrbutwe pruparty to get the product of : 18 x 99

FeRgkm W?WJ-‘J':’:'C'W“‘G"'}{?"meﬁim‘buﬂmx!}’fﬁ_l
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@ El-Beheira Governorate o el

Mathe clpervigion

Answer the following questions :
| &) complete the following :

N4 [a] Twice a number X is oo
5 g [b] The area of the rhombus = % x the product of ...
[c] If the area of square is 8 cm? , then its diagonal length = oo cm.

[d] The perimeter of equilateral triangle whose side is x = -~

L

Choose the correct answer :

| ‘( [@] IF X+ 5=11 ,then X = - (5 or 6 or 7 or 8)
* A [b] A circumference of a circle is 22 cm. , then its diameter length

. ' = e GML Where 7t = 2—?2 (35 or 7 or 8 or 11)
N N [c] The square has ............ axes of symmetry. (0 or 2 or 3 or 4)
L F=

r_-'
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[d] A triangle whose area = 120 cm? , and its height = 10 cm. , then its
base length = ... cm. (12 or 18 or 24 or 10)

",
‘ £ [a] Solve the equations in N :
P (1) x—3 =21 (2) 3y =27

[b] Which is larger in area 7 a triangle with base 8 cm. and height 7 cm.
or a parallelogram with base length 6 cm. and height 5 cm.

[a] If the diameter length of a bicycle’s wheel is 66 cm. what is the
covered distance if the wheel turns 1000 rounds ? where (7t = 3.14)

[b] In the coordinate plane , draw the triangle ABC where A (2 > 1)
»B (5 ,1)and C (5, 5) , then draw the image of the triangle

ABC by reflection in BC

[a] The lengths of the diagonals of a rhombus are 30 cm. and 20 cm.

™
£
t Calculate its area.

[b] Represent the following data by a frequency polygon.

Sets | 3- 6 — 9— | 12— | 15— | Total
’“Fre"ﬁﬁ'ﬁi’my' 4 7 10 6 3 30
Mﬁﬂﬂﬂl qlﬂSﬁOﬂ gt . N R R e S DB B O O O iy,
Complete :

[a] The additive neutral element in N is -«---eeeees
[D] 47 x (36 + 64) = 47 x ormrveces = covvrensinen

: [c] The set of even numbers — the set of odd numbers = -
@ % [d]f5+0=0+5=5 ,thenitis called - .. property.

S e e e e e

ﬁ N
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Dircetorate of Education

@ E|-FaY0um Governarate Cupervicore of Mathematice

L

Answer the following questions :
n Choose the correct answer :

3 Mty
d £ [a] If we subtract 5 from X > we get - oo ‘
P (5x or 6—x or x-5 or x+5) &
o [b] The area of the triangle in which the length of its base 10 cm. and its ‘
B height 6 cm. is - evoeee. cm? (30 or 60 or 16 or 15)
8 (10 i

: 5,;!@;}4,&&31“@@ }'g ‘_,4.4...41 UJ})&H @}u sals leall m.

b



[c] 34000 = - thousands. (34000 or 3400 or 340 or 34) @
[d] The shown transformation is called - b|d ﬁ
| ( reflection or rotation or translation) ﬁ"
{:r &) compiete each of the following :
...,L [a]5X=35 , xeN,thenXx=-oree
P [b] The number of axes of symmetry of a square = -

| [c] The smallest odd prime number is -
AR [d] If the perimeter of a square is 32 cm. , then its side = ... cm.

[a] Solve the following equations such that x €N :
(1) x—4=1 (2) 3 x + 8 =29

[b] A parallelogram of area 36 cm? , and the length of its base is 4 cm.
» find the corresponding height of its base.

[a] Which is smaller in area ?
A rhombus whose diagonals lengths is 8 cm. and 5 cm. or a rectangle
whose width is 5 cm. and length is 6 cm.

[b] A circle of radius 14 cm. , find its circumference. (7 = 22)

{ [a] On a coordinate plane , draw the figure ABCD where A (1 5 1)
»B(4-1) - C(4,3) 5 D(1,3)then complete :

| (1) The length of AB = - unit.
‘Q (2) The name of the figure ABCD is oo
| Ib] Draw the frequency polygon which represent the following table
of data :
 Sets 10— | 20— | 30— | 40— | 50— | Total |
Frequency | 3 4 6 4 3 20

Mdlﬁnnﬂl qmm e e R e e e D e O P O P I D e,

Cnmpfete using (Es&sCor):

R [b] {% T 4 2} P
' [c] The set of even numbers - - The set natural numbers.
[d] {2,3,0,4} - S\
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* Directorate of Education
' Benl SUEf Governorate Direetorate of Of ficial Lang Schoole

Answer the following questions :
BB Choose the correct answer :

[a]x+5=20 , XEN,thenx=-r(4 or 6 or 15 or 25)

[b] The number of altitudes of the triangle is -

(O or 1 or 2 or 3)

[c] The number of axes of symmetry of the rhombus = -+

(1 or 2 or 3 or
[d] If the sum of two numbers X and y is 20 ,then y = oo

(20+x or 20—-x or x—20 or y+20)

Complete the following :

[a] Area of rectangle = .- oooovis X i
[b] The length of diagonal of square is 12 cm. sthenits area= ...
[c] Area of parallelogram = -----ciie X cerriiiinnn.

[d] The opposite transformation is oo /I l\

[a] Solve the equations s where X EN :
(1)2x+7=19 (2) x—8=18
[b] Find the circumference of a circle with a radius 14 cm. (;n: = 22 )

In a coordinate plane determine the points A (2 ,2) , B (4 ,2)
+C(4,8)and D (2 ,8) s then:

[a] Draw ABCD
[b] Draw the image ABCD by reflection on BC

[a] Which is greater in area 7 a rhombus whose diagonals are 6 cm.
and 8 cm. or a square whose diagonal is 8 cm.

[b] The following data represents the marks in Arabic test for
students in one classroom :

Sets 10— | 20— | 30— | 40— | Total
Frequency 8 12 16 14 50

Draw the histogram for this distribution.
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'S Additional question

: :
’( 3 Using the properties of addition and multiplication in N , find : :
;"‘* [a]4B+37+52+63 [b] 125 x 17 x 8 §
L, ’ e e e S e e D i B e S e Ry
a ."r 5 Governmental Language choole
@! El-Menia Governorate .. =~ O
“ E TR AL LR WO O oAt at e s

Answer the following questions :

n Complete :
[a] 3x=15 sthen x ===

[b] The square whose diagonal 8 cm. ,its area .. cm?
[c] The number of axes of symmetry of the rhombus = -
[d] The perimeter of a rectangle is 20 cm. if its length is X

™
,*-
3 , then its width is ..

Choose the correct answer :
[a] The diameter length of a circle is 14 cm. , then its radius = - cm.

(14 or 7 or 28 or 35)

[b] The length of the base of the traingle is 8 cm. and its height is 5 cm.
» then the area = oo cm? (8 or 9 or 20 or 40)

[r.:] The perimeter of the equilateral traingle whose side length L cm.

\ cm. (L+3 or %L or L-3 or 3L)
[d]x+8'15 » XENthenx = (3 or 7 or 6 or 5)

| . [a] Solve :
» (1)y—-3=9whereyEN (2) 2 XxX+9=21where xcN
s [b] Find the circumference of a circle with diameter length 14 cm. (:n: = %)
5

[a] From the opposite graph > complete :

‘ 7 (—,
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[b] Find the area of rhrombus whose side length

12 cm. and its height 10 cm.

[a] Translate the statement into an equation :
If 9 is subtracted from a number , then the result is 23

[b] Represent the following data by histogram :

Sets | 10-

20 —

30 —

40 — | Total |

Frequency 3

7

5

Additlonal question

: Cumpfete ;

called - - property.
[b] 91 x (73 + 27) = 91 x

e e D e i i

wa

¢ [c] The smallest natural number is -
- [d] The additive neutral element in H |s

@ Assiut Governorate

[a] If A » B , C are natural numbers > then (AxB) x C=Ax (B x C)

---------------

---------------

e i e e T M e e

Acciul Edurational Zone
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Answer the following questions :

n Choose the correct answer :
[H] Fx+3=5 , xElN.thenx= e

(1 or 2 or 3 or 4)

[b] The area of rhombus whose diagonals length are 6 cm. and 8 cm.

(48 or 12 or 24 or 40)

[c] If the longest chord in a circle is 7 cm. then the circumference of the
circle is - cm. where 7T = 22

7

(3.7 or 7 or 22 or 44)

[d] The difference between two numbers is 5 » the smaller one is y the then

greater numberis ..o

(5y or 5—y or y—5 or y+5)

Complete :

[a] Area of parallelogram = .-

e :;{ sEss s R

[b] The number of axes of symmetry of the rectangle = -
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[c] The rhombus whose area is 36 cm? and the length of one of its
diagonals is 8 cm. then the length of the other diagonal = ... cm.

[d] Shorouk saved x pounds , her father gave her 10 pounds
then she has -«

[a] Solve the equation : 2 x+9=21 ,xEN

Ib] In the opposite figure :

There is a window which has the form of a square , whose m
side length is 70 cm. , and above it , there is a semicircle.

(1) Calculate the perimeter of the window.

(2) If the area of the semicircle is 3850 cm?
» find the area of the window. 70 cm,

[a] Which is greater in area ? a square whose diagonal length is 10 cm.
or a right angled triangle whose legs are 8 cm. and 6 cm.

[b] Find the number which if added to 3 , the sum will be 9

[a] In the cartesian co-ordinates plane , determine the points A (2 » 2)

»B(4,2),C (4,8)andD (2, 8) If BC is the axis of reflection of the
figure ABCD , determine the image of the figure ABCD

[b] The following table shows the frequency distribution of the

number of work hours of 50 workers. Graph these data using the
frequency polygon :

W satsti| 2— [ 24— [6- | 8- | 10— | Total
Frequency | 8 9 15 | 16 2 50

. Choose the correct answer :

e N (€E or € or C or )
[b] If X = {E acN.4<agc< 5]- then X = -

({4} or {5} or {4,5} or )
[c] The set of even numbers (E) N the set of prime numbers (P) = ----oee

(P or {0} or N or {2})
. [d] The sum of two natural numbars - N(&€ or & or C or &)
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Directorate of Education

@ Souhag Governorate

Direetorate of Official Lanquage Schools

Answer the following questions :
n Choose the correct answer :

a " [a] The area of rhombus whose diagonals lengths are 6 cm. and 8 cm. is
&z N 114 (48 or 12 or 24 or 40)
Ib] If the longest chord in a circle is 7 cm. » then the circumference of the

circle is ------------- cm. where (:n: = %) (3.5 or 7 or 22 or 44)

[c] The number of axes of symmetry of rhombus equals -
(zero or 1 or 2 or 4)
[d] Twice the number X subtracted 7 from it = -----eeevev.
(7—X or 2x—7 or 7x+2 or 14 x)

Complete the following :
[a] The perimeter of square whose side length is 10 = oo cm.

[b] Area of the triangle = % the length of its base x -
[ [c] The side length of a squareis 5 cm. sthenits area= .. cm?
o~ [d] The number of symmetry axes of an equilateral triangle = -

\Q [a] Solve each of the following equation :
(1)2x+8=14 (2) x-7=25

[b] Find the area of a triangle whose base length is 5 cm. and the

e corresponding height is 6 cm.
> 1a] In the opposite figure : D 12cm. A
ABCD is a parallelogram 5% /
: where AD = 12 cm. , CD =6 cm. A /
-V, »ED =5 cm. and ED 1L BC
d £ Find the area of the parallelogram.
i [b] Graph the figure ABCD where A(2 ,7) > B(3,4) , C(8.,4)

and D (7 » 7) What is the name of the figure ABCD ?
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The following table shows the frequency distribution of the number

: ,( of work hours of 50 workers :

‘; . Sets 4-— 6 — 8 — 10— | Total
N Frequency 12 8 16 14 50

& : :
; =] Draw the frequency polygon which represent these data.

e o e e e e e

- Additional question -

[a] Write in the list method the set: X = {x: xEN ,3 < x <8}
» then represent its element on the number line.

[b] Use the properties of addition to find the result of the following :
82+ 75+ 18

i e WJ{QW{&V:{‘-’M{;};&
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Avwan Educlional Direclorale
@ Aswan Governorate *

Edfu Language Sehwol

Answer the following questions :
@D Choose the correct answer from those given :

“ [a] The number of axes of symmetry of the rhombus is -
\Q (1 or zero or 2 or 4)
[b]If3x=15,thenXx= ... (5 or 12 ur% or -:13—}
| [c] % % (< or = or >)
@ [d] The circle in which the length of the greatest chord is 14 cm.
57" | » its circumference = oo (:1: = —2—?"-’-) (3.5 or 14 or 22 or 44)
‘ Complete each of the following :
) [a] Area of square = JE_ 5 eieieneenrenns R
( [b] The measure of a right angle = ...
* A\ [c] If we add 5 to three times of the number y , then we get the
. ' number -
[d] The square whose diagonal length is 10 cm. , its area ig - cm?

®
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[a] ABC is a triangle , its base length is 18 cm. and its height is 6 cm.
then find its area.

[b] Which is greater in area 7 a rhombus the lengths of its diagonals are
8 cm. , 6 cm. , or the parallelogram in which the length of its base is
10 cm. and the corresponding height is 5 cm.

[a] Solve the following equation : X + 3 =12

[b] In a coordinate plane, draw A ABC where A(2,3) , B (5 ,3)and
C (5 > 7) > then draw the image of A ABC by reflection across BC

[a] The parallelogram whose area is 36 cm? and the length of a side of it
is 9 cm.  then find the corresponding height to this side. 54

[b] The following table shows the frequency distribution of the
number of work hours of 50 workers :

Sets 4 — 6 — 8 — 10 — Total
Frequency 12 8 16 14 S0

Draw the frequency histogram and frequency polygon which
represent these data.

# Addj,ﬁoml qugstion el BERSRSETRE

. Complete :
§ [a] The set of natural numbers more than S is -
% [b] 257 512 5 AT 5 coreveeenne s e (N the same pattern)

: [c]IfAxB0+Ax4=3x64,thenA= oo
r Id] The multiplicative neutral element in N is -

:""“‘-"“-G{i-}ﬂ-ﬂ-‘}-: o e e

Dahab Educational Directorate

@ South Sinai Governorate

Answer the following questions :
§) Choose the correct answer :
[a] The perimeter of square with side length x = -----eereee
(4x or x+4 or %
[b] 6 added to the number y is ---oovveee (6y or y+6 or y




[cl]ifx+8=15,then X = -reene. (3 or 7 or 6 or 5)
[d] The number of axes of symmetry of rhombus = ...

(zero or 1 or 2 or 4)

. Complete the following :

[a] The area of parallelogram = oo % e

[b] The area of triangle whose base length 8 cm. and height 5 cm.

= eeeresaernaes Cm-?

By

[c] The place value of the digit 3 in the number 6.135is -
‘& [d] If X is odd number then X + 2 is - number.

l::' o 1a] Find the circumference of a circle with diameter length 7 cm. (:rt: = 2—7?)

“ [b] Complete : If 15 x34=(6+10) x x>, then X = ---veree.
0 [c] Solve the equation: 3 x+ 7 =19

[a] In the Cartesian coordinate plane determine the following points

9‘ A(S:G) ’ 8(652) L) 0[1 :2)andD{1=6)
/"' What's the name of the figure ?
"‘-Jz [b] Find the area of rhombus whose diagonals lengths are 6 cm. and 8 cm.

Q . Tha following table shows the marks of 35 students in math exam :

Sets 10 — 20 — 30 — 40 — total
.* | Frequency 8 12 10 5 35
g (") Represent these data by frequency polygon.
"t

- Additional question

-ﬁ-ﬁ-"r‘“‘-"n‘:-ﬁr'.q.ll

in N , find the value of each of the following :
(1) 8 x 184 x 125 (2) 28 + 59 + 72 + 41
%(3) 137 x 36 — 37 x 36

Usmg the properties of commutation , distribution and assumatwe?
%

79
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@ Red Sea Governorate

Queeenir Educational Adminietralion

Answer the following questions :
n Complete :
[2] The number of axes of symmetry of the rhombus = ...

[b] The perimeter of an equilateral triangle whose side length is L = --ceeeeve.

[c]If4+ x=15 ,then X = --ereermn.

[d] The circle whose diameter length is 10 cm. s its circumference
R i3 B (where = 314)

Choose the correct answer :
[a] The triangle whose base length is 5 cm. , and the corresponding height
of itis 6 cm. (30 or 15 or 25 or 36)
[b] If 3 X =15 ,then X = -oerreuree (56 or 12 or 1 or x)
[c] Twice the number X subtracted 3 from it = ----oooeo.

(x—-3 or 2x+3 or 2x—-3 or 3—-2x)

[d] The square whose diagonal length is 8 cm. its area = ----.... cm?
(64 or 32 or 16 or 8)

Jits area = --ooveiveee CM2

[2] Find the area of a rhombus in which the length of its diagonals
are 8 cm. and 6 cm.

[b] Solve the following equation : x + 3 =13

[a] Find the area of a parallelogram in which the length of the
base = 10 cm. , and its height = 5 cm.

[b] In the coordinate plane draw the triangle ABC where A (2 » 5)
sy B (5 :2)and C (5 , 8) > then draw the image of the triangle ABC

by reflection across BC

The following frequency table shows the marks of 35 students in

the exam :
Sets 10 — 20 — 30 — 40— | Total
Frequency 8 12 10 5 35

Draw the frequency polygon which represents these data.

=

-_—
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. ‘ ’( % Choose the correct answer : E
; ?[31{3,15} - N (€ or & or C or &) |

VoA % Ib] The set of odd numbers - - the set of natural numbers. %

N g (Enr%ur(:urci)g
= % [c] If x is an odd number >then X + 2 is - - number g
%’ (odd or even or prime) ﬁ

%[d] If7x15=15xa.thena = (15 or 7 or 10 or 5)

@ MatTOUh Governorate Malrouh Educational Directoratfe

Mathe Inspection

Answer the following questions :

D complete the following :
[a] If a radius of circle is (r) » then the circumference of a circle =78 x -
[b] The sum of two number is 21 and one of them is X , then the otheris .-
[c] fF7 x15 =15 x X sthen X = -cevveen.
[d] Area of parallelogram = -
[e] If the diagonal length of a square is 10 cm. thenitsarea = ... cm?

g :ﬂczw-;a =

-

\Q Choose the correct answer between brackets :

[a] If the diagonals lengths of a rhombus 10 cm. s 12 cm. , then its
area = oo CMA (120 or 60 or 24 or 32)

@ [b] Subtract 7 from double number X -0

5 (X—-7 or 2x-7 or 7x+2 or 14 x)

[c] Area of triangle in which the length of its base is 12 cm. and its height
iS5 Cm. = e cm? (30 or 60 or 17 or 34)

Id] The diameter of circle = - (r or 3r or 4r or 2r)

[e] If x+8=15,then X =il (3 or 7 or 6 or 5)

L

[a] Find the area of a parallelogram in which length of its base is 15 cm.
and its corresponding height is 4 cm.

» s i
@
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[b] Find the value of X which make the following equation correct :
(1) x-3=9
(2) 2 xX+5=17

In the coordinate plane :

[a] Determine the position of the points A (8 ,5) , B(8,2) , C(5,2)
»D(5,7)

[b] Draw line segments AB , AD ,CD , BC

[c]l If CD is a reflection axis of shape ABCD,; find its image using the suitable
symbole.

The following table shows marks of 40 students in math exam :

Sets 10- | 20- | 30— | 40— | 50- | sum |
Frequency 5 7 12 9 7

Represent these data by histogram and frequency polygon.

i TE 5 e 3

Use the properties of operations of natural numbers to find the result :
i (1) 8 x47 x 125
(2)56x42+56x58

I_"P'F-Fq-‘._-*-p_r—'_'_-._ -.'..--.-.r-q— "-F'I—— o
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El-Nozha Directorate of Education
Our Lady of Perpetual Succour School

Answer the following questions :

Kl Complete the following :
@IFEX={X:XEN,2=x<3},then X = {: 1
(b) The square whose area is 72 cm? » the length of its diagonal = -+ cm.
@) 1,4,8,13 , e (in the same pattern)

(@) If 945 = (X x 100) + 45 , then Xx = -

Choose the correct answer :
(a) If E is the set of even number then E - N
(€ or &€ or C or )

() The multiplicative neutral element in N is =
~ (zero or 1 or 2 or 4)

(¢) The area of a triangle whose base length 5 cm. and the corresponding

height 6 cm. is - cm? (30 or 15 or 25 or 36)
(@) If the longest chord in a circle is 7 cm. then the circumference of the circle
I8 a8 cm. where. (:11: = 2—?2) (3.5 or 7 or 22 or 44)

(@) Use the properties of operations to find the result of :
(1) 38 + 47 + 62 + 53 (2) 8 x 37 x 125

(®) Draw A ABC whereA(2 ,5),B(56,2),C (5 ,8)
Then find its image by reflection on BC

E) @) Which is greater in area :
A rhombus in which the lengths of its diagonals are 8 cm. and 6 cm. 7 w
or a parallelogram in which the length of its base is 10 cm. and the
corresponding height is 5 cm. then calculate the difference between them. "

(b) Solve each of the following equations : “
(1) tx-3=2 (2)3x+7=19 J'

" | —
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>
% @ The opposite figure shows a football playground :
7

28 m.

T ; =20
4 Find its perimeter (:rr. = &5 ) ]
¢ :
b) Represent the following distribution by histogram :
=

Nasr City Directorate
Talaee El-Kamal Iela:me Language School

Answer the following questions : |

Kl Choose the correct answer : "
(@) Subtract 3 from twice the number x = -

(x—3 or 2x+3 or 2x-3)

(®) The number of axes of symmetry of the rhombus = -
(0 or 1 or 2 or 4)

@) If the set of even number is E s then E - N % |
| (€ or & or C or )
@ The diameter length of circle whose circumference 88 cm. = - (:rr. = %)

(28 or 14 or 7 or 21)

‘Q Complete the following :

@ The set of prime numbers which are less than 17 is -~
@Ifx+8=15,XEN then x = -

@) The area of a triangle whose base length 5 cm. and the corresponding
height 6 cm. is cm?

"~
A @ The multiplicative neutral element in N is -~

% @) Use the distribution property to find the value of :

(1) 519 x 99 (2) 316 x 1001

7 &) Which is greater in area :
d £ A rhombus in which the lengths of its diagonals are 6 cm. and 8 cm.
P or a parallelogram in which the length of its base is 10 cm. and the
corresponding height is 5 cm. » then calculate the difference between
them.

|
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(@) Calculate the perimeter of 28 m. )

Y the opposite figure where (
- 22 |
¢ g (n=2) _
(b) In the cartesian co-ordinate plane draw the figure ABCD where A (8 , 5)
~ sB(8,2)>C(5,2),D(5,7). If CD is the axis of reflection of the
; figure ABCD Draw the image of the figure ABCD.

I

14 m.

(@) Solve each of the following equations :
(1) & x-3=2 (2) 2 x+ 9 = 21

(b) The table below shows the frequency distribution of the number
of work hours of 50 workers.

_}lg Cairo
| e ——————

Answer the following questions :
Complete the following :

N @If:A(2,3)and B (2, 7) > then the midpoint of AB is ( - R )
‘& (b) The additive neutral element in N ig
@Oifx+8=15,x€EN sthen X = e
@74 (73 +27) =74 x - = Samiiies
v} | Choose the correct answer :
5\ @3+9 - N (E or & or C or )
@IF: X={x:XEN,2=Xx=<3}then X={ }
% ({3:2} or {3} or {2} or @)
| (e) A rhombus in which the length of its diagonals are 10 cm. and 12 cm.
’( s its area = oo (120 or 60 or 24 or 32)
¢ \

(d) The opposite figure : I\ I\ represents -

( reflection or translation or rotation)
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(a) (1) Evaluate using the commutative and associative properties :
8 x 137 x 125

A
d £ (2) Use the distributive property to find the value of : 36 x 1001
P (b) Solve each of the following equations :
(M) x+7=19 , XEN (2)3x=21,XEN

= (a) Which is greater in area :
A square whose diagonal length is 10 cm. or a triangle whose base
length is 12 cm. and its corresponding height is 6 cm.

(b) In the 2-dimensional coordinate plane locate the points :
AB,0),B(©,0),C((9,:4),D(5,4) > name the shape ABCD then
find its image by reflection in DC

e
™ (a) Find the perimeter of the opposite figure
ﬁ (= %) '

~— 70om.

(b) The following frequency table shows the marks of 35 students in the
mathematics exam. Graph these data using the frequency polygon.

5— | 10— | 16— | 20— | 25— | Total |
TR = 11 6 4 35 |

El-Salam Educational Zone
Anwar El-Sadat EL.S.

Answer the following questions :

@ n Choose the correct answer :

g (" (a) The number of axes of symmetry of the rhombus = - /

v (0O or 1 or 2 or 4) @

@3 B If: X+2=5,XEN ,then x = (2 or 3 or 5 or 4) Q
@N-E= (N or O or E or P) &

7 (d) 39 x 115 =39 x 100 + 39 x «-oeee (115 or 10 or 5 or 15)
.‘ £ Complete the following :
(@) 1000 , 100 , 10 5 - goormannans (In the same pattern)

M If:(4:7)=(2asb—1),thena= - yb = e
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@) If we subtract 7 from twice the number x = -
(@ The height of parallelogram with area 40 cm? and base length 5 cm.

9 e 71

Q®
s——
7]

B
o

(@) Calculate the perimeter of the figure

(n= %)

(b) Use operations properties in N to find :
25 x 781 x4

s
&

7cm.
o

8}

ﬂ@ Solve the equation : 3 X+8=29 , XEN 8 7

(b) Find the area of the square whose perimeter is 20 cm.

@) In a coordinate plane represent the points A(2 ,3) sB (3 ,5)-C (5, 3)
Find the image of A ABC by reflection in AC

(®) Represent by frequency polygon :

30— [ 40— | 50— |
12 8 ar |

Helwan Educational De
Elias Language School

ent
or Boys

Answer the following questions :

Complete the following : ; }I
@ @ 18 x 15 =15 x e Gz property) 'm"
> ¢ ® If "A" is an odd number , then "A + 2" ig - - number. g :“i

@ If3 x=45 ,then X = “Q

% @ 20,19 »17 514 5 e (in the same pattern) ~
'-' 7 Choose the correct answer :
é ~£ (@) A square of diagonal length 12 cm. s its area = - cm?
& (120 or 144 or 72 or 36)
; @) The multiplicative neutral element in N is -
;__- (2 or 1 or zero or 10)




|||||| q

2
a (©) The smallest even counting number is -
7

(zero or 1 or 2 or 4)

‘ ( (d) Ali is "b" years old , then his age after 3 years is =+
P (b+3 or b-3 or 3b or 3—-b)

@Selveinﬁ:(1)x—3=7 (2)2 x+9=21

.‘ .
=
= () Which is greater in area : A parallelogram of base length 8 cm. and
height 6 cm. » or a triangle of base length 10 cm. and height 8 cm.
@) Find perimeter of the ST —
following figure & i 9
(m=22) L i)

@) In the coordinate plane , draw the triangle XYZ » in whichl(z »4) »
Y (5 52)and Z (5 5 6) s then find its image by reflection in YZ

@) Use properties in Nto Find :
(1)25x19 x4 (2) 12 x 105 (using distribution property)

(b) Represent the following data by the frequency polygon :

Answer the following questions :
Kl Choose the correct answer :

® (@) The sum of two natural number --------- N (C or & or € or &)
& @ If3x=15, XEN s then x = v (6 or 12 or + or )
@) The circumference of a circle with diameter 21 cm. is - (n: = -%4?-)

®) (128 or 32 or 66 or 1024)
_- (d) The number of axes of symmetry of the rhombus = -
Vv

(1 or 2 or 3 or 4)
¢\

P Complete the following :
el (@) The additive neutral elementin N is = -

5 (b) The muitiplicative neutral element in the natural numbers plus 99 -
-

N St

4]
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(e) Double the number X subtracted 7 from it equal -+
(d) The length of the diagonal of a square is 12 cm. then its area = - cm?

(@ Using the properties of commutation , distribution and associative

» find the value of each : (1) 8 x 137 x 125 (2) 28 + 59 + 72
oy
b (b) Solve the equation : 2 X+ 9 =21 XEN
&

B @ The opposite figure ABCD is a parallelogram »

D A
AB=10cm. .DE=12cm. . DF =8 cm. . Find 2o, /
(1) The area of parallelogram ABCD 5 o/ &
(2) Length of BC & F g /

(b) In the cartesian co-ordinates plane determine the pointA(2 ,2) ,B (5 5 2)
»C (5,8),D (2 ,8). If BC the axis of reflection of the figure ABCD ,
then determine the image of the figure ABCD

@ ABCD is a rectangle of D A
area 828 cm? , E Eﬁ ,
AD=23cm. sBE=35¢cm. »

Find the area of A DCE
. (b) The following table shows the marks of pupils in * G B
‘Q mathematics exam : |
- [ et : 20 — 30 - 40 — 50— | Total |
v (1) Find the value of A
.l (2) Draw the frequency histogram which represent these data
‘ 1
© )
-. 2 Answer the fnﬂpwing questions :
y ( Choose the correct answer :
N (&){35} .......... N (€ or $ or C or )

(®) The sum of twice a number and 6 = -~

(x+6 or 2x+6 or L (x+6) or 2(x+6))




? = e
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»
(e) The number of axes of symmetry of the square is -~ axes.
) (2 or 3 or 4 or 5)

‘ ( (d) The circumference of circle = -
\ (mr or 2wr or 3mr or 47r)

Complete the following :

S @26 520 515 5 11 5o , e (in the same pattern)
o= ®) 40 x 115 = 39 x 115 + 115 x ~n
(© If the area of a parallelogram is 40 cm? and its base 8 cm. then its
corresponding height equals - cm.

@Ifxx5=15,then2 X = -~

@) By using properties of addition find : 137 + 475 + 163 + 225
(®) Solve the following equation : 2 X -7 = 5 (Where X EN)

H (a) Which is greater in area : A rhombus whose diagonal lengths are 12 cm.
and 16 cm. or a square whose diagonal length is 14 cm. (show your steps).

(®) On the coordinate plane draw the rectangle ABCD where A (1 ,1) > &
B(4,1),C(4,5)andD(1,5),then draw its image by reflection in BC ) ¥
2
@) Calculate the circumference of the circle whose diameter is 14 cm. ¥ 1
e 2 J
(=2 X
‘Q (b) Represent the following distribution by frequency polygon : '

3
P New Cairo Directorate ' ! )
; Experimental School Fi
A8 Answer the following questions : "-'f.‘q
Choose the correct answer :
% @3%' """" ‘N (€ or &€ or & or C)
4 ®If:x+1=6,then3x= - (6 or 7 or 15 or 51)
d £ (¢) The diagonal length of a square is 6 cm. then its area is - cm?
P (6 or 16 or 18 or 36)
~ A (d) The difference between twice a number X and 8 = -+
S (8-2x or 2x-8 or L x-8 or x-8)
“ E | —
kd

] & @*}4 o ‘Uﬁh-w a—w 5’3 u«M' BT @}u Rl el m
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DY)
Complete the following :
: Ij"
¢\
>

@3x(2+5)=3 x e o L et

(& The rhombus has - lines of symmétry.

(©) The smallest natural number is -

(@) A circle of radius length 7 cm. then its circumference = - cm.

(@) Use the properties of multiplication to calculate the value :
125 x 19 x 8

(b) If we subtracted 5 from three times a number the result will be 7
What's the number ?

=
s

K} @ Which is greater in area : A triangle whose base length 18 cm. and
height 12 cm. or a rhombus with diagonals lengths 24 cm. and 8 cm.

() Draw the figure ABCD in the coordinate plane where A(1 ,2) ,B (1 ,5)
»C(4,5),D(4,2).
(1) What is the name of the figure ABCD ?
(2) How many Iines of symmetry of this figure ?

. (@) Find the radius length of circle whose circumference 154 cm.

L k9

‘& | (® The foﬂuw:ng table shows the marks of 50 pupils.
®
s |
® Answer the following questions :
Complete the following :

7 @) The set of natural numbers less than 5 is -
‘-( @I:7x15=15xx sthen x =
(©) Area of square = . x -
u { (d) The number of symmetry axes of an equilateral triangle is -
3
&
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Choose the correct answer :

@ (3+9) N (€ or &€ or C or )
(b) The set of even numbers - the set of natural numbers.
(€E or &€ or C or @)
(¢) x is an odd number , then X + 2 ig - number.
(even or odd or prime ./ ullieiwite)
(d) A rhombus of diagonals length 10 cm. and 12 cm. its area = - - chee

(120 or 60 or 24 or 32)

('a) Solve:2x+9=21,where XEN

(a) From the opposite figure :

(b) Using the properties of addition in Nto find : 872 + 199 + 128 + 801

A 12¢em. B

/

D 3 C

(_h) Grﬂph the ﬁgLIFE ABCD where A (2 ’ 7) s B (3 5 4) » C (8 3 4) and D (7 + ?)
What is the name of the figure ABCD ?

Find the area of the parallelogram ABCD

oem.

@) Find the circumference of the circle with diameter length 14 cm. (:rl; = % )
(b) Represent the following distribution by frequency polygon :

El-Doki Directorate
El-Orman Ex. Language School

Answer the following questions :

Complete the following :

(@ The multiplicative identity element in N is -

(b) For any natural numbers a b and c where (a xb) xc=a x (b x c)
this called - property.

(e) If the side length of a square is 10 cm. then its area -
(d)23}{{92+8)=23x .......... il

(e) The area of a parallelogram whose base length is 8 cm. and height
2.5 cm. ig e cm?

-
- ———
=

(Y:p)Y e [ e | (Worksheets & Final Examinations) ci.s\, yalsdl ‘ 49 ‘
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Choose the correct answer :

@) If the longest chord in a circle is 7 cm. , then the circumference of the
circle is - cm. where (31: = %) (3.5 or 7 or 22 or 44)

@If: x+7=19 , XENthen X = (26 or 12 or 11 or 13)

@) The area of a square whose diagonal length 6 cm. is
(18cm? or 36cm? or 12cm.)

@If:3x=15,xENthen x = (5 or 12 or g or -—-)
@) (49 +8) - N (€ or &€ or C or -:;i)

-
’
&

Use the properties to find the value of ;: 28 + 78 + 782

In the opposite figure :
The length of the diameter AB of a semicircle is 14 cm.
Find the distance around the figure (7 = 22 )

Represent these data by the frequency polygon :
sSets | 5- | 10- | 15— [ 20— | 25— |
6 12 19 12 4 |

p———
. kﬁ;’ South Giza Educational Zone
. Mathematics Department

\Q Answer the following questions :

Choose the correct answer :
@ The area of a rhombus whose diagonal lengths are 3 cm. and 4 cm.
T IR - cm? (24 or 6 or 12 or 20)

® @If:x+8=12 , xENthen X =
g (4 or 12 or 20 or 64) J
= @®1:4:9:,16 5. (in the same pattern) (19 or 23 or 25 or 32) |
Y @ 2 N (€ or ¢ or C or ¢)
%{ Complete the following : |

d £ @ The sum of two numbers is 35 , one of them is X then the other is -

P @®) The least natural number is -

@53 +48+47 =(53 + )+ 48 = v
-".'.' @ If x is an even number > then X + 3 is -~ number.
&

4]




A
% E) @ Solve the equation : 2 x +9=21 , XxEN
3 g7

s ) Write by the listing method X = {x: xEN,3 <X < en represen
‘ Write by the listing thod X 3 8} th t
N its elements on the number line.

@ The diagonal length of a square is 6 cm. Find its area.

= @®) In a 2-dimensional coordinate plane. Draw the point A (2 ,2) B (5 5 2)
o »C(5-8)and D (2, 8)

@) Find the circumference of a circle. If its diameter is 7 cm. (:rl: = %)

(B) The following table shows the frequency distribution of the
number of work hours of 50 workers.

Answer the following questions :
Choose the correct answer :

@% ********* N (€ or € or C or &)

‘Q @ The opposite geometric
transformation is -«

(reflection or translation or rotation)

¥ @) Youssef is X years old , then Youssef's age after 2 years will be -
ﬁ (2x or 2—-Xx or xX+2 or x-2)
@ The circumference of a circle with diameter length 42 cm. is - cm. Q
®)% Where (7t = 22 48 or 96 or 168 or 132) |
7

20 Complete the following :

“{_ @lf:x+4=10,thenx= ..........

P ®1,3,9, g s (in the same pattern)

@ The additive identity element is -
a @@ The number of axes of symmetry of the rectangle = -
&
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(@) In the opposite figure : D Lo o
ABCD is a parallelogram » &/ |5
where AD =12 cm.  ED = 5 cm. -
¢ E B

Find the area of the parallelogram.
(b) Using the additive properties find the result : 38 + 47 + 62 + 53

R "1

a .
&

8}

Kl Draw the triangle ABC where A(1,3) B (4 ,1)»C (4 ,7) >
then draw the image of the triangle ABC by reflection in BC

Bl (@ Solve the equation : 2 x — 4 = 12
(b) Represent the following data by the histogram :

7- o— | 11- |

Answer the following questions :
Choose the correct answer :
2 @If: x+8=15 ,xENthen X = - (23 or 7 or 6 or 5) |
\Q (b) The square whose diagonal length is 8 cm. , its area = - cm?

(64 or 32 or 16 or B).
@lf:X={x:xEN,3sXx<5},then x&
({4} or {3} or {3,4} or {4.5})

”f_ ()24 x10=24 xB6 + 24 x e (24 or 6 or 10 or 4)

2 Complete the following :
@Y/ (@) The set of prime numbers which are less than 17 is -+ | ~
% (b) The perimeter of a rectangle is 16 cm. its width is 3 cm. then its area S

o = cusansanss cm?2

d ~£ (e) The sum of two numbers is 35 , one of them is X , then the other

& | ig -eerees .

]




—r—
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(@) Using the properties of commutation and association find the
value of each of the following : (1) 28 + 59 + 72 (2) 8 x 137 x 125

(b) In the cartesian co-ordinate plane locate the points A (2 ,1) B (5 »1)
» C (5 »4) , then draw the image of A ABC by reflection on BC

In the opposite figure : D M E A
ABCD is a parallelogram in which BC = 14 cm. » / %IJ/
BE = 6 cm. » M is the mid-point of AD. Find : & e B
@) The length of AD and AM The area of parallelogram ABCD
(e¢) The area of A ABM (@ The area of the figure MBCD

(@) Solve the following equation : 2 X+ 9=21 , XEN

(b) The following table shows the frequency distribution of the
number of work hours of work.
| Sets | 20— | 30— | 40— | 50— | 60— | Total |
| Frequency | 6 10 14 7 S 40_|

Draw the frequency polygon which represent these data.

El-Montazah Educational Zone
'M@ Alexandria T m Matte St et

Answer the following questions :

Kl Complete the following :
@) 8 x e = x8=32 @If:aENs>andbEN >thena xb = N
@If: xEN,2xX-3=7 sthen x =
(d) The area of a square whose side length is 8 cm. = - cm?

Choose the correct answer :

@) 3.5 e N (E or &€ or C or &)

®) (7 x2) x4 = oo x (2 x 4) (3 or 5 or 7 or 9)

(e) If the diameter of a circle is 7 cm. , then the circumference = - cm.
(= 22) (11 or 22 or 44 or 66)

@) The sum of two numbers 9 , one of them is x then the other is -

(x-9 or %x or 9xX or 9-Xx)

o

f U

52

el ¢ | @i}a Hle ﬂjlaLu @m ‘A’g ‘,a.d.«.di S5l @5.4.' sals eall uub
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@ Use the distributive property of multiplication over addition to
complete : 50 x 8 + 50 x 7 = 50 (- < T— ) = 5O x ceveeeee T v

9 ‘l‘lW‘

)
d ( () The lengths of the diagonals of a rhombus are 30 cm. and 20 cm.
. "* Calculate its area.

; (@) In the coordinate plane , draw the figure ABCD where A(3 ,1) B (3 » 5)
) »C(7:5)and D (7 » 1) » what is the name of the figure ABCD ?
&z (b) Solve the following equations :

(1)3x-5=16 ,XEN (2) x+2=2,XEN

B Use the following table of data to draw the frequency polygon :
. Sets | 10- 20 - 30 = 40 - 50 ==
. Frequency | 6 ]

; Educational Zone
15 I1- [\dl"’b Ol I“ﬂa%ﬁﬂﬂl Maths Supervision

Answer the following questions :
Choose the correct answer :

@ (3 +9) N. (€ or € or C or &) S
@®@If: x—2=5,then x = e (5 or 2 or 10 or 7) f*‘;n
() The area of a square whose diagonal length 10 cm. = -+ cm? X
_ (100 or 50 or 60 or 80)
\Q (d) The multiplicative identity in N ig - (1 or 0 or 2 or 3) = '
(® The number of axes of symmetry of the rectangle = - 8
| (zero or 4 or 2 or 6) (?F-:l
® Complete the following : ' 0>
(" @) 32 + (59 + +on )= (32 + oo ) + 68 ’ hﬁ
e ®1:4,8,13 5 (In the same pattern) ¢
% @ If5x=20,thenx=
(d) The area of a triangle whose base length is 5 cm. and the corresponding
-V, height of it is 4 cm. = -+ cm?
‘g @If(xX:5)=(3sy)sthen X = Y = e

| ’ @) Use the properties of addition to find the value of : 34 + 57 + 66 + 43
. (®) Use the distributive property to find : 27 x 48 + 27 x 52

—r—
-




E) @ Solve the equation : 2 x + 3=23 , XEN

. y ( (b) In the opposite figure :
N Find the area of a parallelogram »
in which AB=8cm. ,DE =5cm. , DE L AB

. Use the foﬂnwing table of data to make a histogram :

Answer the following questions :

Complete the following :
@) Area of parallelogram of base 5 cm. and height 4 cm. is -~ - cm>

@O0+5= - @1:54,7 510 5 g (in the same pattern)
@Iify=4,then3y=--

Choose the correct answer :
@ (x +12) - (x+15) ,XEN (< or >

®) The opposite geometric

transformation is -
\Q ( reflection. or translation.

(©) Area of square of diagonal 10 cm. =
(100cm. or 100cm? or 50cm. or 50 cm?)

@ (4 x - ) x 78 =7 800 (10 or 100 or 400 or 25)

] n
E N .. ®

=

- o
_—

_'.3}- g

@
5 ,.,_; @ In the 2-dimensions coordinate plane locate the points A(2 1) »
B(5-1),C(5:4).D (2 ,4)Draw the figure ABCD and name it. ‘

% (®) Find the midpoint of AB if A (0O,4)and B (8 »4)
' @ Find the height of triangle if its area 50 cm? and its base length is 20 cm.

7
é ~£ n @) Calculate the circumference of the circle which its diameter

P length 14 cm. (_—,-[ = 2_%‘2)

.'. (®) Using the properties in N to find the result of :

N (1) 79 + 36 + 21 + 64 (2) 4 x 17 x 25

= ——
| 55 |

ok ] 5,;1@;}4,&4131“@.@ }'3 ‘_,‘.A.q.du u]ﬁ)&ii @5.4.' sals eall l-hb
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(a) Solve the equation: X+ 3 =8 , XEN
(b) Represent the following table by frequency polygon :

Answer the following questions :
Choose the correct answer :
@(B-7) N. (€ or &€ or C
If:y(35+10)=8x45,theny = - » where y €N
(45 or 35 or 10 or 8) i&

(e) The area of the rhombus whose diagonal lengths are 10 cm. and
15 cm. = o cm? (150 or 75 or 50 or 25)

(d) If 7 is subtracted from twice the number X > then the symbolic
expression for this situation is -~ : ‘ﬁ
(7—-x or 7T-2x or 2x—-7 or 3x-7) }{55;1
/2
$

Complete the following :
@) 52 + (61 + - )=(52 +48) + oo
(b) The perimeter of the square whose side lengthis kcm. = - cm.
(e) The number of axes of symmetry of the isosceles trapezium = -
(d) The area of the square = 5+ X

(a) Which is greater in area : The rhombus whose side length is 9 cm.
and height = 8 cm. or the triangle whose base length is 14 cm. and

height = 9 cm. A Gom. D
(b) In the opposite figure :

ABCD is a parallelogram in which : / '

AD=6cm. AE=3cm..CD=36cm. B E C

Find : (1) The area of the parallelogram ABCD (2) The length of AF

K} @) On the coordinate plane , draw the triangle ABC where A (4 > 1) »
B(4,6)and C (7 »4) , then draw its image by reflection in AB
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»
% (b) Use the properties of N to find the result of :
7

(1) 247 + 52 + 253 + 48 (2) 7 x 98

d g (@) Solve the following equations where X&N :
(1)2x-1=7 (2) x+8=15
(b) Tha faﬂnwmg table shows the marks of 50 pupils in a Maths test :

Answer the following questions :

Complete the following :
(@) If x is the smallest odd prim number then X — 1 = -oooeeeee

®) If (x+3)x17 =17 x 8 > then x = -
@@ The smallest prime number x any prime number = -+ number.
¢ The circumference of a circle + its diameter = -

Choose the correct answer :
(@) Twice the sum of the number X and three = -

\ (2x+3 or 2(x+3) or 5X or 3Xx+2)
(b) For any two natural numbers X and y , then (X — y) is possible only if
Wl y (> or = or =2 or <)
@) If the area of a square = 50 cm? then the length of its diagonal = - cm.
@ (25 or 5 or 10 or 15)
5 (& The number of symmetry axes of an equilateral triangle = - Z
(0 or 1 or 2 or 3) Q
oy In the opposite figure : A
: / (@) A BEF is the image of A AEF by reflection across .. e |
d ( (b) By reflection across FD the image of AFBD is A -+ v E
A\
N (e) A FBA is congruent A -
6 d) The area of A = — from the area of A
~i (d) Th fAFDB = ——of h f AABC © Z -
; b —

(A: $)Y e [ o | (Worksheets & Final Examinations) il yalsdl ‘ 57 ‘
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| |
B} @ Solve the equation : 1 x+7=11,where XEN 3
| ( (® By using properties calculate : (1) 125 x328 x8 (2)28x18—-28x8 1'1
.‘ S @) The area of parallelogram ABCD is 96 cm? D _, E
Calculate the area / §

~ of the figure EBCD g ¥
&z ) The following table represents the marks of 50 pupils on the

math exam :

E“ T’F'["”T“j’“""
ey |

_|..l. .l.'_

Answer the following questions :
Complete the following :

@ The smallest natural number is - ®If2xX=6sthen X = o R

@) If the area of a parallelogram is 36 cm? and the length of its base = 9 cm. 3‘\
then the length of its height = -------- cm. ¢ 1

@If(x+2)x15=5x15 sthen x = -w=ooeee X

‘Q - Choose the correct answer : '

@) The age of a man nuw is X then his age after 5 years = -+ @
(X or xX+5 or x-5 or 2Xx) t

@ (5-7) N (C or & or € or &)

4 @) If the base length of a triangle is 6 cm .and its corresponding height ' (0
g (" = 4 cm. then its area equal - -cm? (10 or 24 or 12 or 2)
A

() The opposite transformation represents - /

O \ Q
% (flip or turn or slide) \_j

’( @) By using properties of addition and multiplication find :
> (1) 28 + 59 + 72 + 41 (2) 8 x 137 x 125

(® Which is greater in area : A square with diagonal length 10 cm. or
.,,': a rhombus whose diagonals length 12 cm. and 10 cm.
&

n
‘
— "'
iy \
o] spu@wwamcwfau«hd'dbé“@}“uﬂ‘-‘v‘“"'“”’ 207
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(@) Solve the equations in N :
(1)2x+9=21 (2) x-3=5

A
d £ (b) In the two dimensions Cartesian coordinates drew A ABC where A (1 ; 3)
N »B (4 ,3)and C (4 ,6) , then find its image by reflection on BC
ar (@) Find the perimeter of the opposite figure : m
- - 22
o= (n B ':7') B M A

-4 om.—=

(®) The following table show the daily wages of
workers in a company :

30— | 40— | 50— | 60— Total
10 16 12 4 50

Suez Educational Zone
Directing Mathematics

Answer the following questions :
Kl Choose the correct answer :
@) If O is the set of odd number , then O -+ N

‘Q () If X is an odd number ,then X + 2 is -+
(even. or odd. or prime or otherwise.)

(@ Twice the number X subtracted 7 from it = -
(7—x or 2x-7 or Tx+2 or 14 Xx)

@ A rhombus of area 30 cm? , the length of one of its diagonals is 6 cm.
» then the other diagonal = - cm. (4 or 6 or 8 or 10)

% Complete the following :

@) The multiplicative neutral element in N is -

| p) ’( ®) The square whose area is 72 cm? » the length of its diagonal = -+ cm.
; "* @1-4,8,13, - (in the same pattern)

A (@) The set of the natural number which are more than 4 and less than
a Vv 5 |§ seererenes

= Tra |
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(@) In the opposite figure :
ABCD is a parallelogram in which AB = 10 cm. » £
DE = 12 cm. > DF = 8 cm. Find : : 7
(1) The area of the parallelogram ABCD
(2) The length of BC

(b) Using the properties of commutation , distribution and association

Find the value of each of the following :
(1) 8 x 137 x 125 = -+ (2) 28 + 59 + 72 = »-vve

/ g A\
R/ ~~ '!
0
m )
A
o &3
Cry >
N

a .
&

@B Solve the equation : 2 xX+9=21 ., XEN

(b) Complete : The diameter length of a circle whose circumference =88 cm. = d
equals -~ cm. (;l: = %)

@ In the Cartesian coordinates plane determine the points A (2 » 2) »
B(5,2),C(5,8),D(2,8)if BC is the axis of reflection of the figure ’P

ABCD then determine the image of the figure ABCD &)
(b) The following table shows the marks of 35 pupils in mathematics ; ’
exam in one of months where the full mark is 50 2{\
~ Sets 20— | 30— | 40— | Total | Vi
12 10 5 35 | -'

Education Directory @ 7
!

Port Said Expenmental Language School A >
P Answer the following questions : ' n :
(" Kl complete the following : X
" @a+b=b+ @ The smallest counting number is -
V) @) Area of triangle = -+ @3,9,27 5 .q
~
% . Choose the correct answer : Z w
"( @) 1.58 - N (€E or & or C or ) -""
> ® 3 x =15, then x = (3 or 4 or 5 or 12) AY
/n (e) The additive identity element is in N - (1 or 2 or 3 or 4)
a (ENO= e (9 or E or O or P) J‘
N pur——

b,
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(@) Find the area of
%7 the following
d ( parallelogram.
N
N (b) Solve the following equation: X +3 =18 XEN

A

@) Use the multiplicative properties to find : 22 x 102
(b) Use the additive properties to find : 47 + 75 + 53 + 25

@) On a coordinate plane draw the triangle ABC in whichA(4 ,5) »B (6 ,5)
» C (4 2) then draw its image by reﬂectlﬂn on AB

Bandar Kafr El-Dawar Educational Zone
~Maths supervision

Answer the following questions :

Kl Complete the following : ok
(@) The additive neutral element in N is -~ » While the: rnutt‘ipl:cative }\
neutral element in N ig < | $ 1
= (b) The area of parallelogram whose base Iength 8 cm. and its hmght X
3 cm. Ig e cmz o '
‘Q @1:152:3,5 5 y o (in the same pattern) I
(d) The square has - lines of symmetry. | t@"
. Choose the correct answer : | | ? {
, (@) Twice the number X subtracted 3 from it = - ' m_‘
5 (x-—3 or 2x+3 or 2x-3 or 3-2x) -'_‘-?'_‘R
®If:3x=15,XEN s then x = - (6 or 12 or L1 or ) |
% (e The area of a rhombus whose diagonals lengths are 6 cm. and 8 cm.
_ iS <o M2 (48 or 12 or 40 or 24)
4 N7 @ The product of two natural numbers - N.
J£ (€E or & or C or ¢)
A ’ @) Use the properties of operations in N to find the result of :
.".'.':'-'3 (1) 34 x 99 (2) 45 + 36 + 55 + 64
= —.,
| 61 |

] & @*}4 o ‘Uﬁh-w a—w 5’3 u«M' BT @}u R el m
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@ In the coordinate plane represent the points :
A(2,3),B(3,5)andC (5, 3) » then find the image of A ABC by

A\ Y Vl

l'/ ilj—
d (I reflection in AC
A
@ Solve the following equations in N :
S (1) X + 3 =12 @2x-9=21 _
Sz @ Calculate the perimeter of the opposite figure : < 5 g 9
Where (:rr. = %) ! Ui

@ Which is greater in area ?
A triangle whose base length is 12 cm. and its corresponding height
= 8 cm. or a square of side length 7 cm.

@ Represent these data using a histogram :

| ?
!|@ Beni Suef ' }V
) B — ﬁ
| Answer the following questions : \ I
X Complete the following : -
‘Q @ The smallest natural number is - ‘
@ 3-,9,27 5 S Mg (in the same pattern)

o

@ The number of axes of symmetry of the square = -
f @If:15—x=9 ,then x -

~ @

Choose the correct answer :
@ Double the number X subtracted 7 from it = -

oL -
S —
g e

(x—=7 or 2x-7 or 7Tx+2 or 14 x) .Q
@ The area of a rhombus whose diagonals lengths are 4 cm. and 10 cm. g w
r( = s - cm? (40 or 80 or 20 or 10) .
f A\ @ The circumference of a circle = - ﬁ:
2l (2md or @r or 4wr or 27r) “-.
Q- @ {2,3,0,4} N. (C or € or & or &) "
6. = \

lﬁz\

E

Jnny
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(@) The length of the base of a triangle is 6 cm. and its height is 4 cm.
Find the area of this triangle.

7
‘ £ (b In the orthogonal Cartesian coordinates locate the points
4 A(3,5),B (6 55),C (3 ,2)then find the length of AC

S (@ By using the properties of operations in N. Find the result of the
&2 following : 4 x 49 x 25 = -

(b) Solve the equation : 3 x + 8 =29

(@) Find the area of a parallelogram whose base length 10 cm. and
height 3 cm.

(b) Use the following table of data to make the histogram :

El-Menia Educational Zone
Mathematics Supervision

Answer the following questions :

Bl Complete the following :
@If:x+8=15,XEN sthen x =
‘Q (b) The square whose area is 72 cm? , the length of its diagonal = -
(o) The diameter length of the circle whose circumference is 88 cm.
equals - cm. _
h @)32+(5g+ .......... )=(32+53)+ ..........
€ Choose the correct answer : (4
@ The number of axes of symmetry of the rhombus = - ‘8
@Y/ (zero or 1 or 2 or 4)
% ®) (3 +9) oo N (€E or &€ or C or )
| d ’( (e) The triangle whose base length is 5 cm. » and the corresponding
=N height is 6 cm. its area = - cm? (30 or 15 or 25 or 36)
’ (d) Twice the number X subtracted 3 from it = -
.":‘-"* (x-3 or 2x+3 or 2x-3 or 3—-2Xx)
N =
| e |

el ¢ | @i}a Hle ﬂjlaLu @m ‘A’g ‘,a.d.«.di S5l @5.4.' sals Jeall M.b
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In the coordinate plane draw the triangle ABC where :

A{(1,2),.B(3, _?_l_ and C (3 , 4) then draw the image of the triangle ABC
by reflection on BC

n@) Solve the equation : 2 X+5=9 , XEN
(b) Calculate the perimeter of the opposite figure : /—\
AM=?cm.(n:=2—?2) L - |

. The following table shows the frequency distribution of the number of
wnrk huuni of 50 workers :
boes v{ 4- | 6- | 8- | 10— | Total |

| Fraquancy 12 [ 8 | 16 | 14 | 50 |

Draw the frequency pnlygun which represents these data.

Assiut Educational Directorate

Experimental Language School

Answer the following questions :
Ell Choose the correct answer :

(@) The multiplication neutral element in N is - ; ;
(0O or 1 or 2 or 3) %
®If: x—7=19 , XEN ,then X = - $ 1
(12 or 24 or 26 or 30) 5{
(©Ilf:aandbENthena xb - N (E or & or C or &) _§
(d) The parallelogram has - lines of symmetry.

(0 or 1 or 2 or 3) ©
?.

Complete the following : }
(a) The sum of two numbers is 15 one of them is X , then the other = - ' 1)

(b) The type of the opposite transformationis a - :> ::>

@©1:4,8,13 ;- & (in the same pattern)

(@) The rhombus whose area is 36 cm?. and the length of one of its
diagonals is 8 cm. » the length of the other diagonal = -~ - cm.

(@ On 2-coordinate plane draw A ABC where : A(2 ,1) »B (5 » 1) and
C (5 » 5) » then draw the image of the triangle ABC by reflection in BC

(b) Solve each of the following equaﬁnns
(1)2x+5=19 (2) =X+8=10

u—
——




Choose the correct answer :

Complete the following :

ﬂ (@) Which is greater in area ?

The triangle whose base length is 12 cm. and its corresponding height
= 8 cm. or the parallelogram in which the length of the base = 10 cm. »
and its corresponding height = 5 cm. |

(b) Using the properties of operations in N to find the result of the
following : (1) 572 x 99 (2) 113 + 419 + 87 + 181

(@) Find the perimeter B

of the opposite
figure where

MA=MB =7 cm. 5
(Jl: i %) M A :

(®) Represent the foﬂnwmg distribution by frequency polygon :
*"“‘% f.;ﬁ;;';.ff_ [ 5- | 7- | 9- [ 11— ] 13- ]

Answer the following questions :

@ The sum of two natural numbers - ‘N (€ or € or C or ¢)

(b) The area of a rhombus whose diagonals lengths are 6 cm. and 8 cm.
i e cm? (48 or 20 or 24 or 40)

@) If the longest chord in a circle is 7 cm. then the circumference of the

circle is - cm. where (:1':= E—?E (3.5 or 7 or 22 or 44)

@Ifx+7=19 ,XEN s then X = - (26 or 12 or 11 or 13)

--I
.o
"l
o,
)
|:"

(@ The least netural number is -

@) The additive netural element in N is -~ > wWhile the muiltiplicative
natural element in N ig -+

(e) Area of the triangle = %the length of its base x -
@ The number of axes of symmetry of the rhombus equals - :

.

"5 3 @tu = ﬂﬁm a—w 5’3 u«M S @}u ol Jead
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(@) Draw on the coordinates plane the triangle ABC where A(1 ,0) ,B (2 ,2)

7 and C (2 » 5) , then draw its image by reflection on BC
‘ £ (b) Use the commutative and associative properties in N to calculate :
P 872 + 199 + 128 + 801
N ' n (@) Zahraa saved 14 pounds she bought 3 notebooks for X pound for
& _ each the remainder with her was 8 pounds express there situations

by an equation.

(b) Find to the nearest hundredth the area of a parallelogram whose base
length is 34.7 cm. and height 28.17 cm.

(@) The diagonal length of a square 6 cm. Find its area. "

(@) In the orthogonal cartesian coordinates locate the points A (2 , 2) »
B(5,2),C(5,8),:D (2 ,8)then complete :

(1) The length of AB = - units. (2) The length of BC = - units. 20
(3) The figure ABCD is -
(4) The perimeter of the figure ABCD = -+ units.

)

(b) The following table shows the marks of 50 pupils in an exam of ai‘; 1
mathematics in one of months where the full mark is 50 marks. X

. Draw the frequency histogram and the frequency polygon which

‘Q represents these data : '

A
® Aswan Educational Directorate ' i
# g Experimental Language School Z -i
Answer the following questions : L

©)" Kl Choose the correct answer :
| @9% ---------- N (€ or & or C or &)

p ’( @) 10 x 0 = - (100 or 10 or 0 or notpossible)

; @If:2x=6,then:x= - (2 or 3 or 4 or 6)

o (@) The circumference of the circle whose radius is 14 cm. equals - cm.

8 (o= 22) (14 or 22 or 44 or 88)

s | —
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#%ﬂf,

Compilete the following : o
@If: A(0,4)and B (4 ,4) , then the coordinates of the midpoint of AB

Q e 71

7
e
P @®) The multiplicative identity element in N is -
. @(9){4)3{3: .......... x(3x4)
N ' (@ The area of the triangle = % X renvaseens 3 wreveneas
&=

@) Use the properties of addition to find the following : 82 + 75 + 18

@) The lengths of the diagonals of a rhombus are 14 cm. and 10 cm.
Calculate its area.

@) On a coordinate plane Draw the figure ABCD where A(1,1),B(4,1)»
C(4,3),D(1,3)what is the name of the figure ABCD ?

@) Find the height of the parallelogram with an area of 48 cm? and its
base is 8 cm.

Bl @ Solve the equation: 2x+3=9
@) Use the foﬂuwlng tabfa of data to draw a histogram :

At

South Sinai Educational Directorate

. S Sinai _ Tef! Tur Sinai Educational Administration
‘Q Answer the following questions :
Kl Choose the correct answer :
@2+9 N | (€ or &€ or C or &)
@ (b) Twice the number X subtracted 3 from it -
g (x-3 or 2x+3 or 2x-3 or 3-2X) /
- (©) The square whose diagonal length is 8 cm. it's area = - cm? R
% (64 or 32 or 16 or 8) .~
(@ The perimeter of a square whose side length L = - &
: (2L or 4L or 3L or 5L)

7
_‘ ~£ Complete the following :
’ (@) The area of parallelogram = -
' @ If: x+3=12 ,then x = -eev

I 1y

7

ok ] 5,;1@;}4,&4131“@.@ :'5 ‘_,‘.A.q.du u]ﬁ)&ii @5.4.' sals Jeall h.hb
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(& The next number in the pattern 5 , 35 , 65 5 -

,( @ 99 added to the neutral element of multiplication = -+
.‘ '“" @) Calculate the area of triangle whose base length 10 cm. and the
N corresponding height of it is 9 cm.
N @) Put "< ,=or>":
&z (1) x+18dx+ 17 (2) 2239 12229

@ Put (v') for the correct statement and (x) for the wrong one :

(1) (5-8)EN | ( )
(2) The additive neutral element in N is one. ( )
(3) The value of X in the equation 3 X=24is 8 ( )

@) Find the circumference of a circle with diameter length 14 cm.

(== %)

The following table shows the marks of 40 pupils in mathematics exam.

20— [ 30— [ 40— [ 50 — [ Total |

Draw frequency histogram and the frequency polygon which represent

\Q these data

] Answer the following questions :

s Choose the correct answer :

= | @25 - N (€E or & or C or &)
% @ The additive identity element in N is -+ (0 or 1 or 2)
| (@ The circumference of a circle = - (mTr or 2mr or 371r)
| ,( @ If2x=18 sthen x = - (6 or 8 or 9)
_‘x @ (12x2)+ 2= (6 or 12 or 24)
’ Complete the following :

e @Ify—7=5,theny= -
&

—r—
-
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Fa—,

D

@D Graph the following figure : A(1,2).B(5,2) ,C (3 » 7) and draw

s
&

8}

(@) Find the area of triangle with base 8 cm. and height 5 cm. 7

Complete the following :

Choose the correct answer :

(@ The circumference of a circle with diameter 7 cm. = - cm.

©1,3,6,10,15, ~ (in the same sequence)
(d) (20 x 50) x 30 = weeeeeee x (50 x 30)
(e) Arhombus of diagonals length 12 cm. , and 10 cm. , its area = - cm-

its line of symmetry.
(b) Complete : If2 xX+3 =15 .then X = -

(b) Use the properties of multfpﬂcaﬁnn tofind:4 x 16 x 25

. Represent the fnﬂnwfng data by histogram :

Answer the following questions :

@2x(13x5)=2x (5 x =)

(b) The perimeter of a square whose side length is X = -
(c) Area of the triangle = the length of its base X -+

(d) Dividing any natural number by - - is not possible.

(@) Add 6 to the number X , the symbolic expression is - 3
(6—X or 6X or X—6 or x+6)

Q

) (8 —10) - N (€ or &€ or C or )
(c) The area of a rhombus whose diagonals lengths are 6 cm. and 8 cm.
i -eoeeeens cm? | (48 or 12 or 24 or 40)

(d) The next number in the pattern 5 35 ,65 is -
(70 or 75 or 95 or 105)

I L

!

id
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(@) Use the distributive property to get the product of the following :

e
o \
L2 _,.' e

| ;
~

3 /' 18 x 99

d «.( (b) Translate this verbal statement into an equation :

¢ ’ A number if added to 17 the sum is 28

N

S @) Find the circumference of a circle with diameter length 14 cm.
&

(== %)

(b) Solve the equation : Xx—5=8

The following table shows the marks of 50 pupils in an exam of
mathematics in one of months where the full mark is 50 marks.

20— | 30— | 40— | Total |
12 18 10 | 50 |

Draw the frequency polygon which represents these data.

5("
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Answe,r:. ﬂf madels of school book | "

| Model 2

‘*" "( ! Model _n _é n(a.) its diagonal sitself (b)E

’\ B@c (b) 2 © 24 @) 100 > 2300 @@ {1-2,3,4}
'L =~ (a) (1) 20 (2) associative @ (1) 15 (2) C (3) 22
N\ (b) The area of the square -

N = 1 x 10 x 10 = 50 cm? (®) ) X R

& B The area of triangle = % x 8 x 15 = 60 cm*? )

The area of triangle is greater. 2 cm.
i B c B
Theequatlﬂnas:2x+1ﬂ=24 e M
2Xx+10=24 2X=24-10
2 1 2
Poacadd x=14 + 2 ac="7 @3[1}THEEI’EE—§E1DEE—4DGm.

e (2) AADC "
| (b) The equationis : 20-3 x=5
20 =3 X=5 20-56=3 X
3xX=15 X=15+3 XxX=5

- 1B®

The area of AACA = %— x6 x4

= 12 units area
(b) The area of the parallelogram

=12 x 5 = 60 cm?
The height =60 + 6 = 10 cm. =

@ (1) < (2) < |
(b) The area of A OBC = -é- x5 x5

= 12% square units.

Theareanfﬂ.ﬂAD=%x3x3

= 4% square units.
The area of figure ABCD
3, 1 ;= :
= 12-§ - 45 = B square units.

4 / (b) 872 + 199 + 128 + 801
\(\ = 872 + 128 + 199 + 801
L’ = (872 + 128) + (199 + 801)
7 = 1000 + 1000 = 2000
ah'; e
&

-

|203~

ey @t}a sle A.Tgu.u @.m :'3 U.uh.Jl 1513 pgad (ol Joal m
ETHETERE | o puri it |
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nswers of final examinations —

(@) (1) The perimeter
= (35 KE_?E)+?D+?D+?D= 320 cm.

(2) The area of the square =70 x 70
= 4900 cm?
The area of the semicircle
= 6825 — 4900 = 1925 cm?

B
o ﬂiﬁﬂﬂfﬁﬂiﬁthm

[EETII L I AR B At e S uu_aa-_-. ......

FEERY

..:|:| E!Elﬂ:_l EI:I::I'.E

@Hﬂmﬁu H-Elhgﬂﬂgﬂﬁuﬁ:ﬂ'ﬂl: ::1
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ELLEE I15d CRTEETEF EESER T § EETARAY
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e
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L TR PR
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@) 25 x 9892 x 4 = 25 x 4 x 9892
= 100 x 9892
= 989200

u The distance around the figur
= (14 x 2) + 28 + 28 = 100 cm.

Vellaybail

Football

| Model a
1 [ @ 5 @ 100
2 [E % @ 2.5 @10 @20

@ The distance around the figure
=(?x Z)+14=36cm.

@) 653 + 548 + 347 = 653 + 347 + 548
= (653 + 347) + 548
= 1000 + 548 = 1548

Benxn (28 B@&x={3:4:5:6,7}
< @) The area of the rhombus = & x 6 x 8 ~ 0 1 2z 3 4 5 6 7 8
& = 24 cm? @ The area of triangle = 1 x 6 x 8 = 24 cm?
The area of the square = 1l.8x8 — Df D
2 = =]
‘Q b i N The Iengtr:n of -E.D 70 4.8 cm.
= The area of the square is greater. @ The equationis : 3x-1=8
) @2x+9=21 2x=21-9 3x=8+1 3X=9 X=9+3 X=3
@ 2 x=12 X=12+2 x=6 |B@ |
8 c |
W | 3 |
,. Be e |
’l.,, d . - |_ S — _l____ !
| J L | | | o |l s
=, R e ¥ R | _.: —e o
. 1Y O NI SR UL NN LN (L S S o
" ( I 2 '.*; 3 R t!a iB 2 ; 5 |
-\ — S PN SN LRSS | | e AT I —— __]
i A The area of the shape ABCD ° BEEEEENE
7 =4 x 4 = 16 square units. e '
N @ (1) blue (2) (3)3
&y o |
&

Iz"“!
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ﬁ (x + 10) pounds

@ 21-x @ 100cm?

Bec @ even
@ 20cm* @2

@2x-3

The numbersare : X+5 s X+7 s X+ 9
s X+ 11 s X+ 13

B&®

e The area of the rhombus = ~1§ x 8 x6

= 24 cm?

s the area of the parallelogram =10 x 5

= 50 cm?

The difference = 50 — 24 = 26 cm?

B@ 14-3x=8

: o 22 =
@ The perimeter = (35 x %] + 70 = 180 cm.

Be | ]

18 [

:r
I1:II:II.I:I:I I:I.I:J:I I:I. II:IIE g |
13 i | 1 i
14 q0E

@2y- 4 @) odd
B@cs 50 @ :2 @ 3lcm.
@dxd (@) 19
El @ The area of the triangle = 5x 12 x 8
—4ch‘.?

The area of the parallelogram

=10 x 5 = 50 cm?

The area of the parallelogram is greater.
@) The area of the parallelogram

=10 x 12 = 120 cm?
120

EC—-*B—'-'IECIT'I

B

L] I ? 3 -] ? ? K 8

¥

BC = 6 length unit.
» number of axes of symmetry of the figure

=2 sitsarea = % x 6 x 6 = 18 square unit.

(2) X=6

: l
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nswers of final exa minatinns] LS Gl e T T S A S e R e R P O

ool €3

Ber ®2 @4 Be2x ®2x-7 @{0:1:2)
'. @< (e) 15 () 81 (e) 48
B3 (@) 35,:36,100,135 (b)9 (©) 12 _
L ) @) 19 (e) 11 (5)4 (b) 44

(©){2-3,5,7-11,13}

e8 (a) The covered distance if the wheel turns ; .
El @ celtine @) 15 (e) 100 » 7400

one turn = 56 x == 22 =176 cm.
The number crfturns 35200 + 176 =200 | [EY (@) (1) 519 (100 — 1)
(b)X-2y=7
(©) (1) (x+7)years (2) (x— 10) years

ﬂ(ﬂ) (1) 8 % 125 x 137 = (8 x 125) x 137
= 1000 x 137 = 137000

=519 %100 -519 x 1

= 51900 — 519 = 51381
(2) 316 (1000 + 1)

(2) 28 + 72 + 59 = (28 + 72) + 59 =316 x 1000 + 316 x 1
BEB =100 + 59 = 139 = 316000 + 316 = 316316
The area of A DCE = E =% 12 % 36
=216 cm?
Bl@ma=9 |

9% 1 2z 3 4 5 8 7 @8 39
[ | G D r
o T T i A(B>1):B(9:3)>-C(5:5)andD (1 53)
’ ' 1 | The figure ABCD is a rhombus » the area of
3
; the figure ABCD =5 x 8 x 4 = 16 square unit.
B A

TT T 11 1T 117 Ba@mnx=2 (2x=4
0 1 2 3 4 5 G T B

- (b)

Rent Clothes

Food
{3] a rEGtEFIQlE {4} 18

P

S O i

o
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@ (3.2} ®»E @) 10
() 28 (e)20

B@9 ®)3y+5 (& (8-X) cm.
(d) 6 cm. (@9

EBl@mx=6 (2) x = 30
(b) The area of rectangle = the area of

square =%:~: 12x 12 =72 cm®
» the length of the rectangle = £€ = 9 cm.

8
» the perimeter of the rectangle

=(8+9)x2=34cm.

u (@) The distance covered if the bicycle turns ggﬁg} % IHIQE :
one turn = 50 x 3.14 = 157 cm. | @@I ----- H;ﬂ':li“"ql | ||.1’fi-*ié§§;j,
| r|

1ﬁiﬁ

2L

WElT
'|Ir ' B
| ul 1
&I ETTS
| I EEEFN
:Ig ' 1]
1.I B 1
L]

|

,.

the distance covered if the bicycle turns |ﬂ .}m,. H' E-,

1200 turns = 1.57 x 1200 = 1884 m. ETE]%H{H iIE
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Answers of model examinations

Model [} (g,

B®: ®{.4 ®20-x @C
B@-3 ®7
(€) translation @@ 13 5 21
@The area of triangle ABC = % x6x8
2 cm?
The length of AD = EWTT = 4.8 cm.

2
() 873 + 199 + 127 + 801

=873 + 127 + 199 + 801
(commutative property)
=(B73 + 127) + (199 + 801)
(associative property)

= 1000 + 1000 = 2000

.@zxw 5 2x=5-3 2x=2

I—E x=1
@®) The perimeter = (1 x 2 x 35 x 22) +70

=110+ 70 =180 cm.

Be

:u:::E'ﬁEJ

==' S
:1_' |.- m' rEam e

@¢ @ translaton @8 @ {2}
B@10 @ x+5 @2 @6
@) The area of the triangle = % x 10 x 7
= 35 cm®
The area of the parallelogram =8 x 4 ,

=32 cm~
The area of the triangle is greater.

@) (1) 8 x 149 x 125 = 8 x 125 x 149
= (8 x 125) x 149 = 1000 x 149
= 149000
(2) 28 +78 + 72 =28+ 72+ 78
= (28 + 72) + 78
=100+ 78 =178

@ (1) (x + 3) years (2) (X—5) years

@) The length of the diameter = 52 = 21 cm.
7
@ —=
] c | B
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| Model B}
@)D @12 @?"'?
B@o0:1 ®5 @3y+7 @25
@{1]9353?':{13{]—2}:{3?

=100 x 37 -2 x 37
= 3700 — 74 = 3626
(2) 299 x 17 = (300 — 1) x 17
=300 x17 -1 x 17
= 5100 — 17 = 5083
B (1)3x+8=29 3x=29-8 3x=21
X= 'E%é;' N = ‘?l
] wq 1wl
(2) 7 x-3=1 = x=1+3
X=4xT7T x=28

(d) even

xX=4

1
=

.; 1
(@) The area of the rhombus = 5 x 12 x 16
= 96 cm?
The side length = 96 + 9.6 = 10 cm.

®) (1) EF (2)DF

1) The circumference of the wheel = 50 x 3.14
= 157 cm.
= 1.57 m.

The distance = 1.57 x 1000 = 1570 m.

® Fooen

Eﬂ H
20 F=

- e
5 ::

it R b B
shak

grrBpred|omdp-
4 had baa bl bani
Paiegae -
prandin

(g}} anodd (B)4 x

IIIlIlI

vioiol 8 (g

®3 @325

ﬁﬂj{'l 223354 ,5}

(b) rotation

15 @ 5-x

Be

B = a

|
A
I |
}i:—#ﬁ??a
L.l |

The sumofareas =2 x % x3 x4
= 12 area unit.

®) (1) 123 + 254 + 377 + 246

=123 + 377 + 254 + 246
= (123 + 377) + (254 + 246)
=500 + 500 = 1000
(2) 25 x 125 x4 =25 x4 x 125
=(25x4)x 125
=100 x 125 = 12500

@Thmzmam—ﬂ.:-r;5='E|‘+I:h::.~m2

The height = _g =10 cm.

@(1}—x+ﬂ"1n 1l x=10-8

3

1 x=
BJCE

(2) 5 x-3=4
I—TKE

Bae cma

=

@Theparimatem(% xix%x?)+?’+?

=11+14=25cm.
| C——

(YY: » |1 I.::fu,'ll.'l:ﬂ ﬂ'ﬂn;rw:__,.t-] el olall
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_Model B_

B@z2x-7 @2 ©2 (d)22
Bl@c ®) (5:4) (©)1

Ed@3x+5=20 3x=20-5
x=% x=5
The price of each notebook is L.E. 5§
) (1) 25 x 98 x4 =25 x 4 x 98
=(25x4) x 98
= 100 x 98 = 9800
(2) 642 + 173 + 358 + 27
=642 + 358 + 173 + 27
= (642 + 358) + (173 + 27)
= 1000 + 200 = 1200

@5L-6

3X=15

B} @) The height =48 + 8 = 6 cm.
(®) The area of AABC = 1 x 6 x 8 = 24 cm?

The area of A EBC = 2 %6 x4=12cm?

The area of the shaded part=24 — 12
= 12 cm?

B +

The area of A AQD = :;: X3x3

= 4 5 area unit.

E *xbxb

= 12.5 area unit.
The area of the shape ABCD

=12.5—4.5 = 8 area unit.

The area of A BOC =

- :
HEEE W B S ——-Y ISR BE— —— | IR AR "
ST T i B FE : 1 H

mEre e e -
..................... 15 EPr cTE T IS P e e
Y IS5 IS HISESRE 3 FER Y S B H1 1 HH i

1 FREAg R RE '] TETiEE I L7 Lt rqryee H - E 13 T

rareg=rarfarer Rl - B B R -

| =
T e T e s 3
A E TR B - ' ' rEE T T 5
e il e e b b A e o EEIn
B e e SR LERSEH o= s R

\Q

(©)2x-3 (@) {2}

(b) x+10

@) 32

(@) The length of CE = 35 — 23 = 12 cm.
The length of CD = 828 + 23 = 36 cm.
The area of A DCE = -% x 12 x 36 = 216 cm*

1 [T
B @ 19,26

(©) translation

(b) zero

(b) (1) 8 x 133 x 125 =8 x 125 x 133
= (8 x 125) x 133
= 1000 x 133 = 133000
(2)27 +69+73 =27+ 73 + 69
= (27 +73) + 69
=100 + 69 = 169

E) @) The perimeter = (6 x 3.14) + 10 + 10
=1884+ 10+ 10
= 38.84 cm.

x=1x3 xX=3

(2)2x-3=5 2x=5+3 2x=8

xX=8+2 x=4




1
HH :':" HET i P PE b ¥ 13
16 i i_ SRS
1af: uh;—i f*—lL'f i £
i 555 AT G50 IR S e e e
iR E il
12y T
10 R B i 5
i i i i
EEEE RS R = s
8 |55 S
6 [t
iz
i

B@< ®132 @od @<
B®:c ®2 @fip @15-x
El@x={3,4,5.6,7,8}

+ } % L 2 & &

0O 1 2 3 4 5 6 7 8 9

(b) The numbers are : (X + 8) » (X + 10)
s (X +12) » (X + 14) and (X + 16)

— |
@The area of the rhombus = 5 x 6 x 8

= 24 cm?

The area of the square = _:12,, KT KT

= 24.5 cm?
The area of the square is greater.

@) The length of BC = 32+ 4 =8 cm.

The area of A ABE = % x3x4=6cm°

The area of the figure AECD =32 -6

=26 cm;:'

B®

Litgrary [Rahgious

Scienmfic
Books

o
z

The number of religious books = % x 800
= 200 books.
The number of literary books = ;11- x 800
= 200 books.
The number of scientific books = -12- x 800
= 400 books.
@® (1)EF (2DF (3)BF (4)BF

B®3! ®2 @8 (@28
(@) The area of the parallelogram = 12 x 5
= 60 cm”?

The height =60 + 6 = 10 cm.
() The perimeter = (— x 70 x —) +70
=110+ 70 = 180 cm.

B@75=5x+7x10 5X+70=75
5x=75—-70 5X=5
X=5H+5H xX=1
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Answers of final examinations

(3)4 x49 x 25 =4 x 2D x 49
= (4 x 25) x 49
=100 x 49 = 4 900
(4) 156 + 871 + 344 + 129
=156 + 344 + 871 + 129
= (156 + 344) + (871 + 129)
=500+ 1000=1 500

@Thear&a of AABC = % x 6 x 8 = 24 cm*

24

E‘Kiﬂ

:.u::_-;"_m'?r?;iili?’ (B) The area of the rhombus = % x 6 x8
Féﬁﬁ N SEEESI R
= 24 cm?

The length of AD = =4.8 cm.

& ™ PP TR .!:IJIH:I 32454
B T PR i T T T eed FRET L

FLY EEE EEEE AR
-t 15 5 Eﬂ["J. ot sadibaafpaifuniinlliiiag

Hiing
9 ﬁlﬁﬂﬁﬁﬂﬁﬂﬁﬂﬂrﬁfﬁmﬁi&

[ R ‘ﬁﬁﬁﬁ‘“éﬁﬁﬁﬂﬁiﬁhﬂ The area of the parallelogram = 4 x 8

=32 cm?

The area of the parallelogram is greater.

i 1
BHEH I:r'_EEE BEEH] "‘:E"I.El:_iiﬁﬂ
Eikit ety pEERi Ehel ittt e e

NI TEE]

A HAEE ..

; T
B FRERTEERE] £

PRI

i |

| - !a:I.n:
: Elﬂ'—ﬂ:: o
HEI R
SIIIIEnnIiIi

nE:q B ] BT [I

E':Eg Smmmi i e i 2

jrrrakrEanfENIiNE I EEQd EEAY

ek B R R B

o Lk adcsnay o

titttr.tHIE Tt i
il tl‘q#i}ﬁ

e

i
HEH
i
;"Em
JEsiE

B®@0 ®3x0 @10-x @1 (A5 »2) (2) B (3 »4)
B@o ®) 5 @)C(1,2 4D (3-0)
(&) additive identity element @ 4,7 (® Froquancy

B@or-1=0 Ax=tel  Gx=0 o
X=9+3 x=3 NG 3E] 3 7T T

245
L

e o, : m.-: mH----.
@{1} 18 x 99 =18 x {TDD— 1} 30 , '1":!-“'2' HE "-L_

=18 x 100 — 18 x 1 0

= 1800 — 18 = 1782 o [LEEE

(2) 56 x 1002 = 56 x (1000 + 2) e .
=56 x 1000 + 56 x 2 0 1 20 30 40

=56 000 + 112 = 56 112

H. -iE'T “
:

I_"P'F-Fq-‘._-*-p_r—'_'_-._ -.'..--.-.r-q— "-F'I—— o

)2 BE |
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Answers of Final examinations |

Model B@: ®) 356,12 ,24 ;48 ,96
87 @2(x+y) @255
( Ba@c ®) 4 x
N @3 @rEﬂEGtiﬂn @x+13 s X+ 11 s X+9 s X+T7Tand x+5

5

I P @) The area of the parallelogram ABCD
| rll(a)11+2-3 -4 3)2Z-5

L B@{1.2:3,4} ® =10 x 12 = 120 om?

~

)

&

$ © 20 @ odd 120

The length of BC = 38 - 15 cm.

- _ 1
@)The area of one square = 5 x 9 x 9

= B e Bl@(1)3x+5=263x=26-5
_ Bhiaoit 3x=21 x=21+3 X=7
L; I The area of the left part 1 N i, e AR
s = 312.5 — (7 % 40.5) = 29 cm? (7) g X~2=10. 5 x=
: 1 5 _ 1 -
(B) The radius length = = %8 5 =10.5cm. 5 X=12 xX=12+5 X=60
< 22
T @®) The height = —>— = 4 cm.
B @ (1) 25 x4 x 9 892 = (25 x 4) x 9 892 z X3
=100x9892=989200 | B @ | - |
(2) 862 + 138 + 199 + 801 R | ¢ b
= (862 + 138) + (199 + 801) | |
= 1 000 + 1 000 = 2 000 i ﬁ__L s
4. I HH =
®@2x+3=15 2x=15-3 |
2x=12 x=12+2 | Sy | H
X=6 T[T 7| A
E@) ‘ ._1_:. —— " | ' '
) T o 1 2 5 4 5 & 71 T
—& 1] %
Y
4- (1) 5 (2) 4 (3) rectangle (4) 18
1= ®)
I|
—24
1
L)
(b) Football =
Basketball
Volleyball =
e
1 JOL
() translation Sets
1

‘213
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_ Model (B

Bl (2)odd (b)4 @20 @< 1 &) ea ®2x-7 @0 (@15

> P

¥

. -

b/ A

Be (B)10-x @7 @ {2} | B @ 81,243 @®) 35-x

(a) The circumference of the semicircle @ %6 @ translation
=%>-:?.Dx%”‘110c.m. @Thepeﬁn'ieter=(3.5x%)+?+?=25m.
The perimeter of the window @) The area =8 x 5 = 40 G
=110+70 + 70 + 70 = 320 cm.
(b) The area of the square =70 x 70 @{11 BI9x a8 =ald xR =1)
_4900{:"12 =519 %« 100 - 519 x 1
o | = 51900 — 519 = 51381
The area of the semigiee s (2) 316 x 1001 = 316 x (1000 + 1)
Ed (a)38 +47 + 62+ 53 =38 + 62 + 47 + 53 = 316000 + 316 = 316316
=(38+62)+ (47 +53)=100 + 100 = 200 ® (1) % x—1=10 % Xx=10+1
(b)x+45=75 x=75-45 x=30 %x=11 x=11+.;. x =556
H(;) ' (2)5x+1=16 5x=16-1
| - | 5x=15 x=15+56 x=3
T
¥
: Be® | -
-_5.1? ; - .E"' ; ﬁ |
: |
4 4 —_— !
. - . | ]
:= i_ 2. i ' .
1 | A B R
) =I of 1 ; ar i 5 &
_ : @ (1)A=40-(56+7+12+T7)=9
(b) L

praaEni bk E
TN e e
L EEL S e e
REE SRR REE AR

b

: .
: .
1 IF II

BEE
+ ]
| Kl IE [}
5 EL g
af J
H HEEE i
3 o ! i
"""""" Hi |8t Hds] B A i i i
2 3k on o E
= i
B 300
AdE = RREEEYTTEEE B ELE TREEE IEE
S
0 e RRera i
50 B0
1 f 1
I
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. Model

B@{o} ®y+5s @®@0 @<
B@s:2 ®s¢ @n @5

E) @) (1) 612 + 154 + 88 + 846

=612 + 88 + 154 + 846
(commutative property)

= (612 + 88) + (154 + 846)
(Associative property)
=700+ 1000=1 700

(2) 125 x 19 x B8 = 125 x8 x 19
(Commutative property)

= (125 x 8) x 19 (Associative property)
=1 000 x19=19 000

(b)2x-4=8
2x=12

2X=8+4

X=12+2 X=6

ﬂ (@) The area of the friangle ABE = 5 x4 x 4
=8 r.:rnz.
The area of the shaded part =32 -8

= 24 cm*

(b) The perimeter = (35 x 2—?2) +70+70
= 250 cm.

(1) Parallelogram

The area = 3 x 4 = 12 square units.
(2) Drawn in the figure.

—— _qulu:' ~

. _ 200 _1
(b) Clothes BD‘—DE”” 5
oo _ 1
Food = 25506 = 2

Mode! ()

Bes &1 ©®o0 @«
B@o.1 ®3y+2 @G-8 @7

(@) Dina has X pounds and her father gave
her 5 pounds » then the total what she
has is 12 pounds.

X+5=12 x=12-5 xX=7
(b)99x15=(100-1)x15=15x100-15x 1
=1500-15=1485

(@) The area of the garden = % x8x7
=28 m?
The area of the land = 5 x 10 = 50 m?
The area of the land is greater.

i s i - : ﬂ - —
(b) The diameter length =88 + <= =28 cm.

@

215
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(®) (1) 11 students.
(2)

i
3 : 2 | HhEEHH
: ==
: : i
b EITITRITIIIIIT
. 2 L brRa i aint s
3 - i | » i s il L]
e 3 I ITETIITETI LTI
} HE
3 fhe e
: ST
} E
e EhetH
s k2 E3EIEETEIEEAIT
I £ e
SIiiinis 13
-
2 . P
- % - e
I3 ITEIETET] I
Ldd g - IS ey 5
HiE i:;| B
I He
. R E TP ey oEa
® r fes
s IIIIsis
Hs 13T IR
e  E3E be
x T Shee =t
Bt . ¥ BEs ETEE
+ o R E EEE D
7 | 1R HiEEE
[E] 3 i B 4 pean
HHE =
=122 2 =
11 1
e HE B
6 |
Ttk
=
5 it et
'|t r T 1wy
ik =
T+ "=
Lt
4 =y
il
T2
;
o
£

Be-

®)5

(d) translation

B@{1-2,3.4}
@) 96

EJ @ The length of BC =6.5-2=4.5cm.
The area of the triangle ABC = —:u:45:-c32
—?Zcm

+ B - l
N\ (b) The area of the rhombus 5 X7 x9
J = 31.5 cm?
The side length of the rhombus =31.5+5

= 6.3 cm.

@43+53?+52+353=43+52+E-3?+363
= (48 + 52) + (637 + 363)
=100+1000=1100

® 5 x-1=3 1 x=34+1

3
i W=t - 1 =
3.1: 4 X 4+3 xX=12

() (1) 16 cities.

(2) Frﬂqlmnw

1 R SIiIiinibniiniiion
EE4H EASSH EAELN EA RS B ESE ERE "t 1 I
11 e e e
= oW 5 = -
iEEEETELIMEEIIEEEL:
125 Tattd AT ETES 5

@I={2 +3 4,5 aﬁ}
—-—i t *¥—F———" ? i
0 1 2 3 4 5 &6

®2x+5=17 2x=17-5
2x=12 X=12+2
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ﬂ @;) The perimeter =2 x 7 x -2?—2- = 44 cm.
(b) The area of the parallelogram = 34.75 x 28.17
= 978.9075 = 978.91 cm?

B@WwWEF @DF @)BF  (4BF
- _ 1000 _
(b) Food = 2000 % m,ﬂm Clothes
Clothes = 25339 = —1— perdte
=250 _ 1 e
Rent=2%00 ~ 8 U
250
Other spending = 3000 —ﬁ
( Model [}
Be®cs @& ®3 @o
B@0w ®314 @4 @4

(@) The corresponding height to the base

AE in the triangle ABE = 202 = 10 cm.

The area of the parallelogram ABCD
= 10 x 24 = 240 cm?
(b) The length of AB = 240 + 15 = 16 cm.
@.}3 The perimeter of the parallelogram
ABCD = (16 + 24) x 2 = 80 cm,

B} @) (1) (64 + 135 + 36 + 65) x 17
=(64 + 36+ 135 +65) x 17

®) \
Literary | Religious

Sciantific

The number of religious books
= ?T x 800 = 200 books.
The number of literary books = :11- x B0O
= 200 books.
The number of scientific books
= ;_ x 800 = 400 books.

| Model _

Bec @®) 36
@©P+4 @@ reflection
B@0 @®odd ©2:8 @6

(@) The area of the rhombus

=%x12x16=96cm2.

The side length of the rhombus

96
—EE—1D~:!11

(b)(1)25x38 x4=25x4 x 38
= (25 x 4) x 38
=100 x 38 = 3 800
(2)44 +66 +56 + 34 =44 + 56 + 66 + 34
= (44 + 56) + (66 + 34) = 100 + 100 = 200

= ((64 + 36) + (135 + 65)) x 17 B@14-3x=8
= (100 + 200) x 17 =300 x 17 =5 100 @Thapaﬁmter=(35x-2$-)+i’ﬂ=1ﬂﬂmﬂ.
(2) 84 (25 x 4 + 125 x 8) = 84 (100 + 1 000)
=84 x 1100 5 JC) A _ A A
= 92 400 = :
@®)3 x+8=29 3x=29-8 s
Ix=21 xX=21+3 xX=7 7
Be |
5 ;
4
T R 3
al. ‘*ﬁw
24 . S . SRS S0 I S
L Q 1 2 3 4 5 - 7 ‘
o 1 - l ' &
— The figure is a rectangle. ‘
| — ‘
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™

®2 (@7x-3 @25

B@ 20 ®){2:3,4:5,6}
(©)0 (d) reflection

E) @ 38+47+62+53=38+62+47+53
= (38 + 62) + (47 + 53) = 100 + 100 = 200

(b) The area of the triangle = -% x 18 %12

= ‘HJB cm

The area of the rhombus = E x 24 x 8
= 96 cm?

The area of the triangle is greater.

@The radius length = Eazé =14 cm.
EKT
3X=26-5
X=21+3 X=7

(B)3x+5=26

Ix=21
Be

B@z ®o @©2 @10

B@2x+3 4,6 @©24 @47

(@) The distance areound the figure
=(14,~,..; %)+EB+EE=1DDm.

(b)25x 781 x4 =25x4 x 781
= (25 x 4) x 781
=100 =781 =78 100

Bl@k-72=72 k=72+72 k=144
(2) 6 n =48 n=48+6 n=8
() (1) The area of the parallelogram ABCD
=12 x 10 = 120 cm?
(2) The length of BC = 120 + 8 = 15 cm.

BH® |

The length of BC = 6 units.
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() (1) Thevalue of A=40-(9+12+5+6)=8

(2) Freaeney

vefEdE g R L

@ 2y-4 (d) translation
Bl@2 @®odd (c)66 (@) 3!

E) @ (1) 8x 731 x 125 =8 x 125 x 731
= (8 x 125) x 731
= 1000 x 731 = 731 000
(2) 28 +59+72=28+72+ 59
= (28 +72) + 59
=100 + 59 = 159

— x4 x5
= 10 square units.
— x2x%x3
= 3 square units.
The area of the figure ABCD =10-3
= 7 square units.

The area of the triangle OBC =

The area of the triangle OAD =

B@72= ] xdxd
144=d xd
12x12=d xd
d=12
The length of the diagonal = 12 cm.

®) rrosc

i s e e s e a p A . -
e e e R e R s R et R h R o b mf Sk chom febiom st ot e m e g 8
it ead Fadd 08 pRpd § A TR R R T R AR R T EETRS [

12 -8 mdoua 4wk bawed bua-rs abasiSioinisis 1rna

=
s ] Bt B B BEE BB FEAEELEEE CENTETREERFETY AT ITEY TR FET
1] 533 R3] a3 ad B 4 EEa-nl | Haap s bin e ey [
CarmdEermd o s i
et At vEive frrds
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Seals

_ Model BB
n@)c (B)even (©)2 @ {2,3}

B@1' ®20-x @4
(d) the product of the lengths of its two diagonals

(@) The area of the triangle = 15 X 1.:. x 8
=48 cm’.
The area of the parallelogram =5 x 10
= 50 cm*
The area of the parallelogram is greater.
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Answers of final examinations
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Md)(1)x+3=17 x=17-3 X
(2)2x+7=23 2X=23-7

2xX=16 X=16+2 X=8

E) @ (1) 156 + 871 + 344 + 129

= 156 + 344 + 871 + 129

= (156 + 344) + (871 + 129)

= 500 + 1 000 = 1 500

(2) 27 (25 x 4 + 125 x 8)

= 27 (100 + 1 000)

= 27 x 100 + 27 x 1 000

= 2 700 + 27 000 = 29 700

22

(B) The circumference of the base = 7 x 5

=22 cm.

Be |

number of female candidates
x 220 = 165

(B Th

@

B

1 [O% @raﬂectmn @u @ s

B@° ®2z-8 @n @ 13,21

(@) The area of the parallelogram ABCD

=18 x 10 = 180 cm?
180 _

The length of DE = T 15 cm.

@) The distance = (7 x 2) + 14 =36 cm,

@{1]38+4T+82+53=38+62+4?+53
= (38 + 62) + (47 + 53)
=100 + 100 = 200

(2) 8 x 37 x 125 =8 x 125 x 37
= (8 % 125) x 37
=1 000 x 37 = 37 000

B(1)x+17=28 (2)y-9=23

;
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Answers of Final examinations

B@Gc:5 ®7
El@4x72x25=4x25x72

= (4 x 25) x 72

=100 x 72 = 7 200

Parallelogram.
B} The distance = (7 x 22) + 21 +21=64m.
ﬁ%—x—2=3 %x=ﬂ-f-2
1 x=10

3
(b) Football =

| 221
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